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B.Com. (CA) DEGREE EXAMINATION, APRIL 2024. 

First Semester 

Commerce with Computer Application 

ADVANCED ACCOUNTANCY – I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you meant by double entry system? 

 Cμmøh ~øÇÄ •øÓ GßÓõÀ GßÚ? 

2. Explain the purpose of preparing ledger accounts. 

 ÷£÷μk PnUSPøÍ u¯õ›¨£uß ÷|õUPzøu ÂÍUS. 

3. What do you meant by error of omission? 

 Âk£mh ¤øÇ GßÖ GøuU SÔ¨¤kQÕºPÒ? 

4. What do you understand by suspense account? 

 AÚõ©zx PnUS ‰»® }[PÒ GßÚ ¦›¢x 
öPõÒQÕºPÒ? 

5. Describe straight line method of depreciation. 

 ÷u´©õÚzvß ÷|º÷Põmk •øÓø¯ ÂÁ›UPÄ®. 

6. Explain diminishing balance method of depreciation. 

 ©v¨¦U SøÓ¨¦ ÷u´©õÚzvß •øÓø¯ ÂÁ›UPÄ®. 
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7. Explain the term bill of exchange. 
 ©õØÓa^mk £ØÔ ÂÍUPÄ®. 

8. What do you understand by insolvency? 
 vÁõÀ ußø©¯õÀ }[PÒ GßÚ ¦›¢x öPõÒQÕºPÒ? 

9. What is fire insurance? 
 w Põ¨¥k GßÓõÀ GßÚ? 

10. What do you meant by valued policy? 
 ©v¨¦ªUP öPõÒøP GßÖ GøuU SÔ¨¤kQÕºPÒ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Briefly explain the limitations of double entry 
system. 

  Cμmøh ~øÇÄ •øÓ°ß Áμ®¦PøÍ _¸UP©õP 
ÂÍUS. 

Or 

 (b) Enter the following transactions in the journal of 
M/s Tripathi Bros. 

2019 
Jan.  

  

6 Sold goods for cash 36,000

8 Sold goods to Hari 30,000

14 Received cash from Hari 18,000

26 Received Commission 750

27 Paid Salary to Gopal 1,200

28 Received cash from Hari 12,000

29 Withdrew cash from office for personal use 4,000

30 Wages paid 7,200

30 Bought Machinery for Cash 8,000
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  M/s v›£õv ¤μuºì CuÈÀ ¤ßÁ¸® 
£›ÁºzuøÚPøÍ EÒÎhÄ®. 

2019 
áÚ.  

 ¹. 

6 Põ_US ö£õ¸mPøÍ ÂØÓõº 36,000
8 í›US ö£õ¸mPøÍ ÂØÓõº 30,000

14 í›°hª¸¢x £nzøu¨ ö£ØÓõº 18,000
26 Pªåß ö£ØÓõº 750
27 ÷Põ£õ¾US \®£Í® öPõkzuõº 1,200
28 í›°hª¸¢x £nzøu¨ ö£ØÓõº 12,000
29 uÛ¨£mh £¯ß£õmiØPõP A¾Á»PzvÀ 

C¸¢x £nzøu Gkzuõº 
4,000

30 Fv¯® ÁÇ[P¨£mhx 7,200
30 Põ_ öPõkzx C¯¢vμ[PøÍ Áõ[QÚõº 8,000

12. (a) Rim Zim Ltd. maintains a current account with the 
State Bank of India. On 31st March, 2017, the bank 
column of its cash book showed a debit balance of  

 1,54,300. 

  However, the bank statement showed a different 
balance as on that date. The following were the 
reasons for the difference :  

 Particulars  
(i) Cheques deposited, it but not yet 

credited by the bank 
75,450

(ii) Cheques issued, but not yet 
presented for payment 

80,760

(iii) Bank charges not yet recorded in 
the cash book 

1,135

(iv) Cheques received by the bank 
directly from trade debtors 

1,35,200

(v) Insurance premium paid by the 
bank as per standing instructions, 
but not et recorded in the cash book 15,400

(vi) Dividend collected by the bank, but 
not yet recorded in the cash book 

1,000

  Find out the balance as per the bank statement as 
on 31st March, 2017. 
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  ›® â® ¼ªöhm, £õμu ì÷hm Á[Q°À |h¨¦U 

PnUøP £μõ©›UQÓx. ©õºa 31, 2017 AßÖ, Auß 

£n¨ ¦zuPzvß Á[Q ö|kÁ›ø\°À ¹. 1,54,300. 

  öh¤m C¸¨¦ C¸¢ux C¸¨¤Ý®, A¢u 
÷uv°ß£i  Á[Q AÔUøP ÷ÁÖ£mh 
C¸¨ø£UPõmi¯x. ÷ÁÖ£õkUPõÚ Põμn[PÒ 
¤ßÁ¸©õÖ :   

 ÂÁμ[PÒ  ¹. 

(i) Põ÷\õø»PÒ öh£õ]m ö\´¯¨£mhÚ, 
BÚõÀ Á[Q¯õÀ CßÝ® ÁμÄ 
øÁUP¨£hÂÀø» 

75,450

(ii) Põ÷\õø»PÒ ÁÇ[P¨£mhÚ, BÚõÀ 
£n® ö\¾zxÁuØS CßÝ® 
ÁÇ[P¨£hÂÀø» 

80,760

(iii) Á[QU Pmhn[PÒ CßÝ® 
£n¨¦zuPzvÀ £vÄö\´¯¨£hÂÀø»

1,135

(iv) ÁºzuP PhÚõÎPÎhª¸¢x ÷|μi¯õP 
Á[Q¯õÀ ö£Ó¨£mh Põ÷\õø»PÒ 1,35,200

(v) {ø»¯õÚ AÔÄÖzuÀPÎß 
£iÁ[Q¯õÀ ö\¾zu¨£mh Põ¨¥mk 
¤Ÿª¯®, BÚõÀ CßÝ® 
£n¨¦zuPzvÀ £vÄ 
ö\´¯¨£hÂÀø» 15,400

(vi) DÄzöuõøP Á[Q¯õÀ ÷\P›UP¨£mhx, 
BÚõÀ CßÝ® £n¨¦zuPzvÀ £vÄ 
ö\´¯¨£hÂÀø» 

1,000

  ©õºa 31, 2017 Cß Á[Q AÔUøP°ß£i C¸¨ø£U 
PshÔ¯Ä®. 

Or 

 (b) Write a note on rectification of accounting errors. 

  PnUQ¯À ¤øÇPøÍ \›ö\´Áx £ØÔ¯ SÔ¨ø£ 
GÊuÄ®. 
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13. (a) Noor Bakhat & Company purchased a factory 
machine of  51,000 on January 1,2015. The 
machine is expected to have a salvage value of  

 6,000 at the end of its 5 year useful life. During 
the useful life, the machine is expected to be used 
for 5,000 hours. The machine was used as under: 

Years  Hours Used

2015 1,200

2016 800

2017 1,150

2018 850

2019 1,000

  Prepare Schedule of Depreciation on the basis of 
following methods 

  • Straight Line Method 
  • Units of Output Method 
  ¡º£UPz {ÖÁÚ® öuõÈØ\õø» C¯¢vμzøu áÚÁ› 

1, 2015 AßÖ ¹. 51,000US Áõ[P¨£mhx. C¢u 
C¯¢vμzvß Põº¦ ©v¨¦ Auß 5 Á¸h £¯ÝÒÍ 
ÁõÌUøP°ß •iÂÀ ¹. 6,000 £¯ÝÒÍ 
ÁõÌUøP°À, C¯¢vμ® 5,000 ©o ÷|μ® 
£¯ß£kzu¨£k® GßÖ Gvº£õºUP¨£kQÓx. 
C¯¢vμ® ¤ßÁ¸©õÖ £¯ß£kzu¨£mhx : 

Bsk £¯ß£kzv¯ 
÷|μ® 

2015 1,200

2016 800

2017 1,150

2018 850

2019 1,000
  ¤ßÁ¸® •øÓPÎß Ai¨£øh°À 

÷u´©õÚzvØPõÚ AmhÁønø¯z u¯õ›UPÄ®  
  • ÷|º÷Põmk •øÓ 
  • öÁÎ±mk •øÓ°ß A»SPÒ  

Or 
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 (b) Briefly explain the advantages and disadvantages of 
diminishing balance method. 

  ©v¨¦U SøÓ¨¦ •øÓ°ß |ßø©PÒ ©ØÖ® 
wø©PøÍ _¸UP©õP ÂÍUPÄ®. 

14. (a) You are presented with the following information 
for the year 31st March 2011: 

  • Trade debtors at 1st April 2010 –  20,000 

  • Trade debtors at 31st March 2011 (including 
3000 of specific bad debts) –  33,000 

  • Provision for bad and doubtful debts at 1st 
April 2010 –  1,000 

  Note : A provision for bad and doubtful debts is 
maintained equivalent to 5 per cent of the trade 
debtors as at the end of the year. 

  You are required to Calculate the increase required 
in the bad and doubtful debts provision account for 
the year 31st March 2011. 

  ©õºa 31, 2011 Áøμ°»õÚ BsiØPõÚ ¤ßÁ¸® 
uPÁÀPÒ E[PÐUS ÁÇ[P¨£kQßÓÚ: 

  • ÁºzuP PhÚõÎPÒ H¨μÀ 1, 2010 – ¹. 20,000 

  • 31 ©õºa 2011CÀ ÁºzuP PhÚõÎPÒ (3000 
SÔ¨¤mh ÁμõUPhßPÒ Em£h) – ¹. 33,000 

  • H¨μÀ 1 2010 – ¹.1,000CÀ «mP C¯»õu 
©ØÖ® \¢÷uPzvØQh©õÚ PhßPÐUPõÚ 
JxURk 

  SÔ¨¦ : «mP C¯»õu ©ØÖ® \¢÷uPzvØQh©õÚ 
PhßPÐUPõÚ JxURk,  Bsiß CÖv°À EÒÍ 
ÁºzuPU PhÚõÎPÎÀ 5 \uÃuzvØS \©©õP 
£μõ©›UP¨£kQÓx. 

  }[PÒ 31 ©õºa 2011 BsiØPõÚ «mP C¯»õu 
©ØÖ® \¢÷uPzvØS›¯ PhßPÒ ÁÇ[PÀ PnUQÀ 
÷uøÁ¨£k® AvP›¨ø£U PnUQh ÷Ásk®. 

Or 
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 (b) From the following balances extracted from the 
books of M/s Luxmi & Sons, prepare a Trading 
Account for the year ended 31st March, 2012. 

Particulars Amount

Opening stock 6,500

Purchases 45,000

Sales 72,000

Purchases Returns  500

Sales Returns 1,500

Carriage 1,200

Wages 4,800

Fuel and Power 3,200

Closing stock 8,000

  M/s »ôª & \ßì ¦zuP[PÎ¼¸¢x 
¤›zöukUP¨£mh ¤ßÁ¸® {¾øÁPÎ¼¸¢x  

31 ©õºa 2012 CÀ •iÁøh²® ÁºzuPU PnUøP 
u¯õ›UPÄ®. 

SÔ¨¤mh öuõøP

öuõhUPa \μUQ¸¨¦ 6,500

öPõÒ•uÀ 45,000

ÂØ£øÚ 72,000

öPõÒ•uÀ – v¸¨£® 500

ÂØ£øÚz v¸¨£® 1,500

yUST¼ 1,200

T¼ 4,800

G›ö£õ¸Ò ©ØÖ® \Uv 3,200

CÖv \μUQ¸¨¦ 8,000
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15.  (a) On 15th June 2015, the premises and stock of a firm 
was destroyed by fire but the accounting records 
were saved from which the following particulars are 
available: 

  (i) Stock on 1.1.2014 –  73,500 

  (ii) Stock on 31.12.2014 –  81,900 

  (iii) Purchases for the year 2014 –  3,98,000 

  (iv) Sales for the year 2014 –  4,87,000 

  (v) Purchases from 1.1.2015 to 15.6.2015 –  
  1,62,000 

  (vi) Sales from 1.1.2015 to 15.6.2015 –  2,31,200 

  (vii) The stock salvaged was –  5,300.  

   Show the amount of claim. 

  áüß 15, 2015 AßÖ, J¸ {ÖÁÚzvß ÁÍõP® 
©ØÖ® £[SPÒ w°ÚõÀ AÈUP¨£mhÚ. BÚõÀ 
PnUQ¯À £vÄPÒ ÷\ªUP¨£mhÚ, AvÀ ¤ßÁ¸® 
ÂÁμ[PÒ QøhUQßÓÚ. 

  (i) 1.1.2014 AßÖ \μUQ¸¨¦ – ¹. 73,500 

  (ii) 31.12.2014 AßÖ \μUQ¸¨¦ – ¹. 81,900 

  (iii) 2014B® BsiØPõÚ öPõÒ•uÀ – ¹.3,98,000 

  (iv) 2014B® BsiØPõÚ ÂØ£øÚ – ¹. 4,87,000 

  (v) 1.1.2015 •uÀ 15.6.2015 Áøμ°»õÚ 
öPõÒ•uÀ –  ¹. 1,62,000 

  (vi) 1.1.2015 •uÀ 15.6.2015 Áøμ°»õÚ ÂØ£øÚ 
– ¹.2,31,200 

  (vii) ÷\ªUP¨£mh \μUQ¸¨¦ – ¹.5,300 
E›ø©÷Põμ¼ß AÍøÁU Põmk. 

Or 

 (b) Briefly explain about fire insurance claim 
procedure. 

  w Põ¨¥mk ÷Põ›UøP |øh•øÓ £ØÔ _¸UP©õP 
ÂÍUSP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Write an essay on accounting concepts, conventions and 
principles. 

 PnUQ¯À P¸zxUPÒ, ©μ¦PÒ ©ØÖ® öPõÒøPPÒ «x J¸ 
Pmkøμ GÊuÄ®. 

17. Rectify the following Errors: 

 (a)   5,000 Paid for furniture purchased has been 
debited to purchases account. 

 (b)  Wages paid  7,000 for installation of new 
machinery were recorded in wages account. 

 (c) Goods sold to Hari  10,000 not recorded. 

 (d)   2,500 received from Monu has been credited to 
Sonu A/c. 

 (e)  Rent paid  1,000 wrongly debited to Landlord 
Account. 

 (f) Credit Purchase from Raman  15,000 were 
wrongly recorded in sales book. 

 (g)  Credit sales to Geeta  8,800 were recorded as  
 8,000 

 ¤ßÁ¸® ¤øÇPøÍ \› ö\´¯Ä® : 

 (A)  Áõ[Q¯ ©μa \õ©õßPÐUS ö\¾zu¨£mh PnUS  
¹. 5,000 Áõ[SuÀPÐUS¨ £ØÖ øÁUP¨£mkÒÍx. 

 (B)  ¦v¯ C¯¢vμ[PÒ {ÖÁ Fv¯® ö\¾zu¨£mh 
PnUS ¹. 7,000 Fv¯U PnUQÀ £vÄ 
ö\´¯¨£mhx. 

 (C) í›US ÂØP¨£mh ö£õ¸mPÒ ¹. 10,000 £vÄ 
ö\´¯¨£hÂÀø». 

 (D)  ÷©õÝÂhª¸¢x ö£Ó¨£mh ¹. 2,500 ÷\õÝÂØS 
ÁμÄ øÁUP¨£mkÒÍx. 
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 (E)  ÁõhøP ¹. 1,000 ö\¾zu¨£mh PnUS uÁÓõP {» 
E›ø©¯õÍº PnUQÀ £ØÖ øÁUP¨£mhx. 

 (F) μõ©Ûhª¸¢x Phß öPõÒ•uÀ ¹. 15,000 ÂØ£øÚ 
¦zuPzvÀ uÁÓõP £vÄ ö\´¯¨£mkÒÍx. 

 (G)  RuõÂØS Phß ÂØ£øÚ ö\´¯¨£mhx ¹.8,800 BP 
C¸¢ux uÁÓõP ¹. 8,000 £vÄ ö\´¯¨£mkÒÍx. 

18. A small delivery truck purchased by Sheikh 
SadanMazhar on January 1, 2014 : 

 Cost       13,000 

 Expected salvage value    1,000 

 Estimated useful life (years)  5 

 Estimated useful life (miles)  100,000 

 Miles expected used are: 
Year Units of Activity 

(Miles) 

2014 15,000 

2015 30,000 

2016 20,000 

2017 25,000 

2018 10,000 

 Prepare Schedule of Depreciation on the basis of 
following methods 

 (a) Straight Line Method 

 (b) Diminishing Balance Method 

 áÚÁ› 1, 2014 AßÖ ÷åU \uß©\õº Áõ[Q¯ J¸ ]Ô¯ 
öh¼Á› iμU :  

 Âø»      ¹. 13,000 

 Gvº£õºUP¨£k® Põ¨¦ ©v¨¦  ¹. 1,000 

 ©v¨¤h¨£mh £¯ÝÒÍ ÁõÌUøP (BskPÒ) 5 

 ©v¨¤h¨£mh £¯ÝÒÍ ÁõÌUøP (ø©ÀPÒ) 100,000 
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 Gvº£õºUP¨£k® ø©ÀPÒ: 
Bsk ö\¯À£õmk A»SPÒ 

(ø©ÀPÒ) 

2014 15,000 

2015 30,000 

2016 20,000 

2017 25,000 

2018 10,000 

 ¤ßÁ¸® •øÓPÎß Ai¨£øh°À ÷u´©õÚzvØPõÚ 
AmhÁønø¯z u¯õ›UPÄ® : 

 (A) ÷|º÷Põmk •øÓ 

 (B) ©v¨¦U SøÓ¨¦ •øÓ 

19. From the following trial balance of Sharan, prepare 
trading and profit and loss account for the year ending 
31st  December 2017 and balance sheet as on that date. 
The closing stock on 31st December, 2017 was valued at  

 2,50,000. 
Debit Balance  Credit Balance  

Stock (1-1-2017) 2,00,000 Sundry creditors 12,000

Purchases 7,50,000 Purchases Return 30,000

Carriage Inwards 75,000 Sales 10,20,000

Wages 3,65,000 Commission Received 53,000

Salaries 1,20,000 Capital 33,00,000

Repairs 12,000  

Rent and Taxes 2,80,000  

Cash in hand 97,000  

Land 21,50,000  

Drawings 1,66,000  

Bank Deposits 2,00,000  

 44,15,000  44,15,000
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 åμÛß ¤ßÁ¸® ÷\õuøÚ {¾øÁ°¼¸¢x, i\®£º 31. 
2017 CÀ •iÁøh²® BsiØPõÚ ÁºzuP® ©ØÖ® »õ£ 
|èhU PnUøPz u¯õ›UPÄ® ©ØÖ® A¢u ÷uv°À 
C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®. i\®£º 31, 2017 
AßÖ CÖv¨ £[S ©v¨¦ ¹. 2,50,000. 

£ØÖ C¸¨¦  ¹. ÁμÄ C¸¨¦ ¹. 

(1-1-2017) AßÖa \μUQ¸¨¦ 2,00,000 ]À»øÓU PhÚõÍºPÒ 12,000

öPõÒ•uÀ 7,50,000 öPõÒ•uÀ – v¸¨£® 30,000

EÒyUS T¼ 75,000 ÂØ£øÚ 10,20,000

T¼ 3,65,000 ö£Ó¨mh Pªåß 53,000

\®£Í® 1,20,000 ‰»uÚ® 33,00,000

£Êx 12,000  

ÁõhøP ©ØÖ® Á› 2,80,000  

øP°¸¨¦ 97,000  

{»® 21,50,000  

Gk¨¦PÒ 1,66,000  

Á[Q øÁ¨¦ 2,00,000  

 44,15,000  44,15,000

20. Write an essay on advantages of fire insurance policy and 
claim for loss of profit under fire insurance policy.  

 w Cß`μßì £õ¼]°ß |ßø©PÒ ©ØÖ® w Põ¨¥mk 
£õ¼]°ß RÌ »õ£ CÇ¨¦UPõÚ ÷Põ›UøPø¯ GÊxP. 

  
———————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2024 

Second Semester 

Commerce with Computer Application 

ADVANCED ACCOUNTANCY – II 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is a Receipt? 

 μ^x GßÓõÀ GßÚ? 

2. Give the meaning of Life membership fees. 

 ÁõÌ|õÒ EÖ¨¤Úº Pmhnzvß ö£õ¸øÍU u¸P. 

3. What is an Account Current? 

 PnUS |h¨¦ GßÓõÀ GßÚ? 

4. Define grace period. 

 P¸øn |õÒ Áøμ¯ÖUPÄ®. 

5. What do you mean by consignment? 

 AÝ¨¤k GßÓõÀ GßÚ? 

6. What is abnormal loss? 

 A\õuõμn CÇ¨¦ GßÓõÀ GßÚ? 

Sub. Code 
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7. Define joint venture Account. 

 CønÂøÚ PnUøP Áøμ¯ÖUPÄ®. 

8. What is memorandum joint venture account? 

 {øÚÄ CønÂøÚ PnUS GßÓõÀ GßÚ? 

9. What is single entry system? 

 JØøÓ £vÄ•øÓ GßÓõÀ GßÚ? 

10. What is Net worth method? 

 {Pμ ©v¨¦ •øÓ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) How will the following appear in the final accounts 
of Trichy sports club? 

 Rs. 

Stock of sports materials on 1.1.2010 6,000

Sports materials purchased during 2010 17,500

Sale of old sports materials during 2010 200

Stock of sports materials on 31.12.2010 1,200

  v¸a] ÂøÍ¯õmkU PÇPzvß CÖvU PnUSPÎÀ 
¤ßÁ¸£øÁ GÆÁõÖ ÷uõßÖ®? 

 ¹. 

1.1.2010 AßÖ ÂøÍ¯õmk¨ ö£õ¸mPÎß C¸¨¦ 6,000

2010 CÀ Áõ[Q¯ ÂøÍ¯õmk ö£õ¸mPÒ 17,500

2010 CÀ £øÇ¯ ÂøÍ¯õmk ö£õ¸mPÒ ÂØ£øÚ 200

31.12.2010 AßÖ ÂøÍ¯õmk¨ ö£õ¸mPÎß C¸¨¦ 1,200

Or 



F–0969 

  

  3

 (b) Write short note on : 

(i) Surplus  

  (ii) Deficit 

  (i) E£› 

(ii) £ØÓõUSøÓ £ØÔ¯ ]Ö SÔ¨ø£ GÊuÄ®. 

12. (a) Kannan purchased goods from Raman, the due 
dates for payment in cash being as follows. 

Date Amount Due date 

March 15 1,000 Due 18th April

April, 21 1,500 Due 24th May 

April 27 500 Due 30th June

May 15 600 Due 18th July 

Raman agreed to draw a bill for the total amount 
due on the average due date. 

  Calculate average due date. 

  Psnß μõ©Ûh® ö£õ¸mPøÍ Áõ[QÚõº. £n©õP 
ö\¾zxÁuØPõÚ {¾øÁz ÷uvPÒ ¤ßÁ¸©õÖ : 

÷uv öuõøP {¾øÁz ÷uv 

©õºa 15 1,000 H¨μÀ 18 B® ÷uv 

H¨μÀ 21 1,500 ÷© 24 B® ÷uv 

H¨μÀ 27 500 áüß 30 B® ÷uv 

÷© 15 600 áüø» 18 B® ÷v 

  \μõ\› {¾øÁz ÷uv°À ö\¾zu ÷Ási¯ ö©õzuz 
öuõøPUPõÚ ¤À GkUP μõ©ß J¨¦UöPõshõº. 

  \μõ\› uÁønz ÷uv°øÚ PnUQkP. 

Or 
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 (b) Red-ink Interest Balaji had the following 
transactions with Ganesan. 1995. 

  Rs.

Jan. 20 Sold goods to Ganesan 400

Mar. 2 Purchased goods from Ganesan 250

Mar. 3 Accepted Ganesan’s draft at 1 month due 200

Apr. 11 Cash paid to Ganesan 400

Apr.30 Goods sold to Ganesan due end of May 100

May 11 Bought goods from Ganesan 300

June 11 Balaji drew a bill on Ganesan this day. Payable two months 
after date, and this was duly accepted by Ganesan 

300

Prepare an Account current to be rendered by Balaji 
to Ganesan as at 30th June, bringing interest into 
account at 20% p.a. 

  ]Á¨¦&ø© Ámi £õ»õâ P÷n\Ýhß ¤ßÁ¸® 
£›ÁºzuøÚPøÍ ÷©ØöPõshõº. 1995 

  ¹.

áÚÁ› 20 P÷n\ÝUS ö£õ¸mPøÍ ÂØÓõº 400

©õºa 2 P÷n\Ûh® C¸¢x ö£õ¸mPøÍ Áõ[QÚõº 250

©õºa 3 1 ©õu {¾øÁ°À P÷n\Ûß Áøμ÷Áõø»ø¯ 
HØÖUöPõshõº 

200

H¨μÀ 11 P÷n\Ûh® öμõUP® ö\¾zu¨£mhx 400

H¨μÀ 30 ÷© ©õu CÖv°À P÷n\ÝUS ö£õ¸mPÒ ÂØP¨£mhÚ 100

÷© 11 P÷n\Ûh® ö£õ¸mPøÍ Áõ[QÚõº 300

áüß 11 CßøÓUS P÷n\ß «x £õ»õâ Esi¯À Áøμ¢uõº. Cμsk 
©õu[PÐUS¨ ¤ÓS £n® ö\¾zu ÷Ásk®. Cøu P÷n\ß 
•øÓ¯õP HØÖUöPõshõº 

300

  BskUS 20% Ámiø¯U PnUQÀ öPõsk, áüß 
30 B® ÷uvUSÒ £õ»õâ P÷n\ÝUS 
ÁÇ[SÁuØPõP PnUQß |h¨¦z vmhzøuz 
u¯õ›UPÄ®. 
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13. (a) Prem consigned 200 boxes of Medicines @ Rs. 100 

per Box to Ram. He incurred toe following 

 expenses : 

 Rs. 

Insurance 1,000

Loading charges 1,600

Freight 1,400

An account sales was received from Ram which 

showed that 160 boxes were sold @ Rs. 200 per box. 

Ram incurred the following expenses: 

 Rs. 

Clearing charges 1,000

Godown rent 400

Advertisement 600

Other selling expenses 1,000

  Ascertain the value of stock on consignment and 

show also the relevant entry. 

  ¤÷μ® 200 ©¸¢x¨ ö£miPøÍ J¸ ö£miUS  

¹. 100 Ãu® μõªh® J¨£øhzuõº. AÁº ¤ßÁ¸® 

ö\»ÄPøÍa ö\´uõº. 

 ¹. 

Põ¨¥k 1,000

HØÖuÀ Pmhn® 1,600

\μUS 1,400
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  μõªhª¸¢x J¸ ÂØ£øÚ PnUS ö£Ó¨£mhx. 
AvÀ 160 ö£miPÒ J¸ ö£miUS ¹. 200. μõ® 
¤ßÁ¸® ö\»ÄPøÍa ö\´uõº. 

 ¹. 

y´ø© ö\´uÀ Pmhn® 1,000
S÷hõß ÁõhøP 400
ÂÍ®£μ® 600
©ØÓ ÂØ£øÚ ö\»ÄPÒ 1,000

  \μUSPÎÀ EÒÍ £[Qß ©v¨ø£U PshÔ¢x, 
öuõhº¦øh¯ ÷uøÁ¯õÚ SÔ¨÷£kPøÍ²® 
u¯õ›UPÄ®. 

Or 

 (b) Distinction between sale and consignment. 
  AÝ¨¥miØS® ©ØÖ® ÂØ£øÚUS® EÒÍ 

÷ÁÖ£õmøh ÂÍUSP. 

14. (a) S and P entered into a joint venture and agreed to 
divide the profit as to S 60% and P 40%. Sand P 
contributed Rs. 1,80,000 and Rs. 1,20,000 
respectively for carrying on transactions relating to 
the venture, They opened a joint bank account with 
the above contributions. They purchased three old 
state buses for Rs. 2, 40,000. S and P personally 
paid Rs. 45,000 and Rs. 30,000 respectively for 
repairs and renewals. They purchased a few tires 
and tubes costing Rs. 54,000. Two buses were sold 
for Rs. 2,70,000 and the third one was taken by P at 
cost price. Pass necessary journal entries. 

  S ©ØÖ® P J¸ Tmk •¯Ø]°À ~øÇ¢x »õ£zøu 
S 60% ©ØÖ® P 40% GÚ ¤›UP J¨¦UöPõshÚº.  
S ¹. 1,80,000 ©ØÖ® P ¹. 1,20,000 •uÀ Cmk 
Tmk Á[Q PnUShß ÁoPzøu öuõh[QÚº. 
AÁºPÒ ‰ßÖ £øÇ¯ ÷£¸¢xPøÍ ¹. 2,40,000 US 
Áõ[QÚº. S ©ØÖ® P ¹. 45,000 ©ØÖ® ¹. 30,000 
ø¯ £Êx ©ØÖ® ¦x¨¤Ø¦PÐUS AÎzuÚº. h¯º 
©ØÖ® i³¨¦PøÍ ¹. 54,000 US Áõ[QÚº. Cμsk 
÷£¸¢xPøÍ ¹. 2,70,000 US ÂØÓÚº. ‰ßÓõÁx 
÷£¸¢øu P AhUPÂø»°À GkzxU öPõshõº. 
÷uøÁ¯õÚ SÔ¨÷£kPøÍ u¸P. 

Or 
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 (b) Distinction between Joint venture and consignment. 

  AÝ¨¥miØS® ©ØÖ® CønÂøÚUS® EÒÍ 
÷ÁÖ£õmøh ÂÍUSP. 

15.  (a) Find out profit from the following data : 

 Rs. 

Capital at the beginning of the year 8,00,000

Drawings during the year 1,80,000

Capital at the end of the year 9,00,000

Capital introduced during the year 50,000

  ¤ßÁ¸® uμÄPÎ¼¸¢x C»õ£zøuU PshÔ¯Ä®. 

 ¹. 

Bsiß öuõhUPzvÀ •uÀ 8,00,000

Á¸hzvÀ Gk¨¦ 1,80,000

Bsiß CÖv°À •uÀ 9,00,000

BsiÀ AÔ•P¨£kzu¨£mh •uÀ 50,000

Or 

 (b) From the following particulars find out net credit 
purchases : 

 Rs. 

Opening balance of sundry creditors 40,000

Payment by cheques 2,35,000

Payment by bills payable 25,000

Payment in cash 5,000

Discount received 2,500

Purchase returns 5,000

Closing balance of sundry creditors 47,500
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  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x {Pμ Phß 
Áõ[SuÀPøÍU PshÔ¯Ä®. 

 ¹. 

£À÷ÁÖ PhÚõÎPÎß öuõhUP C¸¨¦ 40,000
Põ÷\õø»PÒ ‰»® £n® ö\¾zxuÀ 2,35,000
ö\¾zu ÷Ási¯ ¤ÀPÒ ‰»® £n® ö\¾zxuÀ 25,000
£n©õP ö\¾zxuÀ 5,000
uÒÐ£i Qøhzux 2,500
öPõÒ•uÀ Á¸©õÚ® 5,000
£À÷ÁÖ PhÚõÎPÎß CÖv C¸¨¦ 47,500

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Distinguish between receipts and payments income and 
expenditure account. 

 ö£ÖuÀ ö\¾zxuÀ ©ØÖ® Á¸©õÚ ö\»Ä PnUSPøÍ 
EÒÍ ÷ÁÖ£õmøh ÂÍUSP. 

17. Interest Calculation under Product Method the following 
transactions took place between Ram and Krishna from 
1-1-90 to 30-6-90. 

1990  Rs. 

Jan. 1 Sold goods to Ram 2,240

Jan. 10 Received Ram’s acceptance at 2 months 1,000

Feb. 15 Received cash from Ram 1,200

Mar. 2   Bought goods from Ram 5,500

Mar. 3   Accepted Ram’s bill at 1 month 2,000

Apr. 11 Paid cash to Ram 2,000

Apr. 30 Sold goods to Ram payable upto 31st May 2,400

May 11 Bought goods from Ram 1,500

May 31 Sold goods to Ram payable up to 10th June 2,200

June 15 Bought goods from Ram 3,000

Prepare the account current to be sent by Krishna on  
30th June 1990. The rate of interest is 5 %. 
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 u¯õ›¨¦ •øÓ°ß RÌ Ámi PnURk 1.1.90 •uÀ 30.6.90 
Áøμ μõ® ©ØÖ® Q¸ènõ Cøh÷¯ ¤ßÁ¸® 
£›ÁºzuøÚPÒ |h¢uÚ. 

1990  ¹. 

áÚÁ›  1 μõ•US ö£õ¸mPÒ ÂØP¨£mhx 2,240

áÚÁ› 10 2 ©õu[PÎÀ μõªß J¨¦uø»¨ ö£ØÓõº 1,000

¤¨μÁ› 15 μõ©Ûh® £n® ö£ØÖUöPõshõº 1,200

©õºa 2   μõ©Ûh® ö£õ¸mPøÍ Áõ[QÚõº 5,500

©õºa 3   1 ©õuzvÀ μõªß ¤Àø» HØÖUöPõshõº 2,000

H¨μÀ 11 μõ•US £n® öPõkzuõº 2,000

H¨μÀ 30 ÷© 31 B® ÷uv Áøμ μõ©¸US ÂØP¨£mh ö£õ¸mPÒ 2,400

÷© 11 μõ©Ûh® ö£õ¸mPøÍ Áõ[QÚõº 1,500

÷© 31 áüß 10 B® ÷uv Áøμ μõ©¸US ÂØP¨£k® 
ö£õ¸mPøÍ ÂØP»õ® 

2,200

áüß 15 μõ©Ûh® ö£õ¸mPøÍ Áõ[QÚõº 3,000

 1990 B® Bsk áüß B® ÷uv Q¸ènõ AÝ¨¦® 
PnUS |h¨ø£z u¯õº ö\´¯Ä®. Ámi Ãu® 5%. 

18. Balance of Bangalore consigned 190 bags of sugar to 
Raghu of Channai, invoicing goods at Rs. 180 per bag. 
Balan Rs. 1,200 as cartage and other expenses. The 
consignor drew a bill of exchange for Rs. 12,000 which 
was later discounted at Rs. 11,800. The consignee 
rendered an account sale showing the following details : 

100 bags sold at Rs. 240 each on credit 

 90 bags sold at Rs. 230 each for cash 

 Freight and Carriage Rs. 2,000 

 Transit insurance Rs. 600 

 Storage and Insurance Rs. 1,000 

 Commission at 5% 

 The consignee sent a sight draft for the amount due. You 
are required to prepare ledger accounts in the books of 
both the parties assuming that the consignee incurred a 
bad debt of Rs. 400. 
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 ö£[PÑøμ ÷\º¢u £õ»ß Gß£Áº AÝ¨¥k •øÓ°À 
190 ‰møhPÒ ¹ JßÖUS 180 Ãu® μS ö\ßøÚUS 
AÝ¨¤Úõº. £õ»ß ¹. 1,200 US Ási T¼ ©ØÖ® Cuμ 
ö\»ÄPÒ BS® AÝ¨¤Úº ¹. 12,000 US J¸ ¤À 
GÊu¨£mhx. ¤ß Ax Á[Q°À ¹. 11,800 US Ámh® 
ö\´¯¨£mhx. \μUS ö£Ö£Áº ÂØ£øÚ PnUQøÚ 
RÌPsh uPÁÀPÒ Ai¨£øh°À 

100 ‰møhPÒ ¹. u»õ ¹. 240 Phß 

 90 ‰møhPÒ ¹. öμõUP©õP JÆöÁõßÖ® ¹. 230 

 \μUS ©ØÖ® Ási ¹. 2,000 

 ÷£õUSÁμzx Põ¨¥k ¹. 600 

 ÷\ª¨¦ ©ØÖ® Põ¨¥k ¹. 1,000 

 Pªåß 5% 

 \μUSuõμº ö\¾zu ÷Ási¯ öuõøPUPõÚ £õºøÁ 
Áøμ÷Áõø» AÝ¨¤Úõº. C¸ uμ¨¤Ú›ß ¦zuP[PÎ¾® 
}[PÒ ÷uøÁ¯õÚ ÷£÷μkPøÍ²® u¯õ›UPÄ® C¸ 
uμ¨¤Ú›ß ¦zuP[PÎ¾®, \μUS ö£Ö£Áº  ÁμõU PhøÚa 
ö\´uuõPU P¸u¨£kQÓx. ¹. 400 

19. What is joint venture? State its main features. 
 CønÂøÚ GßÓõÀ GßÚ? Auß •UQ¯ A®\[PøÍU 

SÔ¨¤hÄ®. 

20. Mr. Mano keeps his books of accounts under single entry 
system. His financial position on 31.12.90 and 31.12.91 
was as follows : 

 1990 
Rs. 

1991 
Rs. 

Cash 9,860 800

Stock in trade 38,520 57,020

Plant and machinery 54,420 61,000

Bills Receivable – 16,480

Sundry debtors 24,840 43,940

Sundry creditors 72,040 80,000

Furniture 4,950 5,220

Drawings – 5,000
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During the year he introduced additional capital of  
Rs. 20,000. From the above particulars prepare a 
statement of Profit and Loss of Mr. Mano for the year 
ended 31.12.91. 

v¸. ©÷Úõ uÚx PnUS¨ ¦zuP[PøÍ JØøÓ£vÄ 
•øÓ°ß RÌ øÁzv¸UQÓõº. 31.12.90 ©ØÖ® 31.12.91 
AßÖ AÁμx {v {ø» ¤ßÁ¸©õÖ : 

 1990 
¹. 

1991 
¹. 

£n® 9,860 800
\μUQ¸¨¦ 38,520 57,020
Bø» ©ØÖ® C¯¢vμ[PÒ 54,420 61,000
¤ÀPÒ ö£ÓzuUPøÁ – 16,480
£À÷ÁÖ PhßPõμºPÒ 24,840 43,940
Phß öPõkzuÁºPÒ 72,040 80,000
©μa\õ©õßPÒ 4,950 5,220
Gk¨¦ – 5,000

 A¢u BsiÀ AÁº ¹. 20,000 TkuÀ ‰»uÚzøu 
AÔ•P¨£kzvÚõº. ÷©ØPsh ÂÁμ[PÎ¼¸¢x 31.12.91 
•iÁøh¢u BsiØPõÚ v¸. ©÷ÚõÂß C»õ£® ©ØÖ® 
|èh AÔUøPø¯z u¯õ›UPÄ®. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer ALL questions. 

1. What is Internet? 

 ¤øn¯® GßÓõÀ GßÚ? 

2. Define LAN. 

 ÷»ß Gß£øu Áøμ¯ÖUP.  

3. What do understand about network software? 

 Cøn¯ ö©ßö£õ¸Ò £ØÔ }Âº AÔÁÚ ¯õøÁ? 

4. State the meaning of the data frame. 

 uμÄ \mhzvß ö£õ¸Ò TÖP.  

5. Give the meaning of Virtual Circuit. 

 ö©´{Pº _ØÖ Gß£uß ö£õ¸Ò u¸P.  

6. Write a short note on Switching. 

 ©õÖuÀ Gß£øu £ØÔ ]Ö SÔ¨¦ ÁøμP.  
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7. Expend TCP. 
 i.].¤ Gß£øu Â›ÁõUSP.  

8. Give any two features of HTTP. 
 Ga.i.i.¤&°À H÷uÝ® Cμsk C¯À¦PøÍ TÖP.  

9. What is meant by Encryption Model? 
 SÔ¯õUP ©õv› Gß£uß ö£õ¸Ò ¯õx? 

10. What is Remote login? 
 öuõø» EÒ ~øÇÄ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) Draw the various types of topology. 
  öÁÆ÷ÁÖ ÁøP¯õÚ Pmhø©¨¤¯ø» ÁøμP.   

Or 

 (b) Explain the transmission modes. 
  uPÁÀ £›©õØÓ •øÓPøÍ £ØÔ ÂÁ›.  

12. (a) List the various advantages of the data link layer. 

öÁÆ÷ÁÖ uμÄ Cøn¨¦ AkUSPøÍ 
Á›ø\¨£kzxP.  

Or 

 (b) Write a short note on (a) ALOHA (b) CSMA. 

  ]Ö SÔ¨¦ ÁøμP (A) ALOHA (B) CSMA. 

13. (a) Distinguish between circuit switching and packet 
switching. 

  _ØÖ ©õÖuÀ ©ØÖ® £õUöPm ©õÖuÀPÐUS 
Cøh÷¯¯õÚ ÷ÁÖ£õkPøÍ TÖP.  

Or 
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 (b) Discuss the various types of Switching techniques. 

  öÁÆ÷ÁÖ ÁøP¯õÚ ©õÖuÀ öuõÈÀ~m£zøu 
ÂÁõv 

14. (a) Explain the functions of the Internet. 

  Cøn¯uÍ® ö\¯À£õkPøÍ £ØÔ ÂÍUSP. 

Or 

 (b) How does an E-Mail Work? 

  ªßÚg\À GÆÁõÖ ö\¯À£kQÓx? 

15. (a) Enumerate traditional cryptography. 

  £õμ®£›¯ SÔ¯õUPÂ¯ø» ÂÁ›.  

Or 

 (b) Explain the Asymmetric Key Cryptography. 

  \©a^μØÓ Âø\ SÔ¯õUPÂ¯À £ØÔ ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the Physical layer Model. 

 EhÀ AkUS ©õv› ÂÍUSP. 

17. Discuss the merits of the Multiple access protocol. 

 £» AqPÀ ö|Ô•øÓ°À |ßø©PøÍ ÂÍUSP.  

18. Distinguish between virtual circuit and datagram subnet 

 ö©´{Pº _ØÖ ©ØÖ® ÷hmhõQμõ® \¨ö|m&US 
÷ÁÖ£õkPøÍ TÖP.  
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19. Discuss the function of connection-oriented and 
connectionless services. 

 Cøn¨¦ \õº¢u ©ØÖ® Cøn¨¦ \õμ ö\¯À£õkPøÍ 
£ØÔ ÂÁ›.  

20. Explain the feature of Network Security. 

 ¤øn¯ £õxPõ¨¦ C¯À¦PøÍ ÂÁ›.  

——————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is a predefined group Tally? 

 •ß Áøμ¯ÖUP¨£mh SÊ ÷h¼ GßÓõÀ GßÚ? 

2. What do you mean by ledger Creation? 

 ÷£÷μk E¸ÁõUP® GßÓõÀ GßÚ? 

3. What is revenue nature? 

 Á¸Áõ´ C¯À¦ GßÓõÀ GßÚ? 

4. What is inventory information in gateway of Tally? 

 ÷Pm÷Á BL¨ ÷h¼°À EÒÍ \μUS uPÁÀ GßÓõÀ 
GßÚ? 

5. Give the meaning of purchase voucher. 

 öPõÒ•uÀ \õßÓõÁn® ö£õ¸øÍz u¸P. 

6. What do you mean by Invoice entry? 

 Âø»¨£mi¯À |hÁiUøP GßÓõÀ GßÚ? 
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7. What is trial balance? 

 C¸¨£õ´Ä GßÓõÀ GßÚ? 

8. Give the meaning of cash flow statement. 

 £n¨£õ´Ä AÔUøP°ß ö£õ¸øÍz u¸P. 

9. Expand HTML, URL. 

 Â›ÁõUP® ö\´¯Ä® HTML, URL. 

10. Give the meaning of E - mail. 

 ªßÚg\À Gß£uß ö£õ¸øÍz u¸P. 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) What are the pre - defined ledgers available in 
Tally? 

  ÷h¼ CÀ EÒÍ •ß Áøμ¯ÖUP¨£mh ÷£÷μkPÒ 
GßöÚßÚ? 

Or 

 (b) What are the role of computer in accounting? 

  PnUQ¯¼À PoÛPÎß £[S GßÚ? 

12. (a) Explain the various types of budges, 

  £À÷ÁÖ ÁøP¯õÚ ÁμÄ ö\»Äz vmh[PøÍ 
ÂÍUSP. 

Or 

 (b) Explain how to prepare profit and loss statement in 
Tally. 

  ÷h¼ CÀ C»õ£® ©ØÖ® |èh AÔUøPø¯ GÆÁõÖ 
u¯õ›¨£x Gß£øu ÂÍUPÄ®. 
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13. (a) How to create multiple stock group creation in 
Tally? 

  ÷h¼ CÀ £ß©h[PõÚ \μUQ¸¨ø£ SÊ 
E¸ÁõUPzøu GÆÁõÖ E¸ÁõUSÁx? 

Or 

 (b) How to create purchase order voucher? 

  öPõÒ•uÀ Bºhº \õßÓõÁÚzøu GÆÁõÖ 
E¸ÁõUSÁx? 

14. (a) How to prepare multiple Accounting printing using 
in Tally. 

  ÷h¼°À £ß©h[PõÚ PnUQ¯À Aa]hø» 
GÆÁõÖ u¯õ›¨£x. 

Or 

 (b) Write short note on receipt vouchers with examples. 

  Euõμn[PÐhß μ^x \õßÓõÁÚzøu ]Ö SÔ¨ø£ 
u¸P? 

15.  (a) How to create a group of company? 

  {ÖÁÚ[PÎß SÊøÁ GÆÁõÖ E¸ÁõUSÁx? 

Or 

 (b) Write short note on web pages. 

  Cøn¯ £UP[PøÍ ]Ö SÔ¨¦PøÍ u¸P. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What are the various accounting groups in Tally? 

 PnUQÀ EÒÍ £À÷ÁÖ PnUQ¯À SÊUPøÍ u¸P? 

17. How to prepare balance sheet in Tally? 

 ÷h¼ CÀ C¸¨¦ {ø»U SÔ¨ø£ GÆÁõÖ u¯õ›¨£x? 
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18. Explain the commonly used voucher type in Tally. 

 ÷h¼°À ö£õxÁõP¨ £¯ß£kzu¨£k® \õßÓõÁÚzvß 
ÁøPø¯ ÂÍUSP. 

19. What are the types of printing configuration options 
using in Tally? 

 ÷h¼°À GßÚ ÁøP¯õÚ Aa]hø» EÒÍø©Ä GÆÁõÖ 
£¯ß£kzu¨£kQßÓÚ? 

20. Write a note on backup and restore of date. 

 uμøÁ GÆÁõÖ Põ¨£x ©ØÖ® «möhk¨£x Gß£øu 
£ØÔ¯ SÔ¨¦ u¸P. 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. How to declare variables? 

 ©õÔPøÍ GÆÁõÖ AÔÂ¨£x? 

2. Write the difference between i++ and i –. 

 i++ ©ØÖ® i – US® Cøh÷¯ EÒÍ ÷ÁÖ£õmiøÚ 
GÊuÄ®. 

3. What is the use of #include directive in C? 

 ]°À EÒÍ #include EzuμÂß £¯ß£õk GßÚ? 

4. Write the syntax of For Loop Statement. 

 ¿¨ AÔUøP°ß ÁøPPøÍ £mi¯¼kP. 

5. Define Array. 

 Á›ø\ Áøμ¯Ö. 

6. What is String? 

 \μ® GßÓõÀ GßÚ? 
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7. How to declare a Pointer? 

 _miPøÍ AÔÂ¨£x G¨£i? 

8. Write the string Function to compare two string. 

 Cμsk \μ[PøÍ J¨¤kÁuØPõÚ \μzvØS›¯ 
ö\¯À£õmiøÚ GÊxP. 

9. Give the syntax of get () with example. 

 Get () ö\¯À£õmiß ö£õx ÁiÁzvøÚ u¸P. 

10. Differentiate Printf() and Puts () Functions. 

 ¤›sm() ©ØÖ® ¦m () ö\¯À£õmiØPõÚ ÷ÁÖ£õk GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) Describe Structure of C program with example. 

  Pmhø©¨¦ £ØÔ GkzxUPõmkhß ÂÍUPÄ®. 

Or 

 (b) Write a C Program to display Multiplication Table. 

  ö£¸UPÀ AmhÁønUPõÚ {μø» GÊxP. 

12. (a) Explain the concept of Increment and Decrement 
Operator. 

  Increment ©ØÖ® Decrement B£÷μmhº £ØÔ¯ 
P¸zvøÚ ÂÍUSP. 

Or 

 (b) Write a C program to find the given is Armstrong or 
Not. 

  B©ìmμõ[ Gsøn Psk¤i¨£uØPõÚ ] {μø» 
GÊuÄ®. 
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13. (a) What is Function? How function is declared with 
example. 

  ö\¯À£õk GßÓõÀ GßÚ? ö\¯À£õmiøÚ GÆÁõÖ 
AÔÂ¨£x Gß£øu GkzxUPõmkhß ÂÍUSP. 

Or 

 (b) Write a C program to reverse the string. 

  \μzvøÚ uø»RÇõP GÊxÁuØPõÚ ] {μø» 
GÊuÄ®. 

14. (a) Discuss the concept of Structure with example. 

  Pmhø©¨¤ß P¸zvøÚ GkzxUPõmkhß 
ÂÁõvUPÄ®. 

Or 

 (b) Write the short note on following: 

  (i) Strcat () 

  (ii) Strlen () 

  (iii) Strcmp (). 

  ¤ßÁ¸ÁÚÁØøÓ £ØÔ ]Ö SÔ¨¦ GÊuÄ®. 

  (i) \μ® Cøn¨¦ 

  (ii) \μzvß }Í® PõquÀ 

  (iii) \μ® J¨¥k. 

15.  (a) What is the purpose of Gets () and getchar () 
functions. Give example. 

  Gets () ©ØÖ® Getchar ()  ö\¯À£õkPÎÀ 
•UQ¯zxÁzøu GkzxPõmkß ÂÍUSP. 

Or 

 (b) Explain Register and External variables. 

  £vÄ ©õÔ ©ØÖ® öÁÎ¨¦Ó ©õÔPøÍ £ØÔ 
ÂÍUSP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain various Operators in C. 

 ]&°À EÒÍ £À÷ÁÖ ÁøP¯õÚ B£÷μmhºPøÍ ÂÍUSP. 

17. Differentiate between While and Do-While Statement. 

 While ©ØÖ® Do-While BQ¯ AÔUøPPøÍ ÷ÁÖ£kzxP. 

18. Discuss about User Defined Function with example. 

 £¯Úº Áøμ¯Özu ö\¯À£õkPøÍ GkzxUPõmkPÐhß 
ÂÁõvUPÄ®. 

19. To write a C program to calculate Electric Bill 
Calculation. 

 ªß\õμ Pmhn AÔUøPø¯ PnUQkÁuØPõÚ ] {μø» 
GÊuÄ®. 

20. Explain C Pre-processor with example. 

 ]&°À EÒÍ \¤›¦μõ\ºPøÍ GkzxUPõmkPÐhß 
ÂÍUSP. 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are the unpublished sources for collecting 
secondary data? 

 Cμshõ® {ø» uμÄPøÍ ÷\P›¨£uØS öÁÎ°h¨£hõu 
Buõμ[PÒ £[S GßÚ? 

2. What is chronological classification? 

 Põ»®\õº ÁøP¨£kzxuÀ GßÓõÀ GßÚ? 

3. Calculate mode for the following data : 

 10, 27, 24, 12, 27, 27, 20, 18, 15, 30 

 ¤ßÁ¸ÁÚÁØÔß •Pk Põs. 

 10, 27, 24, 12, 27, 27, 20, 18, 15, 30 

4. What are the uses of harmonic mean? 

 Cø\a \μõ\›°ß £¯ßPÒ GßÚ? 

5. What is positive correlation? 

 ÷|º JmkÓÄ GßÓõÀ GßÚ? 
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6. Find xyb  and yxb  if 11=xσ , 8=yσ  and 66.0=r . 

 11=xσ , 8=yσ  ©ØÖ® 66.0=r  GÛÀ xyb , yxb –IU PõsP. 

7. Define consumer price index numbers. 
 ~Pº÷Áõº Âø»SÔ±mk Gs – Áøμ¯Ö. 

8. Construct a price index number for the following data : 

Commodity : A B C D E 

Price in 2007 (in Rs.) : 50 40 80 110 20

Price in 2008 (in Rs.) : 70 60 90 120 20

 ¤ßÁ¸ÁÚÁØÔß Âø» SÔ±mk Gs PõsP. 

ö£õ¸mPÒ : A B C D E 

2007– À Âø» (¹£õ°À) : 50 40 80 110 20

2008– À Âø» (¹£õ°À) : 70 60 90 120 20

9. What is secular trend? 
 }sh Põ»¨ ÷£õUS GßÓõÀ GßÚ? 

10. Write down the merits of ratio to moving average method. 
 ÂQuõm\õμ |P¸® \μõ\›°ß £¯ßPøÍ GÊxP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Give a note on mailed questionnaire method. 
  ÂÚõ Âøh £mi¯À •øÓø¯¨ £ØÔ SÔ¨¦ GÊxP. 

Or 

 (b) Write a note on : 
   (i) Qualitative classification 
   (ii) Quantitative classification. 
  ]Ö SÔ¨¦ ÁøμP : 

  (i) £s¦\õº ÁøP¨£kzxuÀ 
   (ii) AÍÂß ‰»® ÁøP¨£kzxuÀ. 
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12. (a) A contractor employs 3 types of workers – 20 Male 
workers, 15 Female workers, and 5 child workers. 
To a male he pays Rs. 200 per day, to a female 
worker Rs. 150 per day and to a child worker Rs. 85 
per day. What is the average wage per day paid by 
the contractor? 

  J¸ J¨£¢uuõμº 20 BsPÒ, 15 ö£sPÒ 5 
SÇ¢øuPÒ GÚ 3 ÁøP°À £o A©ºzv°¸UQÓõº. 
vÚ•® BsPÐUS ¹. 200 ¹£õ²® ö£sPÐUS 
150 ¹£õ²® SÇ¢øuPÐUS 85 ¹£õ²® Fv¯® 
u¸QÓõº. A¢u  J¨£¢uõμ›ß J¸ |õÎß \μõ\› 
Fv¯® GßÚ? 

Or 

 (b) Find the standard deviation for the following : 
   240, 260, 290, 245, 255, 288, 272, 263, 277, 251 

  ¤ßÁ¸ÁÚÁØÔß vmh Â»UP® PõsP. 

   240, 260, 290, 245, 255, 288, 272, 263, 277, 251 

13. (a) Explain the types of correlation shortly.  

  JmkÓÂß ÁøPPøÍ ÂÍUSP. 

Or 

 (b) Find the regression equation of X on Y for the 
following. 

 X Y 

Mean 65 67 

Standard deviation 2.5 3.5

Coefficient of correlation 0.8  

  X ß «x Y  ß Ehß öuõhº¦ \©ß£õk PõsP. 

 X Y 

\μõ\› 65 67 

vmh Â»UP® 2.5 3.5

JmkÓÄU öPÊ  0.8  
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14. (a) Construct index number of price by (i) Laspeyre’s 
method (ii) Paasche’s method for the following : 

2006 2007 Commodity 

Price Quantity Price Quantity

A 2 8 4 6 

B 5 10 6 5 

C 4 14 5 10 

D 2 19 2 13 

  RÌUPsh uμÄPÐUS (i)»õì¤¯º •øÓ (ii) £õ]°ß 
•øÓ ‰»® {øÓ°mh ö©õzu SÔ±mk GsPøÍU 
PõsP. 

2006 2007 ö£õ¸mPÒ  

Âø» AÍÄ  Âø» AÍÄ  

A 2 8 4 6 

B 5 10 6 5 

C 4 14 5 10 

D 2 19 2 13 

Or 

 (b) Construct the cost of living index for 2007 on the 
basis of 2006 for the following by family budget 
method. 

Commodity Quantity 
(Quintals) 

Price in 2006 Price in 2007

A 6 5.75 6 

B 6 5 8 

C 1 6 9 

D 6 8 10 

E 4 2 1.5 

F 1 20 15 
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  2006–® Bsøh Ai¨£øh¯õP öPõsk 2007–® 
BsiØS Sk®£ ÁμÄ ö\»Ä vmh•øÓ°À 
~Pº÷Áõº Âø»USÔ±mk GsønU PõsP. 

ö£õ¸mPÒ  AÍÄ  
(SÂshõ¼À) 

2006–À Âø» 2007–À Âø» 

A 6 5.75 6 

B 6 5 8 

C 1 6 9 

D 6 8 10 

E 4 2 1.5 

F 1 20 15 

15.  (a) Write short notes on irregular variations. 

  JÊ[PØÓ ©õÖ£õkPøÍ¨ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) Construct 5 yearly moving average of the number of 
students studying in a college shown below : 

Year : 1998 1999 2000 2001 2002

No. of students : 332 317 357 392 402 

Year : 2003 2004 2005 2006 2007

No. of students : 405 410 427 405 438 

  öPõkUP¨£mh PÀ¿›°À £°¾® ©õnÁºPÎß 

GsoUøPø¯ 5–Á¸h _ÇØ]°À EÒÍx GÚU 
öPõsk |P¸® \μõ\› PõsP. 

Á¸h® : 1998 1999 2000 2001 2002

©õnÁº GsoUøP : 332 317 357 392 402 

Á¸h® : 2003 2004 2005 2006 2007

©õnÁº GsoUøP : 405 410 427 405 438 
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 Part C  (3 × 10 = 30) 
Answer any three questions. 

16. Represent the following expenses of Family A and Family 
B in pie diagram. 

Expenditure (in Rs.)Item of Expenditure  

Family A Family B

Food 1600 1200

Clothing 800 600

Rent  600 500

Light and Fuel 200 100

Miscellaneous  800 600

 R÷Ç SÔ¨¤h¨£mkÒÍ  Sk®£® A ©ØÖ® Sk®£® B 
°ß ö\»ÄPøÍ Ámh ÂÍUP¨£hzvß ‰»® SÔ¨¤kP. 

ö\»ÄPÒ (¹£õ°À) ö\»ÂÚ[PÒ  

Sk®£® A Sk®£® B
EnÄ 1600 1200
Eøh 800 600
ÁõhøP 600 500
ªß\õμ® ©ØÖ® G›ö£õ¸Ò  200 100
Cuμ ö\»ÄPÒ 800 600

17. From the prices of shares of X and Y below find out which 
is more stable using coefficient of variation. 

X : 35 54 52 53 56 58 52 50 51 49 

Y : 108 107 105 105 106 107 104 103 104 101

 X ©ØÖ® Y GßÓ £[SPÎß Âø»°À Gx ªS¢u 
{ø»¨¦zußø© Eøh¯x Gß£øu ©õÖ£õmk öPÊ ‰»® 
PõsP. 

X : 35 54 52 53 56 58 52 50 51 49 

Y : 108 107 105 105 106 107 104 103 104 101
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18. Find the coefficient of the correlation for the following : 

Cost : 39 65 62 90 82 75 25 98 36 78

Sales : 47 53 58 86 62 68 60 91 51 84

 RÌPshÁØÔß JmkÓÄU öPÊøÁU PõsP. 

Âø» : 39 65 62 90 82 75 25 98 36 78

ÂØ£øÚ : 47 53 58 86 62 68 60 91 51 84

19. Calculate Fisher’s ideal index and verify the data 
satisfies the factor reversal test. 

2006 2007 Commodity 

Price Expenditure Price Expenditure

A 8 80 10 120 

B 10 120 12 96 

C 5 40 5 50 

D 4 56 3 60 

E 20 100 25 150 

 ¤å›ß ÂÊª¯ SÔ±mk GsPÒ PõsP. Põμo ©õØÖ 
÷\õuøÚø¯ {ÖÄP. 

2006 2007 ö£õ¸mPÒ  

Âø» ö©õzu ö\»Ä  Âø» ö©õzu ö\»Ä 

A 8 80 10 120 

B 10 120 12 96 

C 5 40 5 50 

D 4 56 3 60 

E 20 100 25 150 
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20. Fit a straight line trend by method of least square and 
estimate the earnings of the year 2009. 

Year : 2000 2001 2002 2003 2004 2005 2006 2007

Earnings  
(in lakhs) : 

38 40 65 72 69 60 87 95 

 «a]Ö ÁºUP •øÓ°À ÷£õUSU ÷PõkPøÍ ö£õ¸zv 
2009–À Fv¯zøuU PnUQkP. 

Á¸h® : 2000 2001 2002 2003 2004 2005 2006 2007

Fv¯® (»m\zvÀ) : 38 40 65 72 69 60 87 95 

 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Partnership deed. 

 Tmhõsø© £zvμzøu Áøμ¯ÖUPÄ®. 

2. What are drawings? 

 Gk¨¦PÒ GßÓõÀ GßÚ? 

3. Who is an incoming partner? 

 EÒÁ¸® £[Suõμº ¯õº? 

4. What is revaluation account? 

 ©Ö©v¨¥mk PnUS GßÓõÀ GßÚ? 

5. What is gaining ratio? 

 Buõ¯ ÂQu® GßÓõÀ GßÚ? 

6. How do you treat goodwill when a partner retires? 

 J¸ £[Suõμº K´Ä ö£Ö®÷£õx }[PÒ G¨£i 
|Àö»snzøu |hzxQÕºPÒ? 

Sub. Code 
7BCC3C4 



F–0974 

  

  2

7. What is dissolution of a firm? 

 J¸ {ÖÁÚzvß Pø»¨¦ GßÓõÀ GßÚ? 

8. What do you understand by Piece Meal Distribution? 

 ¥ì «À iìm›¤³åß ‰»®  }[PÒ GßÚ 
¦›¢xöPõÒQÕºPÒ? 

9. How do you calculate deceased partner’s share of profit?  

 CÓ¢u TmhõÎ°ß »õ£ £[øP GÆÁõÖ PnUQkÁx? 

10. What is memorandum revaluation account?  

 ö©÷©õμõsh® ©Ö©v¨¥mk PnUS GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Distinguish between fixed capital accounts and 
fluctuating capital accounts. 

  {ø»¯õÚ ‰»uÚU PnUSPÒ ©ØÖ® HØÓ 
CÓUP©õÚ ‰»uÚU PnUSPøÍ ÷ÁÖ£kzxP. 

Or 

 (b) State the necessity of partner’s current accounts. 

  TmhõÎ°ß |h¨¦U PnUSPÎß AÁ]¯zøuU 
SÔ¨¤hÄ®. 

12. (a) X and Y are partners sharing profits in the ratio of 
3:2. They admit Z into the firm. The new profit 
sharing ratio among X, Y and Z is 2:1:1. Calculate 
sacrificing ratio. 

  X ©ØÖ® Y BQ¯øÁ 3:2 GßÓ ÂQuzvÀ »õ£zøu¨ 
£Qº¢x öPõÒÐ® £[SuõμºPÒ. AÁºPÒ Z 
Gß£Áøμ {ÖÁÚzvÀ ÷\ºUQÓõºPÒ. X, Y ©ØÖ® Z 
Cøh÷¯ ¦v¯ »õ£ £QºÄ ÂQu® 2:1:1 BS® v¯õP 
ÂQuzøuU PnUQkP. 

Or 
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 (b) ‘A’ and ‘B’ are sharing profits and losses in the ratio 

of 3:1. They agree to admit ‘C’ into partnership. ‘A’ 

surrenders 1/32 of his share and ‘B’ 3/32 of his share 

in favour of ‘C’. 

  Calculate the new profit sharing ratio. 

  ‘A’ ©ØÖ® ‘B’ BQ¯øÁ 3:1 GßÓ ÂQuzvÀ »õ£ 

|èhzøu¨ £Qº¢x öPõÒQßÓÚº. AÁºPÒ ‘C’ ø¯ 

Tmhõsø©°À ÷\ºUP J¨¦UöPõÒQÓõºPÒ. ‘A’ 

uÚx £[QÀ 1/32 £[øP²®, ‘B’ 3/32 £[øP²® 

‘C’US BuμÁõP AÎUQÓõºPÒ. ¦v¯ »õ£¨ £QºÄ 

ÂQuzøuU PnUQkP. 

13. (a) A and B are equal partners with capitals of 

Rs.20,000 each. They admit C into the firm for 1/4 

share of profits. C is to bring Rs.15,000 as his 

capital. No goodwill account at present appears in 

the books of the firm. Calculate hidden goodwill and 

give journal entry for the same. 

  A ©ØÖ® B u»õ ¹.20,000 ‰»uÚzxhß \© 

£[SuõμºPÒ. AÁºPÒ »õ£zvÀ 1/4 £[SUS 

{ÖÁÚzvÀ C I J¨¦UöPõÒQÓõºPÒ. C uÚx 

‰»uÚ©õP ¹.15,000 öPõsk Áμ EÒÍõº. 

{ÖÁÚzvß ¦zuP[PÎÀ uØ÷£õx G¢u |Àö»snU 

PnUS® CÀø». ©øÓUP¨£mh |Àö»snzøuU 

PnUQmk, AuØPõÚ •uØSÔ¨÷£mk £vøÁ 

öPõkUPÄ®. 

Or 
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 (b) C, D and E were partners of a firm sharing profits 
and losses in the ratio of 7:6:5. D wished to retire 
and they decided to revalue the assets and liabilities 
as given below: 

  (i) To bring into books an unrecorded investment 
Rs.6,000 

  (ii) To write down machinery by Rs.12,000 and 
stock by Rs.6,800. 

  Give Journal entry to the above. 

  C, D ©ØÖ® E BQ¯øÁ 7:6:5 GßÓ ÂQuzvÀ C»õ£ 
|mh[PøÍ¨ £Qº¢x öPõÒÐ® {ÖÁÚzvß 
£[PuõμºPÍõP BÁº. D K´Ä ö£Ó Â¸®¤Úõº. 
AÁºPÒ R÷Ç öPõkUP¨£mkÒÍ£i ö\õzxUPÒ 
©ØÖ® ö£õÖ¨¦PøÍ ©Ö©v¨¥k ö\´¯ •iÄ 
ö\´uÚº : 

  (i) £vÄ ö\´¯¨£hõu •u½k ¹.6,000 

  (ii) C¯¢vμ[PøÍ ¹.12,000 ©ØÖ® C¸¨¦ 
¹.6,800 GÚ GÊu ÷Ásk®. 

  ÷©÷» SÔ¨¤mhøÁUPõÚ SÔ¨÷£mk¨ £vøÁ 
u¸P. 

14. (a) What do you know about Garner Vs Murray Rule? 

  PõºÚº Vs •º÷μ Âv £ØÔ E[PÐUS GßÚ 
öu›²® ? 

Or 

 (b) The following is the balance sheet of X, Y and Z on 
31.03.2014: 

Liabilities Rs. Assets Rs.
X’s Capital 50,000 Furniture 40,000
Y’s Capital 30,000 Plant and Machinery 20,000
General Reserve 30,000 Stock 40,000
Sundry Creditors 40,000 Sundry Debtors 20,000
  Cash at Bank 12,000
  Z’s Capital 18,000
 1,50,000  1,50,000
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  Z is insolvent. But his estate pays Rs.4,000. It is 

decided to dissolve the partnerships. The assets 

were realised as follows: Sundry debtors – 

Rs.15,000; Furniture – Rs.28,000; Stock – 

Rs.32,000; Plant and Machinery – Rs.14,000. The 

dissolution expenses amounted to Rs.5,000. Prepare 

Realisation account. 

  31.03.2014 AßÖ X, Y ©ØÖ® Z Cß C¸¨¦ {ø» 

SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.

XCß ‰»uÚ® 50,000 ©μa\õ©õßPÒ 40,000

YCß ‰»uÚ® 30,000 Bø» ©ØÖ® 

ö£õx C¸¨¦ 30,000 C¯¢vμ[PÒ 20,000

£Ø£» PhÜ¢÷uõº 40,000 £[S 40,000

  £À÷ÁÖ PhßPõμºPÒ 20,000

  Á[Q°À £n® 12,000

  Zß ‰»uÚ® 18,000

 1,50,000  1,50,000

  Z vÁõ»õQ Âmhõº. BÚõÀ AÁμx Gì÷hm 

¹.4,000 ö\¾zxQÓx. Tmhoø¯ Pø»UP •iÄ 

ö\´¯¨£mhx. ö\õzxUPÒ ¤ßÁ¸©õÖ 

Enμ¨£mhÚ. £À÷ÁÖ PhÚõÎPÒ ¹.15,000; 

©μa\õ©õßPÒ ¹.28,000; £[S ¹.32,000; Bø» 

©ØÖ® C¯¢vμ® ¹.14,000. Pø»¨¦ ö\»ÄPÒ 

¹.5,000. EnºuÀ PnUøPz u¯õ›UPÄ®. 
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15. (a) What is a Realization Account? How does it differ 

from Revaluation Account? 

  EnºuÀ PnUS GßÓõÀ GßÚ? ©Ö©v¨¥mkU 

PnUQ¼¸¢x Cx GÆÁõÖ ÷ÁÖ£kQÓx? 

Or 

 (b) Write a note on “Garner vs. Murray” decision. 

  “PõºÚº öÁº\ì •º÷μ” •iÄ SÔzx J¸ SÔ¨ø£ 

GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. X and Y are partners sharing profits in the ratio of 2:1 

and as from 01-01-2005, they admit Z who is to have 

1/10th share of profits with a guaranteed minimum of 

Rs.32,000. X and Y continue to share profits as before. 

The profit of the firm in respect of the year in question is 

Rs.2,00,000. Prepare P & L Appropriation account. 

 X ©ØÖ® Y BQ¯øÁ 2:1 GßÓ ÂQuzvÀ C»õ£zøu¨ 

£Qº¢x öPõÒÐ® £[SuõμºPÍõÁº. ÷©¾® 01-01-2005, 

•uÀ SøÓ¢u£m\® ¹.32,000 EzuμÁõuzxhß »õ£zvÀ 

1/10 £[S C¸UP ÷Ásk® GßÖ Z J¨¦UöPõÒQÓõºPÒ. 

X ©ØÖ® Y •ß¦ ÷£õ»÷Á »õ£zøu¨ £Qº¢x 

öPõÒQßÓÚº. SÔ¨¤mh Bsøh¨ ö£õÖzu©miÀ 

{ÖÁÚzvß »õ£® ¹.2,00,000. »õ£® ©ØÖ® |mh 

JxURmkU PnUøPz u¯õ›UPÄ®. 
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17. Arul and Babu are partners sharing profits in the ratio of 

3:2. On January 1, their balance sheet stood as follows: 

Liabilities Rs. Assets Rs. 

Capital:    

Arul 10,000 Goodwill 800

Babu 6,000 Sundry Assets 17,200

Reserve Account 2,000  

 18,000  18,000

 On the above date they decided to admit Charles in the 

firm with one-third share of profit. Charles’s share of 

goodwill was reckoned at Rs.600 out of which he bought 

Rs.400 only. He, however, brought in cash his share of 

capital Rs.8,000. It was decided that goodwill should not 

appear in the new balance sheet at Rs.1,200. Pass journal 

entries and prepare new balance sheet. 

 A¸Ò ©ØÖ® £õ¦ £[SuõμºPÒ 3:2 GßÓ ÂQuzvÀ 

»õ£zøu¨ £Qº¢x öPõÒQßÓÚº. áÚÁ› 1 AßÖ, 

AÁºPÎß C¸¨¦{ø» ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

‰»uÚ® :    

A¸Ò 10,000 |Àö»sn® 800

£õ¦ 6,000 £Ø£» ö\õzxUPÒ 17,200

›\ºÆ PnUS 2,000  

 18,000  18,000
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 ÷©÷» EÒÍ ÷uv°À, »õ£zvÀ ‰ßÔÀ J¸ £[Shß 
\õº»øé {ÖÁÚzvÀ ÷\ºUP •iÄ ö\´uÚº. \õº»êß 
|Àö»snzvß £[S ¹.600 GÚU PnUQh¨£mk AvÀ 
AÁº ¹.400 ©mk÷© Áõ[QÚõº. C¸¨¤Ú® AÁº uÚx 
£[S ‰»uÚ©õÚ ¹.8,000 öμõUP©õP öPõsk Á¢uõº. 
¦v¯ C¸¨¦ {ø»U SÔ¨¤À ¹.1,200 À |Àö»sn® 
Ch® ö£ÓU Thõx GÚ •iÄ ö\´¯¨£mhx. 
•uØSÔ¨÷£mk £vÄPøÍ u¸P ©ØÖ® ¦v¯ C¸¨¦ 
{ø»U SÔ¨ø£ u¯õº ö\´¯Ä®. 

18. A, B and C are partners in a firm sharing profits and 
losses in the ratio of 2:3:1 respectively. Their balance 
sheet as on 31-12-2010 was as follows: 
Liabilities Rs. Assets  Rs. 

A’s Capital 30,000 Building 50,000

B’s Capital 40,000 Machinery 40,000

C’s Capital 25,000 Furniture 10,000

Sundry Creditors 25,000 Stock 25,000

Loan payable 15,000 Debtors 18,000

Reserve fund 16,000 Less : Provision 500 17,500

  Cash 8,500

 1,51,000  1,51,000

 C retires on 31-12-2010 subject to the following conditions : 

 • A goodwill account is created in the books for 
Rs.24,000 

 • Machinery is to be depreciated by 10%. 

 • Furniture is to be depreciated by 5%. 

 • Stock is to be appreciated by 15% and Building is to 
be appreciated by 10%. 

 • Reserve for doubtful debts is to be raised to 
Rs.2,000. 

  Prepare necessary ledger accounts and show the 
balance sheet of the new firm. 
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 A, B ©ØÖ® C BQ¯øÁ •øÓ÷¯ 2:3:1 GßÓ ÂQuzvÀ 

C»õ£ |mh[PøÍ¨ £Qº¢x öPõÒÐ® {ÖÁÚzvÀ 

£[SuõμºPÍõS® 31-12-2010 AßÖ AÁºPÎß C¸¨¦ 

{ø» ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ  ¹ 

ACß ‰»uÚ® 30,000 Pmih® 50,000

BCß ‰»uÚ® 40,000 C¯¢vμ[PÒ 40,000

CCß ‰»uÚ® 25,000 ©μa\õ©õßPÒ 10,000

£Ø£» PhÜ¢÷uõº 25,000 £[S 25,000

ö\¾zu ÷Ási¯  PhÚõÎPÒ 18,000

Phß 15,000 SøÓ : JxURk 500 17,500

Põ¨¦ {v 16,000 öμõUP® 8,500

 1,51,000  1,51,000

 C ¤ßÁ¸® {£¢uøÚPÐUS Em£mk 31-12-2010 AßÖ 

K´Ä ö£ÖQÓõº : 

 • ¦zuP[PÎÀ ¹.24,000US |Àö»snU PnUS 

E¸ÁõUP¨£kQÓx 

 • C¯¢vμ[PÒ 10% ÷u´©õÚ® ö\´¯¨£h  ÷Ásk®. 

 • ©μa\õ©õßPÒ  5% ÷u´©õÚ® ö\´¯¨£h  ÷Ásk®. 

 • £[S 15% ©ØÖ® Pmih® 10% £õμõmh¨£h 

÷Ásk®. 

 • \¢÷uPzvØS›¯ PhßPÐUPõÚ C¸¨¦ ¹.2,000 BP 

E¯ºzu¨£h EÒÍx. 

  ÷uøÁ¯õÚ ÷£÷μmk PnUSPøÍz u¯õ›zx ¦v¯ 

{ÖÁÚzvß C¸¨¦ {ø»U SÔ¨ø£U PõmhÄ®. 
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19. P, Q and R are partners in a firm. They share profits and 
losses equally. Their balance sheet on 31-12-2012 is given 
below: 

Liabilities Rs. Assets Rs.

P’s Capital 16,000 Machinery 40,000

R’s Capital 12,000 Furniture 16,000

Reserve Fund 18,000 Debtors 40,000

Creditors 64,000 Cash at Bank 8,000

  Q’s Capital 6,000

 1,10,000  1,10,000

 The partnership is dissolved due to insolvency of Q who is 
unable to contribute anything in the payment of his debt 
to the firm, Machinery realised Rs. 30,000 and furniture 
Rs. 6,400. Only Rs. 24,000 was recovered from debtors. 
Creditors were paid at a discount of 5%. Prepare 
necessary accounts in the books of the firm when the 
capitals are fluctuating. Apply Garner Vs Murray Rule. 

 P, Q ©ØÖ® R BQ÷¯õº J¸ {ÖÁÚzvÀ £[SuõμºPÒ 
»õ£ |èhzøu \©©õP¨ £Qº¢x öPõÒQÓõºPÒ.  

31-12-2012 AßÖ AÁºPÎß C¸¨¦{ø» R÷Ç 

öPõkUP¨£mkÒÍx: 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.

P&ß ‰»uÚ® 16,000 C¯¢vμ[PÒ 40,000

R&ß ‰»uÚ® 12,000 ©μa\õ©õßPÒ 16,000

C¸¨¦ {v 18,000 PhÚõÎPÒ 40,000

Phß   Á[Q°À £n® 8,000

öPõkzuÁºPÒ 64,000 Q&ß ‰»uÚ® 6,000

 1,10,000  1,10,000
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 {ÖÁÚzvØS uÚx PhøÚa ö\¾zxÁvÀ G¢u¨ 
£[PÎ¨ø£²® ö\´¯ •i¯õu Q Cß vÁõÀ ußø©¯õÀ 
Tmhõsø© Pø»UP¨£mhx. C¯¢vμ[PÒ ‰»® ¹.30,000 
©ØÖ® ©μa\õ©õßPÒ ¹.6,400 öÁÖ® ¹.24,000 
PhÚõÎPÎh® C¸¢x «mP¨£mhx. PhÚõÎPÐUS 5% 
uÒÐ£i ÁÇ[P¨£mhx. ‰»uÚ[PÒ HØÓ CÓUP©õP 
C¸US® ÷£õx {ÖÁÚzvß ¦zuP[PÎÀ ÷uøÁ¯õÚ 
PnUSPøÍ u¯õº ö\´¯Ä®. PõºÚº Vs •º÷μ Âvø¯¨ 
£¯ß£kzuÄ®. 

20. M, N and O share profits and losses in the ratio of 4:5:1. 
Their balance sheet on 31-12-2012 was as follows: 

Liabilities Rs. Assets Rs. 

M’s Capital 30,000 Cash 6,000

N’s Capital 24,000 Other Assets 1,12,000

O’s Capital 6,000  

Reserve Fund 12,000  

Contingency Reserve 8,000  

M’s Loan 12,000  

N’s Loan 6,000  

Sundry Creditors 20,000  

 1,18,000  1,18,000

 The partnership is dissolved and the assets are realised 
as follows: 

 • First Realisation   – Rs.20,000 
 • Second Realisation – Rs.40,000 
 • Third Realisation   – Rs.34,000 
 On the date of dissolution, there was a contingent 

liability of Rs.2,000 against the firm which was settled at 
Rs.1,400 at the time of second realisation, The realisation 
expenses were estimated at Rs.4,000 but actually came to 
Rs.3,000, “O” took stock worth Rs.1,000 during third 
realisation. The firm was forced to pay Rs.1,000 out of 
third realization for which no provision was made in the 
books. Prepare a statement showing how the distribution 
should be made by following the Maximum Loss method. 
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 M, N ©ØÖ® O BQ÷¯õº 4:5:1 GßÓ ÂQuzvÀ »õ£® 
©ØÖ® CÇ¨¦PøÍ¨ £Qº¢x öPõÒQßÓÚº. 31-12-2012 
AßÖ AÁºPÎß C¸¨¦ {ø» ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

M&ß ‰»uÚ® 30,000 öμõUP® 6,000

N&ß ‰»uÚ® 24,000 ©ØÓ  

O&ß ‰»uÚ® 6,000 ö\õzxUPÒ 1,12,000
C¸¨¦ {v 12,000  

uØö\¯À C¸¨¦ 8,000  

M&ß Phß 12,000  

N&ß Phß 6,000  

£Ø£» PhÜ¢÷uõº 20,000  

 1,18,000  1,18,000

 Tmhõsø© Pø»UP¨£mhx ©ØÖ® ö\õzxUPÒ 
¤ßÁ¸©õÖ Enμ¨£kQßÓÚ: 

 • •uÀ EnºuÀ  – ¹.20,000 

 • CμshõÁx EnºuÀ – ¹.40,000 

 • ‰ßÓõÁx EnºuÀ – ¹.34,000 

 Pø»UP¨£mh ÷uv°À, {ÖÁÚzvØS GvμõP ¹.2,000 
uØö\¯»õÚ ö£õÖ¨¦ C¸¢ux. Cx CμshõÁx 
Enºu¼ß ÷£õx ¹.1,400 BP {ºn°UP¨£mhx. 
EnºuÀ ö\»ÄPÒ ¹.4,000 GÚ ©v¨¤h¨£mhx. BÚõÀ 
Esø©°À ¹.3,000, BÚx “O” ‰ßÓõÁx Enºu¼ß 
÷£õx ¹.1,000 ©v¨¦ÒÍ £[SPøÍ GkzxöPõshõº. 
¦zuP[PÎÀ G¢u HØ£õk® ö\´¯¨£hõu {ø»°À, 
{ÖÁÚ® ¹.1,000 ö\¾zu ÷Ási¯ Pmhõ¯® HØ£mhx. 
AvP£m\ CÇ¨¦  •øÓø¯¨ ¤ß£ØÔ Â{÷¯õP® 
GÆÁõÖ ö\´¯¨£h ÷Ásk® Gß£øuU Põmk® 
AÔUøPø¯z u¯õ›UPÄ®. 

———————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2024. 
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Commerce with Computer Application 

C++ PROGRAMMING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is a token? 

 ÂÀø»PÒ GßÓõÀ GßÚ? 

2. What is virtual function? 

 ö©´{PÀ ö\¯ØT¸ GßÓõÀ GßÚ? 

3. How do you define member function? 

 EÖ¨¤Úº ö\¯ØTøμ G¨£i Áøμ¯ÖUQÕºPÒ? 

4. Write a note on friend function. 

 SÔ¨¦ GÊuÄ®&|s£º ö\¯ØTÖ. 

5. Define destructor. 

 AÈ¨¦ Áøμ¯Ö. 

6. What is the use of copy constructor? 

 |PÀ BUQ £¯ß GßÚ? 
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7. Define binary operator. 

 C¸©a ö\¯ØSÔø¯ Áøμ¯ÖP. 

8. What is a derived class? 

 ö£Ó¨£mh ÁS¨¦ GßÓõÀ GßÚ? 

9. What is polymorphism? 

 £õ¼©õº¤\® GßÓõÀ GßÚ? 

10. What do you understand by pointer to objects? 

 ö£õ¸ÒPÒ _miUPõmkÁuß ‰»® }[PÒ GßÚ 
¦›¢xöPõÒQÕºPÒ? 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) What are the different types of operators in C++? 
Explain. 

  C++CÀ EÒÍ £À÷ÁÖ ÁøP¯õÚ B£÷μmhºPÒ 
GßÚ? ÂÍUPÄ®. 

Or 

 (b) Differentiate between call by reference and return 
by reference in C++. 

  C++ CÀ SÔ¨¦ ‰»® AøÇ¨¦ ©ØÖ® SÔ¨¦ ‰»® 
v¸®¦uÀ BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

12. (a) Write a C++ program for using classes and objects. 

  ÁS¨¦PÒ ©ØÖ® ö£õ¸mPøÍ¨ £¯ß£kzxÁuØS 
C++ {μø» GÊuÄ®. 

Or 

 (b) Elucidate the static data members in C++. 

  C++CÀ EÒÍ {ø»¯õÚ uμÄ EÖ¨¤ÚºPøÍ 
öuÎÄ£kzuÄ® 
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13. (a) What is constructor? Explain default constructor 
and copy Constructor. 

  PßìmμUhº GßÓõÀ GßÚ? C¯À¦{ø» 
PßìmμUhøμ²® |PÀ PßìmμUhøμ²® ÂÍUPÄ®. 

Or 

 (b) Explain about destructor in C++. 

  C++CÀ iìmμUhøμ¨ £ØÔ ÂÍUPÄ®. 

14. (a) What is inheritance in C++? Name the different 
types of inheritance with the examples. 

  C++CÀ £μ®£øμ GßÓõÀ GßÚ? £À÷ÁÖ ÁøP¯õÚ 
£μ®£øμ Euõμn[PÐhß ö£¯›hÄ®. 

Or 

 (b) Write a note on 

  (i) Virtual base class and 

  (ii) Abstract class. 

  SÔ¨¦ GÊuÄ®  

  (i)   ö©´{Pº Ai¨£øh ÁS¨¦ 

  (ii)  _¸UP ÁS¨¦. 

15.  (a) Explain about different file operations in C++. 

  C++CÀ EÒÍ £À÷ÁÖ ÷Põ¨¦ ö\¯À£õkPøÍ £ØÔ 
ÂÍUPÄ®. 

Or 

 (b) Differentiate between formatted and unformatted 
I/O. Discuss its different functions. 

  ÁiÁø©UP¨£mh ©ØÖ® ÁiÁø©UP¨£hõu I/O  
÷ÁÖ£kzx[PÒ. Auß öÁÆ÷ÁÖ ö\¯À£õkPøÍ¨ 
£ØÔ ÂÁõvUPÄ®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What is Function in C++? Explain its types. 

 CÀ ö\¯À£õk GßÓõÀ GßÚ? Auß ÁøPPøÍ ÂÍUSP. 

17. What are the different ways to define member functions 
of a class? What is the role of scope resolution operator in 
the definition of member function? 

 J¸ ÁS¨¤ß EÖ¨¤Úº ö\¯À£õkPøÍ Áøμ¯ÖUP 
£À÷ÁÖ ÁÈPÒ ¯õøÁ? EÖ¨¤Úº ö\¯À£õmiß 
Áøμ¯øÓ°À ì÷Põ¨ öμ\À³åß B£÷μmh›ß £[S 
GßÚ? 

18. What is copy constructor? Explain the use of copy 
constructor in C++ programs. 

 |PÀ Pmhø©¨£õÍº GßÓõÀ GßÚ? C++  {μÀPÎÀ |PÀ 
Pmhø©¨£õÍ›ß £¯ß£õmøh ÂÍUSP. 

19. Write the C++ program to demonstrate the multilevel 
and multiple inheritance. 

 ©Àiö»ÁÀ ©ØÖ® ©Ài¤Ò Cßöí›öhßìPøÍ 
{¹¤UP C++  {μø» GÊuÄ®. 

20. Why do we need virtual functions? Explain. 

 |©US Hß ö©´{Pº ö\¯À£õkPÒ ÷uøÁ? ÂÍUSP. 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Contract account? 

 J¨£¢uU PnUS GßÓõÀ GßÚ? 

2. What is meant by lease? 

 SzuøP GßÓõÀ GßÚ? 

3. What is Royalty? 

 μõ¯Ài GßÓõÀ GßÚ? 

4. Who is Lessor? 

 SzuøPuõμº ¯õº? 

5. What is Instalment System? 

 uÁøn •øÓ GßÓõÀ GßÚ? 

6. What do you mean by repossession? 

 v¸®£¨ ö£ÖuÀ GßÓõÀ GßÚ? 
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7. What is statement of affairs? 

 ÂÁPõμ AÔUøP GßÓõÀ GßÚ? 

8. State the meaning of Insolvency. 

 vÁõ»õ {ø» Gß£uß ö£õ¸øÍU TÓÄ®. 

9. Define Departmental Accounting. 

 xøÓ\õº PnUQ¯ø» Áøμ¯ÖUPÄ®. 

10. What is dependent branch? 

 \õº¦ QøÍ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) The following was the expenditure on a contract for 
Rs.12,00,000 commenced in January. 

 Rs. 

Materials 2,40,000 

Wages 3,28,000 

Plant 40,000 

Overheads 17,200 

  Cash received on account of the contract up to  
31st December was Rs.4,80,000 being 80% of the 
work certified. The value of materials in hand was 
Rs. 20,000. The plant had undergone 20% 
depreciation. Prepare Contract account. 
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  áÚÁ›°À öuõh[Q¯ ¹.12,00,000&UPõÚ J¸ 
J¨£¢uzvØPõÚ ö\»Ä Á¸©õÖ : 

 ¹. 

ö£õ¸mPÒ 2,40,000 

Fv¯® 3,28,000 

Bø» 40,000 

÷©Øö\»ÄPÒ 17,200 

  i\®£º 31 Áøμ J¨£¢uzvß Ai¨£øh°À 
ö£Ó¨£mh £n® ¹.4,80,000 BS®. Cx 
\õßÓÎUP¨£mh ÷Áø»PÎÀ 80% BS® øP°À 
C¸¢u ö£õ¸mPÎß ©v¨¦ ¹.20,000 Bø» 20% 
÷u´©õÚzvØS BÍõÚx. J¨£¢uU PnUøPz 
u¯õ›UPÄ®.  

Or 

 (b) What are the features of Contract Account? 

  J¨£¢uU PnUQß A®\[PÒ GßÚ? 

12. (a) ‘A’ leased a colliery. The Dead Rent was Rs.1,200 a 
year, merging into a Royalty of 25 paise per tonne of 
Coal raised with the right of recouping short 
workings out of royalties during the first four years. 
The quantities raised were 

Year Tonnes 

I 2,000 

II 3,600 

III 6,000 

IV 12,000 

V 25,000 

  Show the Landlord Account for the five years. 
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  ‘A’ J¸ öPõ½›ø¯ SzuøPUS Gkzux. Enμ¨£hõu 
ÁõhøP J¸ Á¸hzvØS ¹.1,200 BP C¸¢ux. 
•uÀ |õßS Á¸h[PÎÀ μõ¯Ài°À C¸¢x 
SÖURkPøÍ v¸®£¨ ö£Ö® E›ø©²hß J¸ hß 
{»UP›US 25 ø£\õ μõ¯Ài²hß CønUP¨£mhx 
E¯ºzu¨£mh AÍÄPÒ 

Bsk hßPÒ

I 2,000 

II 3,600 

III 6,000 

IV 12,000 

V 25,000 

  I¢uõskPÐUPõÚ {» E›ø©¯õÍº PnUøPU 
Põmk. 

Or 

 (b) Ramu took a lease of mine for a period of 20 years. 
Royalty payable is Re.1 per tonne subject to a 
minimum rent of Rs.12,000 p.a. The short workings 
are recoupable during the first three years of the 
lease. The output was 

Year Tonnes 

2018 Nil 

2019 4,000 

2020 20,000 

2021 40,000 

  Give journal entries, short workings account and 
Land lord’s account in the books of Ramu. 
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  μõ• _μ[Pzøu 20 BskPÐUS SzuøPUS 
Gkzuõº. J¸ hßÝUS ¹.1 Ãu® SøÓ¢u£m\ 
ÁõhøP¯õP Á¸hzvØS ¹.12,000 μõ¯Ài ö\¾zu 
÷Ásk®. SzuøP°ß •uÀ ‰ßÖ BskPÎÀ 
SÖQ¯ ÷Áø»PÒ v¸®£¨ ö£Ó¨£k® öÁÎ±k 
C¸¢ux 

Bsk hßPÒ 

2018 CÀø»

2019 4,000 

2020 20,000 

2021 40,000 

  μõ•Âß ¦zuP[PÎÀ áºÚÀ £vÄPÒ, SÖ[Pmkøμ 
PnUS ©ØÖ® {» E›ø©¯õÍº PnUS 
BQ¯ÁØøÓU öPõkUPÄ®. 

13. (a) Mr. X purchased a typewriter on hire purchase 
system. As per terms, he is required to pay Rs.800 
down, Rs.400 at the end of the first year, Rs.300 at 
the end of the second year and Rs.700 at the end of 
the third year. Interest is charged at 5% per annum. 
Calculate the total cash price of the typewriter and 
the amount of interest payable on each instalment. 

  ªìhº GUì J¸ umha_¨ö£õÔø¯ ÁõhøP 
öPõÒ•uÀ •øÓ°À Áõ[QÚõº. Âv•øÓPÎß£i, 
AÁº ¹.800 R÷Ç ö\¾zu ÷Ásk®, •uÀ Bsk 
•iÂÀ ¹.400, Cμshõ® Bsk •iÂÀ ¹.300 
©ØÖ® ‰ßÓõ® Bsk •iÂÀ ¹.700 ö\¾zu 
÷Ásk®. BskUS 5% Ámi Á`¼UP¨£kQÓx 
umha_¨ö£õÔ°ß ö©õzu öμõUP Âø»ø¯²® 
JÆöÁõ¸ uÁøn°¾® ö\¾zu ÷Ási¯ Ámiz 
öuõøPø¯²® PnUQkP. 

Or 
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 (b) On 01-01-2010, Mr. A bought some trucks under 
hire-purchase system for Rs.51,000 payable by three 
equal instalments combining principal and interest, 
the latter being a normal rate of 5% per annum. 
Calculate the cash price. The present value of 
annuity of one rupee for three years at 5% is 
Rs.2.72325. 

  01.01.2010 AßÖ v¸. A ]» »õ›PøÍ ÁõhøPUS 
Áõ[S® •øÓ°ß RÌ A\À ©ØÖ® Ámiø¯ 
Cønzx ‰ßÖ \© uÁønPÎÀ ¹.51,000 ö\¾zu 
÷Ásk®. ¤¢øu¯x BskUS 5% GßÓ \õuõμn 
ÂQu©õS® £n Âø»ø¯ PnUQkP ‰ßÖ 
BskPÐUS J¸ ¹£õ°ß uØ÷£õøu¯ ©v¨¦ 5% 
¹.2.72325. 

14. (a) Distinction between insolvency of an individual and 
a partnership firm. 

  J¸ uÛ|£›ß vÁõÀ{ø»US® Tmhõsø© 
{ÖÁÚzvØS® Cøh÷¯ ÷ÁÖ£kzxP. 

Or 

 (b) What lists are prepared by the debtor in order to 
prepare statement of affairs? 

  ÂÁPõμ[PÎß AÔUøPø¯z u¯õ›¨£uØPõP 
PhÚõÎ¯õÀ GßÚ £mi¯ÀPÒ u¯õ›UP¨£kQßÓÚ. 

15. (a) Apportion the following expenses on the basis of 
cost of goods sold ratio among the four departments, 
A, B, C and D: 

Department Sales (Rs.) 
A 4,00,000 
B 3,00,000 
C 2,00,000 
D 1,00,000 

  Gross Profit ratio — 20% on sales 

  Expenses – Salaries Rs.60,000; Rent and Rates 
Rs.15,000; Insurance Rs.13,000. 
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  ÂØP¨£mh ö£õ¸mPÎß Âø»°ß ÂQuzvß 
Ai¨£øh°À ¤ßÁ¸® ö\»ÄPøÍ |õßS 

xøÓPÐUS £[QhÄ®. A, B, C ©ØÖ® D: 

xøÓ ÂØ£øÚ (¹.) 

A 4,00,000 

B 3,00,000 

C 2,00,000 

D 1,00,000 

  ö©õzu »õ£ ÂQu®&ÂØ£øÚ°À 20% 

  ö\»ÄPÒ & \®£Í® ¹.60,000; ÁõhøP ©ØÖ® 
Pmhn[PÒ ¹.15,000; Põ¨¥k ¹.13,000. 

Or 

 (b) Bombay Soap Mills Ltd. opened a branch at Bombay 
on 1st January 2020. From the following particulars, 
prepare the necessary accounts for 2020 and 2021 in 
the books of the Head Office. 

 2020 2021 

 Rs. Rs. 

Goods sent to branch 20,000 50,000

Cheques sent to branch for 

Rent 2,000 2,000

Salaries 2,500 2,550

Other expenses 1,000 1,250

Cash received from branch 30,000 67,500

Stock on 31st December 4,000 12,500

Petty cash on hand - 31st December 75 125
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  £õ®÷£ ÷\õ¨ ªÀì ¼ªöhm, 1 áÚÁ› 2020 AßÖ 
£®£õ°À J¸ QøÍø¯z vÓ¢ux. ¤ßÁ¸® 
ÂÁμ[PÎ¼¸¢x 2020 ©ØÖ® 2021 B® 
BsiØPõÚ ÷uøÁ¯õÚ PnUSPøÍz uø»ø© 
A¾Á»P¨ ¦zuPzvÀ u¯õº ö\´¯Ä®. 

 2020 2021 

 ¹. ¹. 

QøÍUS AÝ¨£¨£mh ö£õ¸mPÒ 20,000 50,000

Põ÷\õø»PÒ QøÍUS AÝ¨£¨£mhÚ

ÁõhøP 2,000 2,000

\®£Í® 2,500 2,550

©ØÓ ö\»ÄPÒ 1,000 1,250

QøÍ°¼¸¢x ö£Ó¨£mh £n® 30,000 67,500

i\®£º 31 AßÖ £[S 4,000 12,500

øP°À ]Ô¯ £n®&31 i\®£º 75 125

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Shankar Construction Ltd. have undertaken the 
construction of a Bridge. The contract price being Rs.65 
lakhs. The details relating to the contract are as follows: 

 Rs. 

Materials bought 16,50,000

Material sent from stores 4,00,000

Labour cost 20,00,000

Direct Expenses 1,25,000

Hire and use of plant 60,000

General Overhead allocated 1,75,000
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 Rs. 

Material on hand at the end of the period 31,500

Wages accrued at the end of the period 37,500

Direct Expenses accrued at the end of the period 7,500

Cost of work certified by the Engineer 55,00,000

Cost of work uncertified 1,00,000

Cash received 44,00,000

 Prepare  

 (a) Contract Account  

 (b) Contractee’s Account and show the relevant items 
appear in the Balance Sheet of the contractor. 

  \[Pº Pßìmμñß ¼ªöhm £õ»® Pmk® £oø¯ 
÷©ØöPõskÒÍx. J¨£¢u Âø» C¸¨£x ¹.65 
»m\®. J¨£¢u® öuõhº£õÚ ÂÁμ[PÒ ¤ßÁ¸©õÖ 

 ¹. 
ö£õ¸mPÒ Áõ[P¨£mhÚ 16,50,000
PøhPÎÀ C¸¢x ö£õ¸Ò AÝ¨£¨£mhx 4,00,000
÷Áø» ö\»Ä 20,00,000
÷|μi ö\»ÄPÒ 1,25,000
Bø»°ß ÁõhøP ©ØÖ® £¯ß£õk 60,000
ö£õx ÷©À{ø»US JxUP¨£mhx 1,75,000
Põ»Pmhzvß •iÂÀ ö£õ¸Ò øP°À EÒÍx 31,500
Põ»zvß •iÂÀ \®£Í® vμmh¨£mhx 37,500
Põ»zvß •iÂÀ ÷|μi ö\»ÄPÒ 7,500
ö£õÔ¯õÍμõÀ \õßÓÎUP¨£mh ÷Áø» ö\»Ä55,00,000
\õßÓÎUP¨£hõu ÷Áø»a ö\»Ä 1,00,000
£n® Qøhzux 44,00,000

 (A) J¨£¢uU PnUS 

 (B) J¨£¢uuõμ›ß PnUøPz u¯õ›zx 

  J¨£¢uuõμ›ß C¸¨¦{ø»U SÔ¨¤À öuõhº¦øh¯ 
ö£õ¸mPøÍU PõmhÄ®. 
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17. A obtained on 1st  January, 2015 from B a lease of some 
coal bearing land, the terms being a royalty of Rs.0.50 per 
tonne of coal raised subject to a minimum rent of Rs.2,000 
p.a. with a right of recoupment of short workings over the 
first four years of the lease. 

 A granted a sub-lease of part of the land to C on a royalty 
of Rs.0.75 per tonne merging into a minimum rent of 
Rs.1,000 p.a. with a right of recoupment of short 
workings during the two years following the short 
workings. 

  The output for the five years is as follows: 
 A C Total output

Year Tons Tons Tons 
2015 2,200 800 3,000 
2016 2,320 1,080 3,400 
2017 2,600 1,400 4,000 
2018 2,800 1,800 4,600 
2019 3,600 2,400 6,000 

 Give the necessary Ledger Accounts in the books of A. 

 áÚÁ› 1, 2015 AßÖ B °hª¸¢x ]» {»UP› uõ[Q 
{»zvß SzuøPUS ö£Ó¨£mhx. Cuß Âv•øÓPÒ J¸ 
hß {»UP›US ¹.0.50 μõ¯Ài¯õP SøÓ¢u£m\ 
ÁõhøP¯õP ¹.2,000 Á¸h® SzuøP°ß •uÀ |õßS 
BskPÎÀ SÖQ¯ ÷Áø»PøÍ v¸®£¨ ö£ÖÁuØPõÚ 
E›ø©²hß. 

 J¸ hß JßÖUS ¹.0.75 μõ¯Ài°À {»zvß J¸ 
£Svø¯ xøn SzuøPUS ÁÇ[Q¯x. SøÓ¢u£m\ 
ÁõhøP¯õP ¹.1,000 Á¸h®. SÖQ¯ ÷Áø»PøÍz 
öuõhº¢x Cμsk Á¸h[PÎÀ ]Ö ÷Áø»PøÍ v¸®£¨ 
ö£ÖÁuØPõÚ E›ø©²hß.  

 I¢x BskPÐUPõÚ öÁÎ±k ¤ßÁ¸©õÖ 
 A C ö©õzu öÁÎ±k

Bsk hß hß hß 
2015 2,200 800 3,000 
2016 2,320 1,080 3,400 
2017 2,600 1,400 4,000 
2018 2,800 1,800 4,600 
2019 3,600 2,400 6,000 

 A ¦zuP[PÎÀ ÷uøÁ¯õÚ ö»máº PnUSPøÍ 
öPõkUPÄ®. 



F–0976 

  

  11

18. On 01-01-2003, a firm purchased a truck on instalment 
system. The cash price of the truck was Rs.11,175 and 
payment was to be made as follows: Rs.3,000 was to be 
paid on signing of the agreement and the balance in three 
instalments of Rs.3,000 each at the end of each year. 
Interest at 5% is charged by the vendor. The firm has 
decided to write off 10 % annually on the diminishing 
balance of the cash price. Give journal entries in the 
books of the purchaser. 

 01.01.2003 AßÖ, J¸ {ÖÁÚ® uÁøn •øÓ°À J¸ 
iμUøP Áõ[Q¯x. iμUQß öμõUP Âø» ¹.11,175 ©ØÖ® 
¤ßÁ¸©õÖ ö\¾zu ÷Ásk®. J¨£¢uzvÀ 
øPö¯ÊzvmhÄhß ¹.3,000 ©ØÖ® JÆöÁõ¸ Bsk 
CÖv°À u»õ ¹.3,000 GÚ ‰ßÖ uÁønPÍõP ö\¾zu 
÷Ásk®. 5% Ámi ÂØ£øÚ¯õÍμõÀ Á`¼UP¨£kQÓx. 
öμõUP Âø»°ß SøÓ¢x Á¸® {¾øÁz öuõøP°À 
Bsk÷uõÖ® 10% uÒÐ£i ö\´¯ {ÖÁÚ® •iÄ 
ö\´xÒÍx. Áõ[S£Á›ß ¦zuP[PÎÀ £zv›øP 
EÒÏkPøÍ öPõkUPÄ®. 

19. Following is the trial balance of Raman who commenced 
business on 1.1.2020. 

       Rs. 

 Cash      2,300 

 Stock in trade    6,660 

 Debtors     1,30,000 

 Furniture     2,820 

 Investment in shares   5,000 

 Value of securities held by secured creditors 35,000 

 Creditors     1,80,000 

 Secured creditors   25,000 



F–0976 

  

  12

       Rs. 

 Preferential claims for rent, rates and taxes 1,900 

 Capital     13,500 

 Profit (2018, 2019)   55,540 

 Loss (2020)    25,000 

 Drawings (upto 31.12.2020)  69,160 

 You are required to prepare Statement of affairs and 
deficiency Account. 

 1.1.2020 AßÖ ÁoPzøuz öuõh[Q¯ μõ©Ûß ÷\õuøÚ 
{¾øÁ ¤ßÁ¸©õÖ 

       ¹. 

 öμõUP®     2,300 

 ÁºzuPzvÀ £[S   6,660 

 PhÚõÎPÒ     1,30,000 

 ©μa\õ©õßPÒ    2,820 

 £[SPÎÀ •u½k   5,000 

 £õxPõ¨£mh PhÚõÎPÒ øÁzv¸US®  

 £zvμ[PÎß ©v¨¦   35,000 

 Phß öPõkzuÁºPÒ   1,80,000 

 £õxPõUP¨£mh PhÚõÎPÒ  25,000 

 ÁõhøP, Pmhn[PÒ ©ØÖ® Á›PÐUPõÚ •ßÝ›ø© 
÷PõμÀPÒ     1,900 

 ‰»uÚ®     13,500 

 »õ£® (2018, 2019)   55,540 

 CÇ¨¦ (2020)    25,000 

 Gk¨¦PÒ (31.12.2020 Áøμ)  69,160 

 }[PÒ ÂÁPõμ[PÒ ©ØÖ® SøÓ£õk PnUS AÔUøPø¯ 
u¯õº ö\´¯ ÷Ásk®. 
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20. A firm has two departments  

 (a) Cloth Department and  

 (b) Readymade Clothes Department. The readymade 
clothes are made by the firm itself out of the cloth 
supplied by the cloth department as its usual selling 
price. From the following figures, prepare 
Departmental Trading and Profit and Loss Account 
for the year ended 31st March, 2023. 

Particulars Cloth Dept. Readymade clothes

 (Rs.) (Rs.) 

Opening Stock 3,00,000 50,000

Purchases 20,00,000 25,000

Sales 22,00,000 5,00,000

Transfer to Readymade  

Clothes Dept. 3,00,000 –

Manufacturing Expenses – 60,000

Selling Expenses 32,000 8,000

Closing Stock 2,00,000 60,000

 The stock in Readymade Clothes Department may be 
considered as consisting of 75% cloth and rest as other 
expenses. The Cloth Department earned a gross profit of 
15% in 2021-2022. 

 J¸ {ÖÁÚ® Cμsk xøÓPøÍU öPskÒÍx 

 (A) xoz xøÓ ©ØÖ® 

 (B) B¯zu Bøhz xøÓ B¯zu BøhPÒ Auß 
ÁÇUP©õÚ ÂØ£øÚ Âø»¯õP xo xøÓ¯õÀ 
ÁÇ[P¨£k® xo°À {ÖÁÚzuõÀ 
u¯õ›UP¨£kQßÓÚ. ¤ßÁ¸® 
¦ÒÎÂÁμ[PÎ¼¸¢x. ©õºa 31, 2023 CÀ 
•iÁøh¢u BsiØPõÚ xøÓ\õº ÁºzuP® ©ØÖ® 
»õ£® ©ØÖ® CÇ¨¦U PnUøPz u¯õ›UPÄ® 
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ÂÁμ[PÒ xo xøÓ B¯zu BøhPÒ

 (¹.) (¹.) 

öuõhUP C¸¨¦ 3,00,000 50,000

öPõÒ•uÀ 20,00,000 25,000

ÂØ£øÚ 22,00,000 5,00,000

B¯zu BøhPÒ   

xøÓUS ©õØÓÄ® 3,00,000 –

EØ£zv ö\»ÄPÒ – 60,000

ÂØ£øÚ ö\»ÄPÒ 32,000 8,000

CÖv C¸¨¦ 2,00,000 60,000

 B¯zu BøhPÒ ¤›ÂÀ EÒÍ C¸¨¦ 75% xo ©ØÖ® 
©ØÓ ö\»ÄPÒ GÚ P¸u¨£h»õ®. xo xøÓ 2021&2022 
CÀ 15% ö©õzu »õ£zøu Dmi¯ÒÍx. 

———————— 



  

F–0977   
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BUSINESS MATHEMATICS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Find the simple interest on Rs. 5,000 at 10% for 3 years. 

 ¹. 5,000 & US 10% Ámi ÃuzvÀ 3 BskPÐUPõÚ 
uÛÁmi PõsP. 

2. Write down the formula for amount of immediate annuity 
and annuity due. 

 EhÚiz uÁøn¨ £[RmkzöuõøP ©ØÓ® Põzv¸¨¦ 
uÁøn £[Rmkz öuõøP°ß ö©õzu öuõøPUPõÚ 
`zvμzøu GÊxP. 

3. Express into logarithmic form 216 4/1 = . 

 216 4/1 =  Gß£uß ©hUøP ÁiÁzøu öu›Â. 

4. Find the value of 1728log . 

 1728log &ß ©v¨¦ PõsP. 

Sub. Code 
7BCC4C4 
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5. Find BA Δ  if { }edcbaA ,,,,= ; { }hgfebaB ,,,,,= . 

 { }edcbaA ,,,,= ; { }hgfebaB ,,,,,=  GÛÀ BA Δ  IU 

PõsP. 

6. Find ( )CBA ∩∪  if { }2,1,0=A ; { } { }4,3;3,2 == CB . 

 { }2,1,0=A ; { } { }4,3;3,2 == CB  GÛÀ ( )CBA ∩∪  & 

IU PõsP. 

7. Define mutually exclusive events. 

 JßøÓö¯õßÖ Â»US® {PÌa]ø¯ Áøμ¯Ö. 

8. State any two properties of normal distribution. 

 C¯À{ø» £μÁ¼ß H÷uÝ® C¸ £s¦PøÍU SÔ¨¤kP. 

9. Expand ( ) 3/11 −− x . 

 ( ) 3/11 −− x &I Â›ÁõUSP. 

10. Write down the binomial expansion of ( ) 31 −− x . 

 ( ) 31 −− x & I D¸Ö¨¦ ÷uØÓzvß ‰»® Â›ÁõUSP. 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Find the true discount and the present worth of a 
bill for Rs. 1,660 due in a months at 5% per annum. 

  ¹. 1,660 öuõøP uÁønø¯ 5% Ámi ÃuzvÀ 9 
©õu[PÐUS ö\¾zv Áμ uÒÐ£i ©ØÖ® |h¨¦ 
{vø¯U PõsP. 

Or 
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 (b) Find the interest on Rs. 1,000 for 10 years at 4% per 

annum, the interest being paid quarterly. 

  ¹. 1,000 / & US 10 Á¸h[PÐUS 4% Ámi Ãu® 

Põ»õsk PnUQß£i Tmk Ámiø¯U PnUQkP. 

12. (a) Show that 2
1010 log23125log −= . 

  2
1010 log23125log −=  GÚU PõmkP. 

Or 

 (b) Find the number of digits in 783 . 

  783 &ß C»UP[PÎß GsoUøPø¯U PõsP. 

13. (a) If { } { }nwBwvuA ,;,, ==  and { }zyxC ,,= . Prove 

that ( ) ( ) ( )CABACBA ∩∪∩=∪∩ . 

  { } { }nwBwvuA ,;,, ==  ©ØÖ® { }zyxC ,,=  GÛÀ 

( ) ( ) ( )CABACBA ∩∪∩=∪∩  GÚ {ÖÄP. 

Or 

 (b) In a class of 100 students 63 like oranges and 76 

line apples. How many of them like both by using 

Venn diagram? 

  100 ©õnÁºPÐøh¯ J¸ ÁS¨¤À 63 ©õnÁºPÒ 

Bμga £Ç•® 76 ÷£º B¨¤Ð® Â¸®¦QÓõºPÒ. 

öÁs£h® ‰»® GzuøÚ ÷£º Cμsøh²® 

Â¸®¦QßÓÚº GÚU PõsP. 
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14. (a) A bag contains 8 yellow and 7 black balls. What is 
the probabilities of drawing 5 yellow balls?  

  J¸ ø£°À 8 ©g\Ò ©ØÖ® 7 P¸¨¦ £¢xPÒ 
EÒÍx. Av¼¸¢x 5 £¢xPøÍ ÷uº¢öukUP Ax 
AøÚzx® ©g\Ò £¢uõP C¸UP {PÌuPÄ GßÚ? 

Or 

 (b) The salary of a group of 5000 persons were found to 
be normally distributed with mean Rs. 600 p.m. and 
standard deviation Rs. 40. Calculate expected 
number of persons getting salary above Rs. 700. 

  C¯À{ø» £μÁ¼À 5000 |£ºPÒ \®£Í® 
ö£ÓUTi¯ÁºPÍõ°ß Auß \μõ\› ¹. 600 ©ØÖ® 
vmh Â»UP® ¹. 40 GÛÀ ¹. 700 & US® AvP©õP 
\®£Í® ö£Ö÷Áõ›ß GsoUøPø¯U PõsP. 

15.  (a) Write down the binomial expansion of ( )6xz + . 

  ( )6xz + & ß D¸Ö¨¦ Â›ÁõUPzøu GÊxP. 

Or 

 (b) Write down the 11th term in the expansion of 
( )304xy + . 

  ( )304xy +  ß Â›ÁõUPzvÀ 11&Áx EÖ¨ø£ GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. A sum of money invested compound interest payable 
yearly, amounts to Rs. 2,074 at the end of the second year 
and to Rs. 2812.16 at the end of the third year. Find the 
rate of interest and sum. 

 J¸ öuõøP Tmk Ámi°À Á¸hzvØS PnUQk® ÷£õx 
Cμshõ® Bsk •iÂÀ ¹. 2,704 & ® 3 Bsk •iÂÀ 
¹. 2812.16 & PÄ® ö£¸SQÓx GÛÀ A¢u öuõøPø¯²® 
Ámi Ãuzøu²® PõsP. 
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17. Show that  

 0
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

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
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




  GÚU 

PõmkP. 

18. If { } { } { }9,7,3,2,5,4,3,1;9,2,1 === BAx   are sets 

prove that the Demorgan’s law of two sets. 

 { } { } { }9,7,3,2,5,4,3,1;9,2,1 === BAx   GÛÀ C¸ 

Pn[PÎß j©õºPß Âvø¯ {ÖÄP. 

19. Eight coins are tossed simultaneously 256 times. Number 
of heads observed at each throw is recorded as given 
below : 

No. of Heads : 0 1 2 3 4 5 6 7 8

Frequency : 2 6 30 52 67 56 32 10 1

Fit a binomial distribution and find the expected 
frequency. Also find the mean and standard deviation. 

 8 |õn¯[PÒ J÷μ ÷|μzvÀ 256 uhøÁ _sh¨£kQÓx. 
JÆöÁõ¸ _sku¼ß ÷£õx® uø» ÂÊ® GsoUøP 
PnUQh¨£kQÓx. 

uø» GsoUøP : 0 1 2 3 4 5 6 7 8

{PÌöÁs  : 2 6 30 52 67 56 32 10 1

 D¸Ö¨¦ £μÁø» ö£õ¸zv Gvº£õºUP¨£k® {PÌöÁs 
£μÁø» PõsP. ÷©¾® \μõ\› ©ØÖ® vmhÂ»UP® PõsP. 
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20. Find the coefficient of 3−x  in the expansion of 
9

2
5

5
4







 −

x
x

. 

 
9

2
5

5
4







 −

x
x

&ß Â›ÁõUPzvÀ 3−x  °ß öPÊøÁU PõsP. 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is debenture? 
 PhÜmk¨£zvμ® GßÓõÀ GßÚ? 

2. Give the meaning of capital redemption reserve. 
 ‰»uÚ «m¦ øÁ¨¤ß ö£õ¸øÍz u¸P. 

3. What is meant by acquisition of business? 
 ÁoPzøu øP¯P¨£kzxuÀ GßÓõÀ GßÚ? 

4. What is sales ratio? 
 ÂØ£øÚ ÂQu® GßÓõÀ GßÚ? 

5. Give the examples for current assets. 
 |h¨¦ ö\õzxPÐUPõÚ Euõμn[PøÍ u¸P. 

6. Define the term Dividend. 
 £[Suõ¯® GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

7. Define Merger. 
 Cøn¨¦ Áøμ¯ÖUPÄ®. 

8. What is absorption? 
 PÁºuÀ GßÓõÀ GßÚ? 

Sub. Code 
7BCC5C1 
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9. What is liquidation of a company? 
 {ÖÁÚzvß Pø»¨¦ GßÓõÀ GßÚ? 

10. Who are preferential creditors? 
 •ßÝ›ø© PhÜ¢÷uõº ¯õº? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Joy Company issued 10,000 equity shares at Rs.10 
per share payable Rs.5 on application, Rs. 3 on 
allotment and Rs. 2 on first and final call. The 
public subscribed for 9,000 shares. The directors 
allotted all the 9,000 shares and duly received the 
money. Pass the necessary journal entries. 

  áõ´ {ÖÁÚ® 10,000 £[SPøÍ öÁÎ°mhx 
•ßÝ›ø© £[Qß «x ö\¾zu ÷Ási¯ J¸ 
£[QØS ¹.10 Âsn¨£zvÀ ¹.5 JxURmiÀ ¹.3 
©ØÖ® •uÀ ©ØÖ® CÖv AøÇ¨¤ß ÷£õx ¹.2 GÚ 
ÁÇ[Q¯x 9,000 £[SPÐUS ö£õx©UPÒ SÊ 
÷\º¢xÒÍÚº.  C¯US|ºPÒ 9,000 £[SPøÍ JxUQ, 
•øÓ¯õP¨ £nzøu¨ ö£ØÓÚº.  ÷uøÁ¯õÚ 
SÔ¨÷£kPøÍ u¸P. 

Or 

 (b) Modern Fibres Ltd. has part of its share capital as  
5,000 Redeemable Preference Shares of Rs.100 
each. When the shares became due for redemption, 
the company decided that the whole amount will be 
redeemed out of a fresh issue of equal amount of 
equity shares of Rs.10 each. Show the journal 
entries in the books of the company. 

  ©õhºß Lø££ºì ¼ªöhm, Auß £[S ‰»uÚzvß 
J¸ £Svø¯ 5,000 «möhkUPUTi¯ •ßÝ›ø©¨ 
£[SPÍõP JÆöÁõßÖ® ¹.100.  £[SPøÍ 
«m£uØPõÚ {¾øÁz öuõøP¯õÚ ÷£õx, {ÖÁÚ® 
\©©õÚ £[SPÎß ¦v¯ öÁÎ±miÀ C¸¢x •Êz 
öuõøPø¯²® «möhkUP •iÄ ö\´ux.  
JÆöÁõßÖ® ¹.10.  {ÖÁÚzvß ¦zuP[PÎÀ 
C¸¢x SÔ¨÷£kPøÍ u¸P. 
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12. (a) Write short note on: (i) Net Asset method (ii) Net 
payment method. 

  ]Ö SÔ¨ø£ u¸P. (i) {Pμ ö\õzx •øÓ (ii) {Pμ 
ö\¾zx® •øÓ 

Or 

 (b) From the following particulars, ascertain Profit 
prior to and after incorporation. 

  (i) Time Ratio  - 3:5 

  (ii) Sales Ratio – 4:6 

  (iii) Gross Profit – Rs. 10,00,000 

  (iv) Expenses debited to Profit and Loss A/c were:  
Salaries  96,000 

General expenses 12,000 

Discount on Sales 40,000 

Advertisement 50,000 

Preliminary expenses 70,000 

Rent and Rates 15,000 

Printing and Stationary 65,000 

(e) Incomes credited to Profit and Loss account were:  

Rent received 18,000 

Interest received 50,000 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, Cøn¨£uØS •ßÝ® 
¤ßÝ® C»õ£zøuU PshÔ¯Ä®. 

  (i) ÷|μ ÂQu® & 3:5 

  (ii) ÂØ£øÚ ÂQu® & 4:6 

  (iii) ö©õzu C»õ£® & ¹.10,00,000 

  (iv) C»õ£® ©ØÖ® |èh® PnUS BQ¯ÁØÔÀ £ØÖ 
øÁUP¨£k® ö\»ÄPÒ ¤ßÁ¸©õÖ 
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\®£Í®  96,000 
ö£õx ö\»ÄPÒ 12,000 
ÂØ£øÚ°À uÒÐ£i 40,000 
ÂÍ®£μ® 50,000 
Bμ®£ ö\»ÄPÒ 70,000 
ÁõhøP ©ØÖ® ÂQu[PÒ 15,000 
Aa]kuÀ ©ØÖ® GÊx ö£õ¸Ò 65,000 
C»õ£® ©ØÖ® CÇ¨¦U PnUQÀ ÁμÄ øÁUP¨£mh 
Á¸©õÚ[PÒ 

 

ÁõhøP ö£Ó¨£mhx 18,000 
Ámi ö£Ó¨£mhx 50,000 

13. (a) Explain the accounting treatment of interim 
dividend and final dividend. 

  CøhUPõ» £[Põuõ¯® ©ØÖ® CÖv £[Põuõ¯® 
PnUQ¯À •øÓø¯ ÂÍUPÄ®. 

Or 

 (b) From the following balances, prepare the Balance 
Sheet of a Company in the prescribed format.  
Goodwill Rs.1,50,000; Investments Rs.2,00,000; 
Share capital Rs.5,00,000; Reserves Rs.1,10,000; 
Securities premium Rs.15,000; Preliminary 
expenses Rs.10,000; Profit and Loss A/c (Cr) 
Rs.25,000; Debentures Rs.2,50,000.  Other fixed 
assets Rs.4,70,000; Stock Rs.80,000; Debtors 
Rs.60,000; Bank balance Rs.30,000; Unsecured loan 
Rs.65,000; Sundry creditors Rs.35,000. 

  ¤ßÁ¸® {¾øÁPÎÀ C¸¢x, £›¢xøμUP¨£mh 
ÁiÁzvÀ J¸ {ÖÁÚzvß C¸¨¦{ø»U SÔ¨ø£z 
u¯õ›UPÄ® ÁoP |Øö£¯º ¹.1,50,000; •u½kPÒ 
¹.2,00,000; £[S ‰»uÚ® ¹.5,00,000; øP°¸¨¦ 
¹.1,10,000; £zvμ[PÎß ¤Ÿª¯® ¹.15,000; Bμ®£ 
ö\»ÄPÒ ¹.10,000; C»õ£® ©ØÖ® CÇ¨¦ A/c (Cr) 
¹.25,000; Phß £zvμ[PÒ ¹.2,50,000.  ©ØÓ 
{ø»¯õÚ ö\õzxUPÒ ¹.4,70,000; £[S ¹.80,000; 
PhÚõÎPÒ ¹.60,000; Á[Q C¸¨¦ ¹.30,000; 
£õxPõ¨£ØÓ Phß ¹.65,000; £À÷ÁÖ Phß 
ÁÇ[S£ÁºPÒ ¹.35,000. 
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14. (a) ABC Company Ltd. passed resolution and got Court 
permission for the reduction of its share capital by 
Rs.5,00,000 for the purposes mentioned as under: 
To write off the debit balances of P & L a/c of 
Rs.2,10,000. (i) To reduce the value of Plant and 
Machinery by Rs.90,000 and goodwill Rs.40,000.  
(ii) To reduce the value of investments by Rs.80,000. 
The reduction was made by converting 50,000 
preference shares of Rs.20 each fully paid to the 
same number of preference shares of Rs. 15 each 
fully paid and by converting 50,000 equity shares of 
Rs.20 each on which Rs.15 is paid up into 50,000 
equity shares of Rs.10 each fully paid up. Pass 
journal entries to record the share capital reduction. 

  H¤] P®ö£Û ¼ªöhm wº©õÚ® {øÓ÷ÁØÔ, Auß 
£[P ‰»uÚzøu SøÓUP }v©ßÓ AÝ©vø¯¨ 
ö£ØÓx.  R÷Ç SÔ¨¤h¨£mkÒÍ ÷|õUP[PÐUPõP 
¹.5,00,000: P&L A/c Cß öh¤m {¾øÁPøÍ 
GÊxÁuØS.  ¹.2,10,000.  (i) Bø» ©ØÖ® 
C¯¢vμ[PÎß ©v¨ø£U SøÓUP ¹.90,000 ©ØÖ® 
ÁoP |Øö£¯º ‰»® ¹.40,000. (ii) •u½kPÎß 
©v¨ø£ ¹.80,000.  50,000 •ßÝ›ø©¨ £[SPøÍ.  
A÷u GsoUøP°»õÚ •ßÝ›ø©¨ £[SPÐUS 
JÆöÁõßÖ® ¹.20 •Êø©¯õP ö\¾zu¨£mhx.  
¹.15 JÆöÁõßÖ® •Êø©¯õP ö\¾zu¨£mk 
50,000 •ßÝ›ø©¨ £[SPøÍ ©õØÖÁuß ‰»® 
¹.20 JÆöÁõßÖ® ¹.15 ¹£õ´ 50,000 
•ßÝ›ø©¨ £[SPÍõP ö\¾zu¨£kQÓx.  
JÆöÁõßÖ® ¹.10 •Êø©¯õP ö\¾zu¨£mhx.  
£[S ‰»uÚU SøÓ¨ø£¨ £vÄ ö\´¯ 
SÔ¨÷£kPøÍ u¸P. 

Or 

 (b) What do you understand by ‘Intrinsic value’?  How 
is it computed? 

  ‘EÒ ©v¨¦’ Gß£uß ‰»® }[PÒ GßÚ ¦›¢x 
öPõÒQÕºPÒ?  Cx GÆÁõÖ PnUQh¨£kQÓx? 
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15.  (a) Enumerate the special features of compulsory 
winding up? 

  Pmhõ¯ {ÖÁÚ Pø»¨¤ß ]Ó¨¦ A®\[PøÍU 
SÔ¨¤kP. 

Or 

 (b) From the following particulars, related to a 
liquidated company, calculate the amount of 
unsecured creditors and preferential creditors: The 
creditors other than secured creditors of a 
liquidated company were:  

Trade creditors 1,42,200 
Provident fund of workers 11,000 
Gas Board for gas supplied 420 
Dues to city corporation for Local takes 10,000 
Salary of Clerk for six months 30,000 
Salary of Peon for four months 6,000 
Director’s fees for four months 8,000 
Income Tax due 10,000 
Compensation under workmen’s compensation act 9,000 

  J¸ Pø»UP¨£mh {ÖÁÚzxhß öuõhº¦øh¯ 
¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, £õxPõ¨£ØÓ Phß 
ÁÇ[S|ºPÒ ©ØÖ® •ßÝ›ø©U PhÚõÎPÎß 
öuõøPø¯U PnUQk: Pø»UP¨£mh {ÖÁÚzvß 
£õxPõ¨£õÚ PhÚõÎPøÍz uÂμ ©ØÓ Phß 
ÁÇ[S|ºPÒ: 

   
Â¯õ£õμ Phß öPõkzuÁºPÒ 1,42,200 
öuõÈ»õÍº Á¸[Põ» øÁ¨¦ {v 11,000 
G›Áõ² Â{÷¯õPzvØPõÚ G›Áõ² Áõ›¯® 420 
EÒÑº |hÁiUøPPÐUPõP |Pμ ©õ|Pμõm]US 
ö\¾zu ÷Ási¯ £õUQPÒ 

10,000 

GÊzuºUQØS BÖ ©õu \®£Í® 30,000 
|õßS ©õu[PÐUS ¤³ß \®£Í® 6,000 
|õßS ©õu[PÐUS C¯USÚ›ß Pmhn® 8,000 
Á¸©õÚ Á› ö\¾zu ÷Ásk® 10,000 
öuõÈ»õÍº CÇ¨¥k \mhzvß RÌ CÇ¨¥k 9,000 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. X company issued 10,000 equity shares of 10 each 
payable as under: 

 On application Rs.2 

 On allotment Rs.4 

 On first call Rs.2 

 On second and final call Rs.2 

 Applications were received for 30,000 shares Applications 
for 10,000 shares were rejected and allotment was made 
Proportionately towards remaining applications and the 
excess application money is adjusted towards allotment 
money. The directors made both the calls and the all the 
amount were received except the final call on 600 shares 
which were subsequently forfeited. Later 400 forfeited 
shares were reissued as fully paid by receiving Rs.7 per 
share. Give journal entries. 

 X {ÖÁÚ® 10,000 •ßÝ›ø©¨ £[SPøÍ ÁÇ[Q¯x: 
JÆöÁõßÖ® ¹.10 ö\¾zu ÷Ásk®:  

Âsn¨£zvÀ ¹.2 

JxURmiÀ ¹.4 

•uÀ AøÇ¨¤À ¹.2 

CμshõÁx ©ØÖ® CÖv AøÇ¨¤À ¹.2 

30,000 £[SPÐUS Âsn¨£[PÒ ö£Ó¨£mhÚ.  10,000 
£[SPÐUPõÚ Âsn¨£[PÒ {μõP›UP¨£mhÚ, 
«u•ÒÍ Âsn¨£[PÐUS ÂQuõ\õμ¨£i JxURk 
ö\´¯¨£mhx ©ØÖ® AvP¨£i¯õÚ Âsn¨£¨ £n® 
JxURk £n©õP \› ö\´¯¨£mhx.  C¯US|ºPÒ Cμsk 
AøÇ¨¦PøÍ²® ö\´uõºPÒ ©ØÖ® 600 £[SPÎÀ CÖv 
AøÇ¨ø£z uÂμ AøÚzxz öuõøP²® ö£Ó¨£mhx, 
AøÁ ¤ßÚº £Ô•uÀ ö\´¯¨£mhÚ.  ¤ßÚº £Ô•uÀ 
ö\´¯¨£mh 400 £[SPÒ J¸ £[SUS ¹.7 ö£ØÖ 
•Êø©¯õP ö\¾zu¨£mhuõP «sk® öÁÎ°h¨£mhx.  
SÔ¨÷£kPøÍ u¸P. 
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17. A company was incorporated on 1st May 1984 acquiring 
the business of a sole trader with effect from 1st January 
1984. The accounts of the company were closed for the 
first time on 30th September 1984, disclosing a gross 
profit of Rs.1,68,000. The establishment expenses were 
Rs.42,660, director’s fees Rs.3,000 per month, preliminary 
expenses written off Rs.4,000, rent upto June, 1984 was 
Rs.300 per month which was thereafter increased to 
Rs.750 per month. Salary to the manager was at Rs.1,500 
per month who was appointed a director at the time of 
incorporation of the company. Prepare a statement 
showing profits prior and subsequent to incorporation  
assuming that the net sales were Rs.24,60,000, the 
monthly average of which for the first four months of 
1984 was half of that of the remaining period. 

 J¸ {ÖÁÚ® 1 ÷© 1984 AßÖ J¸ uÛ ÁoP›ß 
ÁoPzøu 1 áÚÁ› 1984 •uÀ A©¾US öPõsk 
øP¯P¨£kzu¨£mhx.  {ÖÁÚzvß PnUSPÒ 
•uß•øÓ¯õP 30 ö\¨h®£º 1984 AßÖ ‰h¨£mhx, 
Cuß ‰»® ö©õzu »õ£® ¹.1,68,000.  {ÖÁÚ ö\»ÄPÒ 
¹.42,660, C¯US|ºPÒ Pmhn® ¹. ©õu® 3,000, §ºÁõ[P 
ö\»ÄPÒ uÒÐ£i ¹.4,000, áúß, 1984 Áøμ ÁõhøP  
¹.300 ©õu® 750 ¹£õ¯õP E¯ºzu¨£mhx.  ©õu® 
÷©»õÍ¸US \®£Í® ©õu® ¹.1,500.  {ÖÁÚ® 
CønUP¨£mh ÷|μzvÀ C¯US|μõP {¯ªUP¨£mhõº.    
{ÖÁÚzvß {Pμ ÂØ£øÚ ¹.24,60,000, Cuß ©õuõ¢vμ 
\μõ\› 1984 Cß •uÀ |õßS ©õu[PÎÀ «u•ÒÍ 
Põ»zvß £õv¯õP C¸¢ux.  CuøÚ öPõsk 
Cøn¨¤ØS •¢øu¯ ©ØÖ® öuõhº¢x Á¸® 
BskUPõÚ C»õ£zvøÚ TÖP. 

18. The following Trial Balance of Nallis Ltd, as at 30th 
Dec.1998 is given to you: 

Debits  Rs. Credits Rs. 
Stock (1.1.1998) 80,000 8,000 equity shares 

of Rs.100 each, Rs.75 
paid 

6,00,000

Bank 17,600 6% debentures 2,00,000
Patents 60,000 Sundry creditors 1,00,000
Calls-in-arrears 20,000 General reserve 80,000
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Debits  Rs. Credits Rs. 
Returns inwards 30,000 Sales 10,00,000
Purchases 7,72,000 Returns outward 20,000
Wages 1,08,000 P & L A/c (Cr) 12,000
Insurance 
prepaid 

400  

Bills receivable 30,000  
Sundry debtors 80,000  
Discount on issue 
of debentures 

10,000  

Plant and 
Machinery 

4,00,000  

Land and 
Building 

3,00,000  

Insurance 4,000  
General expenses 40,000  
Establishment 
expenses 

60,000  

 20,12,000  20,12,000

 Additional information: 

 (a) The value of stock on 31st Dec. 1998 was Rs.74,000 

 (b) Outstanding wages totaled Rs.10,000 

 (c) A provision 5% is to be created on sundry debtors for 
doubtful debts. 

 (d) Depreciate patents @10% and Plant and Machinery 
@7% and on Land and Buildings @4%. 

 You are required to prepare Statement of Profit and Loss 
for the year ended 31.12.1998 and Balance Sheet as on 
that date. 
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 30 i\®£º 1998 Cß £i, |À¼ì ¼ªöhmiß ¤ßÁ¸® 
C¸¨¦ {ø» SÔ¨¦ öPõkUP¨£mkÒÍx. 

£ØÖPÒ  ¹. ÁμÄPÒ ¹. 

\μUQ¸¨¦ (1.1.1998) 80,000 8,000 •ßÝ›ø©¨ 
£[SPÒ 
JÆöÁõßÖ® ¹.100, 
¹.75 ö\¾zu¨£mhx

6,00,000

Á[Q 17,600 6% PhÜmk 
£zvμ[PÒ 

2,00,000

Põ¨¦›ø©PÒ 60,000 PhÜ¢÷uõº 1,00,000

AøÇ¨¦PÒ&{¾øÁz 
öuõøP 

20,000 ö£õx C¸¨¦ 80,000

ÂØ£øÚ v¸¨£® 30,000 ÂØ£øÚ 10,00,000

öPõÒ•uÀ 7,72,000 öPõÒ•uÀ v¸¨£® 20,000

T¼PÒ 1,08,000 C»õ£ |èh PnUS 
(ÁμÄ) 

12,000

•ß Tmi ö\¾zv¯ 
Põ¨¥k 

400  

ö£ÓzuUP ¤ÀPÒ 30,000  

£À÷ÁÖ PhÚõÎPÒ 80,000  

Phß £zvμ[PÎß 
öÁÎ±miÀ 
uÒÐ£i 

10,000  

Bø» ©ØÖ® 
C¯¢vμ[PÒ 

4,00,000  

{»® ©ØÖ® 
Pmih[PÒ 

3,00,000  

Põ¨¥k 4,000  

ö£õx ö\»ÄPÒ 40,000  

ìuõ£Ú ö\»ÄPÒ 60,000  

 20,12,000  20,12,000
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 TkuÀ uPÁÀ: 

 (A) 31 i\®£º 1998 AßÖ \μUQ¸¨¦ ©v¨¦ ¹.74,000 

 (B) {¾øÁ°À EÒÍ Fv¯[PÒ ö©õzu® ¹.10,000 

 (C) \¢÷uPzvØQh©õÚ PhßPÐUS 5% JxURk 
E¸ÁõUP¨£h ÷Ásk®. 

 (D) Põ¨¦›ø©PÒ @10% ©ØÖ® Bø» ©ØÖ® 
C¯¢vμ[PÒ @7% ©ØÖ® {»® ©ØÖ® Pmih[PÒ 
@4%. 

 31.12.1998 CÀ •iÁøh¢u BsiØPõÚ C»õ£® ©ØÖ® 
|èh AÔUøP ©ØÖ® A¢u ÷uv°ß£i C¸¨¦{ø» 
AÔUøPø¯ }[PÒ u¯õ›UP ÷Ásk®.   

19. Distinction between Amalgamation and External 
Reconstruction with suitable examples. 

 ö£õ¸zu©õÚ GkzxUPõmkPÐhß öuõÈÀ Cøn¨¦ 
©ØÖ® öÁÎ¨¦Ó ©Ö^μø©¨¦ BQ¯ÁØÖUS 
Cøh÷¯¯õÚ ÷ÁÖ£õk u¸P. 

20. Give Proforma of statement of affairs and deficiency 
account with imaginary figures. 

 PØ£øÚ ¦ÒÎÂÁμ[PÐhß ÂÁPõμ AÔUøP ©ØÖ® 
£ØÓõUSøÓ PnUQß AÔUøPø¯ ÁÇ[PÄ®. 

  
———————— 
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Commerce with Computer Application 

INCOME TAX – LAW AND PRACTICE – I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define Total Income. 

 ö©õzu Á¸©õÚzøu Áøμ¯ÖUP. 

2. Who is an ordinary resident? 

 J¸ \õuõμn Si°¸¨£õÍº ¯õº? 

3. What is meant by pension? 

 K´Åv¯® GßÓõÀ GßÚ? 

4. Explain the term Gratuity. 

 £oUöPõøh GßÓ ö\õÀø» ÂÍUSP. 

5. Define ‘Annual Value’. 

 ‘Bsk ©v¨¦’ Áøμ¯ÖUP. 

6. Define ‘Gross Annual Value’. 

 ‘ö©õzu Á¸hõ¢vμ ©v¨¦’ Gß£øu Áøμ¯ÖUP. 

Sub. Code 
7BCC5C2 
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7. Write short note on Tax Free Securities. 

 Á› CÀ»õu £zvμ[PÒ £ØÔ¯ ]Ö SÔ¨ø£ GÊuÄ®. 

8. What is casual income? 

 \õuõμn Á¸©õÚ® GßÓõÀ GßÚ? 

9. What are ‘No limit deduction’? 

 ‘Áμ®¦ Â»US CÀø»’ GßÓõÀ GßÚ? 

10. Write short note “section 80E”. 

 “¤›Ä 80E” GßÓ ]Ö SÔ¨ø£ GÊuÄ®. 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Write the difference between Capital receipt and 
revenue receipts. 

  ‰»uÚa μ^xUS® Á¸Áõ´ μ^xUS® EÒÍ 
Âzv¯õ\zøu GÊxP. 

Or 

 (b) Write the difference between Capital Expenditure 
and revenue Expenditure. 

  ‰»uÚa ö\»ÄUS® Á¸Áõ´a ö\»ÄUS® EÒÍ 
Âzv¯õ\zøu GÊuÄ®. 

12. (a) What are the various allowances generally paid to 
employees? 

  ö£õxÁõP FÈ¯ºPÐUS ÁÇ[P¨£k® £À÷ÁÖ 
öPõk¨£ÚÄPÒ GßÝ? 

Or 

 (b) Discuss the deduction allowable under the head 
“Salaries”. 

  “\®£Í[PÒ” GßÓ uø»¨¤ß RÌ AÝ©vUP¨£k® 
Â»US £ØÔ ÂÁõvUP. 
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13. (a) How Annual Value of Let-out house is determined? 

  ÁõhøP¯À»õ ÃmiØS Á¸hõ¢vμ ©v¨¦ GÆÁõÖ 
wº©õÛUP¨£kQÓx? 

Or 

 (b) Explain the method of computing income from 
business. 

  ÁoPzvß Á¸©õÚzøu PnUQk® •øÓø¯ 
ÂÍUSP. 

14. (a) Mr. K received the following incomes during  
2022-23. Compute under the head income from 
other sources separately for each case : 

Item in A  Rs. 

(i) Winning from Sikkim lottery received 1,05,000

(ii) Winning from Horse race (Amount won) 2,000

 Winning from Crossword Puzzle 4,000

Item in B  

(i) Winning from lottery (amount won) 2,000

(ii) Winning from horse race received 56,000

  v¸. ÷P 2022&23 CÀ ¤ßÁ¸® Á¸©õÚzøu¨ 
ö£ØÓõº. JÆöÁõ¸ ÁÇUQØS® uÛzuÛ¯õP ¤Ó 
‰»[PÎ¼¸¢x Á¸® Á¸©õÚzvß RÌ 
PnUQhÄ®. 

A À EÒÍ 
E¸¨£i 

 ¹. 

(i) ]UQ® »õmh›°À öÁØÔ ö£ØÓÁº 1,05,000

(ii) Svøμ¨ £¢u¯zvÀ öÁßÓx (öÁØÔ ö£ØÓ 
öuõøP) 

2,000

 SÖUöPÊzx ¦vº ‰»® öÁØÔ 4,000

B À EÒÍ 
E¸¨£i 

 

(i) »õmh› ‰»® öÁßÓx (öÁØÔ ö£ØÓ öuõøP) 2,000

(ii) Svøμ¨ £¢u¯zvÀ öÁßÓx ¹£õ´ 56,000

Or 
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 (b) Mr. Senthil furnished the following incomes during 
2022-23. Compute taxable income under ‘other 
sources’. 

  Rs. 
(i) Winning from Tamilnadu state Lottery 1,80,000
(ii) Winning from Horse Race (Amount Won) 1,500
(iii) Winning from cross word puzzles 15,000
(iv) Winning from card games 20,000
(v) Winning from gambling and bettings 25,000

 Loss from card games 10,000
 Expenses on buying lottery tickets 500

  v¸. ö\¢vÀ 2022&23 CÀ ¤ßÁ¸® Á¸©õÚ[PøÍ 
ÁÇ[QÚõº. ¤Ó Buõμ[PÎß RÌ Á› ÂvUPUTi¯ 
Á¸©õÚzøuU PnUQk[PÒ. 

  ¹. 

(i) uªÌ|õk ©õ{» »õmh›°À C¸¢x öÁßÓx 1,80,000
(ii) Svøμ¨ £¢u¯zvÀ öÁßÓx (öÁßÓ öuõøP) 1,500
(iii) SÖUöPÊzx ¦vº ‰»® ö£ØÔ ö£ÖuÀ 15,000
(iv) ^mhõmh® ‰»® öÁØÔ ö£ÖuÀ 20,000
(v) `uõmh® ©ØÖ® £¢u¯® ‰»® öÁØÔ ö£ÖuÀ 25,000

 ^mhõmh® ‰»® CÇ¨¦ 10,000
 »õmh› ^mk Áõ[SÁuØPõÚ ö\»Ä 500

15.  (a) Mr. Sreenivasan, submits the following information, 
relevant for the previous year ending 31 March 
2023. 

 Rs. 
Income from business  
Business I 18,000 
Business II 30,000 (loss) 
Income from other sources 
Interest on securities 12,000 (Loss)
Bank interest 16,000 
Lottery Winnings 60,000 

Determine the net incomes for the AY 2023-24. 
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  v¸. ÿÛÁõ\ß, ©õºa 31, 2023 CÀ •iÁøh¢u 
•¢øu¯ BsiØPõÚ ¤ßÁ¸® uPÁø»a 
\©º¨¤UQÓõº. 

 ¹. 

Â¯õ£õμzvÀ Á¸©õÚ®  

ÁoP® I 18,000 

ÁoP®  II 30,000 (CÇ¨¦)

¤Ó ‰»[PÎ¼¸¢x Á¸©õÚ® 

£zvμ[PÒ «uõÚ Ámi 12,000 (CÇ¨¦)

Á[Q Ámi 16,000 
»õmh› öÁØÔ 60,000 

  AY 2023-24 UPõÚ {Pμ Á¸©õÚ[PøÍz 
wº©õÛUPÄ®. 

Or 

 (b) Calculate the deductions allowable u/s 80-d to an 
assessee having the following incomes for the  
A/Y 2023-24(Age-30 years) 

  Business income Rs 83,000 

  Interest on Debentures Rs. 49,000 

  Payment of medical insurance premium on own life 
Rs. 3,000 

  Preventive medical check-up of wife Rs. 4,500 

  An expenditure of Rs. 27,000 for medical purpose of 
his father who is 82 years old 

  A/Y 2023-24 (Á¯x & 30 Á¯x) US ¤ßÁ¸® 
Á¸©õÚ[PøÍU öPõsh ©v¨¥mhõÍ¸US u/s 80-d 
AÝ©vUP¨£k® Â»USPøÍU PnUQhÄ®. 

ÁoP Á¸©õÚ® ¹. 83,000 

  Phß £zvμ[PÒ «uõÚ Ámi ¹. 49,000 

  ©¸zxÁ Põ¨¥mk ¤Ÿª¯zøu ö\õ¢u ÁõÌÂÀ 
ö\¾zxuÀ ¹. 3,000 

  ©øÚÂUS uk¨¦ ©¸zxÁ¨ £›÷\õuøÚ ¹. 4,500 

  82 Á¯uõÚ AÁμx u¢øu°ß ©¸zxÁ ÷uøÁUPõP 
¹. 27,000 ö\»Ä 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following details, ascertain an income of  
Mrs. Selvi for the previous year 2022-23 she is (a) a 
resident (b) a not ordinarily resident (c) a non-resident. 

 (i) Salary received in India Rs. 2,00,000 

 (ii) Commission received in India for service rendered 
in Hongkong Rs. 4,00,000 

 (iii) Pension received in Indonesia rendered in India  
Rs. 1,50,000 

 (iv) House property income received in the UK for the 
house situated in India is Rs. 1,25,000 

 (v) Business income from manufacturing unit set up in 
India Rs. 20,000 

 (vi) Business income received in Singapore from a 
business controlled from India Rs. 40,000 

 (vii) Consultation fee received in Thailand from a 
professional controlled from India Rs. 60,000 

 (viii) Income earned in the US from a business set up and 
controlled from there Rs. 50,000 

 (xi) Profession income received in Austria from 
profession set up in Austria Rs. 40,000 

 (x) Pension received and earned in Japan Rs. 20,000 

 (xi) Interest on securities in UK, the government 
received in UK Rs. 50,000  

 (xii) Income of the year 2020 received in the West Indies 
and brought to India on 30.8.21 Rs. 60,000 

 (xiii) Salary earned and kept in Iran during the year 
2019-20 and brought to India during 2022-23 
Rs. 4,50,000 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 2022&23 B® BsiØPõÚ 
v¸©v ö\ÀÂ°ß Á¸©õÚzøuU PshÔ¯Ä®. AÁÒ  
(A) Á]¨£ÁμõP C¸¢uõÀ (B) \õuõμn©õP Á]UPõuÁº  
(C) Si²›ø© CÀ»õuÁº 

 (i) C¢v¯õÂÀ ö£Ó¨£k® \®£Í® ¹. 2,00,000 

 (ii) íõ[Põ[QÀ ÁÇ[P¨£mh ÷\øÁUPõP C¢v¯õÂÀ 
ö£ØÓ PÈÄ ¹. 4,00,000 

 (iii) C¢÷uõÛ]¯õÂÀ ö£Ó¨£mh K´Åv¯® C¢v¯õÂÀ 
ÁÇ[P¨£k® ¹. 1,50,000 

 (iv) C¢v¯õÂÀ Aø©¢xÒÍ ÃmiØS C[Q»õ¢vÀ 
ö£Ó¨£mh Ãmka ö\õzx Á¸©õÚ® ¹. 1,25,000 

 (v) C¢v¯õÂÀ {ÖÁ¨£mh EØ£zv A»S ‰»® ÁoP 
Á¸©õÚ® ¹. 20,000 

 (vi) C¢v¯õÂÀ C¸¢x Pmk¨£kzu¨£k® 
ÁoPzv¼¸¢x ][P¨§›À ö£Ó¨£mh ÁoP 
Á¸©õÚ® ¹. 40,000 

 (vii) C¢v¯õÂ¼¸¢x Pmk¨£kzu¨£k® J¸ 
{¦n›hª¸¢x uõ´»õ¢vÀ ö£Ó¨£mh B÷»õ\øÚU 
Pmhn® ¹. 60,000 

 (viii) Aö©›UPõÂÀ {ÖÁ¨£mh ÁoPzvß ‰»® 
Dmh¨£k® Á¸©õÚ® ©ØÖ® A[Q¸¢x 
Pmk¨£kzu¨£k® ¹. 50,000 

 (ix) Bìv›¯õÂÀ {ÖÁ¨£mh öuõÈ¼À C¸¢x 
Bìv›¯õÂÀ ö£Ó¨£mh öuõÈÀ Á¸©õÚ® ¹. 
40,000 

 (x) á¨£õÛÀ ö£Ó¨£mh K´Åv¯® ¹. 20,000 

 (xi) C[Q»õ¢vÀ £zvμ[PÒ «uõÚ Ámi, C[Q»õ¢vÀ 
Aμ\õ[Pz vmh® ¹. 50,000 ö£ØÓx 

 (xii) 2020 B® Bsiß Á¸©õÚ® ÷©ØQ¢v¯z wÄPÎÀ 
ö£Ó¨£mk 30.8.2021 AßÖ C¢v¯õÂØSU 
öPõskÁμ¨£mhx ¹. 60,000 

 (xiii) 2019&20 B® BsiÀ DμõÛÀ \®£õvzu \®£Í® 
©ØÖ® 2022&23 CÀ C¢v¯õÂØS öPõsk 
Áμ¨£mhx ¹. 4,50,000 
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17. Compute the Gross salary of Mr. X for the assessment 
Year 2023-24. 

 Salary of Rs. 15,000 per month 

 Dearness allowance Rs. 1250 per month. 

 Entertainment allowance of Rs. 1000 per month. 

 Employer’s and employee’s contribution to RPF  
Rs. 24,000 each  

 Interest from PF @ 9.5%  per annum Rs. 19,000 

 City compensatory allowances are Rs. 200 per month.  

 Medical allowances Rs. 10,000 

 He has been provided with the facility of an unfurnished 
house by the employer in a town (population less than  
10 lakhs) for which the employer charge Rs. 500 per 
month. The fair rent of the house is Rs : 30,000 per 
annum. The house is owned by the employer. The 
employer has employed him as a sweeper for Rs. 200 per 
month and a servant for Rs. 750 per month. Compute 
taxable income under the head ‘salary’ for the  
AY 2023-24. 

 2023&24 B® BsiØPõÚ Mr. X Cß ö©õzu \®£ÍzøuU 
PnUQkP. 

©õu® ¹. 15,000 \®£Í® 

 APÂø»¨£i ©õu® ¹. 1,250 

 ö£õÊx÷£õUS öPõk¨£ÚÄPÒ ©õu® ¹. 1,000 

 RPF US •u»õÎ ©ØÖ® £o¯õÍ›ß £[PÎ¨¦ u»õ ¹. 
24,000 

PF C¼¸¢x Ámi @ 9.5% BskUS ¹. 19,000 

 |Pμ CÇ¨¥mk öPõk¨£ÚÄPÒ ©õu® ¹. 200 

 ©¸zxÁ öPõk¨£ÚÄPÒ ¹. 10,000 
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 AÁ¸US J¸ F›À (10 »m\zxUS® SøÓÁõÚ ©UPÒ 
öuõøP) ÷Áø» ÁÇ[S£ÁμõÀ Á\v°À»õu Ãmiß Á\v 
ÁÇ[P¨£mkÒÍx. AuØS •u»õÎ ©õu® ¹. 500 
Á`¼UQÓõº. A¢u Ãmiß {¯õ¯©õÚ ÁõhøP BskUS 
¹. 30,000. Ãk •u»õÎUS ö\õ¢u©õÚx. ©õu® ¹. 200 
US x¨¦μÄ¨ £o¯õÍμõPÄ®, ©õu® ¹. 750 US 
÷Áø»UPõμμõPÄ® £o¯©ºzv²ÒÍõº •u»õÎ  
AY 2023-24 UPõÚ ‘\®£Í®’ GßÓ uø»¨¤ß RÌ Á› 
ÂvUPUTi¯ Á¸©õÚzøuU PnUQkP. 

18. Mr. Landlord is the owner of two houses. In respect of 
these he has furnished the following particulars : 

Particulars House A House B 

Date of completion of construction 31-3-1996 1-7-2000

Municipal rental value 3,60,000 6,00,000

Actual rent received 3,00,000 60,000p.m

Municipal taxes paid 36,000 30,000 (due)

Ground rent 1,000 7,800

Interest on loan taken for construction 50,000 1,82,000

Compute his income from house property for the 
assessment year 2022-23. Out of the municipal taxes of 
House A Rs. 18,000 are paid by the tenant. 

 v¸. {» E›ø©¯õÍº Cμsk ÃkPÎß E›ø©¯õÍº. 
CøÁ öuõhº£õP AÁº ¤ßÁ¸® ÂÁμ[PøÍ 
AÎzxÒÍõº. 

Â£μ® Ãk A Ãk B 

Pmk©õÚ® •i¢u ÷uv 31-3-1996 1-7-2000

|Pμõm] ÁõhøP ©v¨¦ 3,60,000 6,00,000

Esø©¯õÚ ÁõhøP Qøhzux 3,00,000 60,000p.m

|Pμõm] Á› ö\¾zu¨£mhx 36,000 30,000 (due)

uøμ ÁõhøP 1,000 7,800

Pmk©õÚzvØPõP Áõ[Q¯ PhÝUPõÚ Ámi 50,000 1,82,000

 2022&23 B® BsiØPõÚ Ãmka ö\õzv¼¸¢x AÁμx 
Á¸©õÚzøuU PnUQkP. Ãk A Cß |Pμõm] Á›PÎÀ  
¹. 18,000 ÁõhøPuõμμõÀ ö\¾zu¨£kQÓx. 
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19. The following is the profit and loss account of Mr. X for 

the year ended on 31-3-2023. Compute his taxable income 

for the assessment year 2023-24. 

Particulars Amount Particulars Amount 

To opening stock 15,000 By sales 80,000

To purchase 40,000 By closing stock 20,000

To wages 20,000 By gift from father 18,000

To rent 6,000 By sale of motor car 9,000

To repair to motor car 3,000 By income tax refund 3,000

To interest on capital 3,000  

To medical expenses 3,000  

To general expenses 10,000  

To depreciation on motor car 3,000  

To advance income tax paid 1,000  

To profit for the year 26,000  

Total 1,30,000 Total 1,30,000

Following further information 

 (a) Mr. X carries on his business from rented premises 

at Delhi half of which is used as his residence. 

 (b) Mr. X bought a car during the year for Rs. 20,000. 

He charged depreciation on the value of car. The car 

was sold during the year for Rs. 9,000. The use of 

the car was 3/4th for the business and 1/4th for 

personal purpose. 
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 31.3.2023 AßÖ •iÁøh¢u BsiØPõÚ Mr. X Cß 
»õ£ |èhU PnUS ¤ßÁ¸©õÖ. 2023&24 ©v¨¥mk 
BsiØPõÚ AÁμx Á›US›¯ Á¸©õÚzøuU 
PnUQk[PÒ. 

Â£μ® öuõøP Â£μ® öuõøP 

öuõhUPa\μUQ¸¨¦ 15,000 ÂØ£øÚ 80,000

öPõÒ•uÀ 40,000 CÖv \μUQ¸¨¦ 20,000

T¼ 20,000 u¢øu°h® ö£ØÓ £›_ 18,000

ÁõhøP 6,000 ÷©õmhº Põº ÂØ£øÚ 9,000

÷©õmhº \›£õº¨¦ 3,000 Á¸©õÚ Á› v¸¨£ 
QøhzuÀ 

3,000

•uÀ «x Ámi 3,000  

©¸zxÁ ö\»Ä 3,000  

ö£õx ö\»Ä 10,000  

÷©õmhº Põº ÷u´©õÚ® 3,000  

Á¸©õÚÁ› •ßTmi 
ö\¾zv¯x 

1,000  

|h¨£õsiß C»õ£® 26,000  

ö©õzu® 1,30,000 ö©õzu® 1,30,000

 ÷©»vP uPÁÀPøÍz öuõhº¢x 

 (A) Mr. X uÚx öuõÈø» öhÀ¼°À ÁõhøPUS 
Gkzxa ö\ÀQÓõº. AvÀ £õv AÁμx Si°¸¨£õP 
£¯ß£kzu¨£kQÓx. 

 (B) Mr. X A¢u BsiÀ ¹. 20,000 US J¸ Põøμ 
Áõ[QÚõº. Põ›ß ©v¨¤À ÷u´©õÚ® 
Á`¼zxÒÍõº. A¢u BsiÀ Põº ¹. 9,000 US 
ÂØP¨£mhx. Põ›ß £¯ß£õk ÁoPzvØPõP 3/4 
BPÄ® uÛ¨£mh ÷|õUPzvØPõP 1/4 Áx £[PõPÄ® 
C¸¢ux. 

20. What are the losses which could be carried forward and 
set-off? 

 •ß÷ÚõUQ Gkzxa ö\À»UTi¯ CÇ¨¦PÒ GßÚ? 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Operating System. 

 C¯UP •øÓø© Áøμ¯ÖUP. 

2. Give any two advantages of System Software. 

 PoÛ ö©ßö£õ¸Îß |ßø©PÒ H÷uÝ® Cμsk TÖP. 

3. What is meant by inter-process communication? 

 Cøh{ø» ö\¯À •øÓ GßÓõÀ GßÚ? 

4. What is a Deadlock? 

 •hUP® GßÓõÀ GßÚ? 

5. Define Dynamic Memory. 

 \Uv Áõ´¢u {øÚÁP® & Áøμ¯ÖUP. 

6. State the meaning of the segmentation. 

 ¤›zuÀ Gß£uß ö£õ¸Ò TÖP. 
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7. Narrate the term File. 

 ÷Põ¨¦ Gß£øu ÂÁ›. 

8. State the meaning of reliability. 

 |®£Pzußø©°ß ö£õ¸Ò TÖP. 

9. List out any two output Devices. 

 öÁÎ±mk P¸ÂPÒ H÷uÝ® Cμsk £mi¯¼kP. 

10. Write a short note on Malware. 

 ©õÀ÷Áº £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) Enumerate the evaluation of the operating system. 

  C¯US •øÓø©°ß £›nõ© ÁÍºa] SÔzx 
ÂÍUSP. 

Or 

 (b) Write a short on a multiprocessor. 

  £» ö\¯»õUP® £ØÔ J¸ ]ÖSÔ¨¦ ÁøμP. 

12. (a) Explain the various types of scheduling. 

  AmhÁøn°ku¼ß öÁÆ÷ÁÖ ÁøPPøÍ 
ÂÍUSP. 

Or 

 (b) Write a short note on deadlock Prevention. 

  •hUP® ukUS® •øÓPÒ £ØÔ J¸ ]ÖSÔ¨¦ 
ÁøμP. 
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13. (a) Explain the various function of memory 
management. 

  {øÚÄ ÷©»õsø© ö\¯À£õkPøÍ £ØÔ ÂÍUSP. 

Or 

 (b) How does work virtual memory? 

  ö©´ø© {øÚÄ GÆÁõÖ ö\¯À£kQÓx? 

14. (a) Enumerate the various types of File operations. 

  ÷Põ¨¦ ö\¯À•øÓ°ß öÁÆ÷ÁÖ ÁøPPøÍ 
ÂÍUSP. 

Or 

 (b) Write a short note on file security and protection 

  ÷Põ¨¦ £õxPõ¨¦ ©ØÖ® uk¨¦ £ØÔ ]Ö SÔ¨¦ 
ÁøμP. 

15.  (a) Elaborated on the Virus. 

  øÁμì £ØÔ Â›ÁõP TÖ. 

Or 

 (b) Discuss the mechanisms of protecting software. 

  ö©ßö£õ¸Ò £õxPõ¨¦ |øh•øÓPÒ £ØÔ ÂÁõv. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. List out the various types of the operating system. 

 öÁÆ÷ÁÖ ÁøP¯õÚ C¯[S•øÓPøÍ £mi¯¼kP. 

17. How do avoid the deadlocks? 

 •hUPzøu GÆÁõÖ uÂºUP»õ®?  
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18. Distinguish between logical and physical memory. 

 uºUP {øÚÁP® ©ØÖ® \Ÿμ {øÚÁPzvØSªøh÷¯ EÒÍ 
÷ÁÖ£õkPÒ TÖP. 

19. Explain the various types of file storage methods and file 
reliability. 

 öÁÆ÷ÁÖ ÁøP¯õÚ ÷\ª¨¦ •øÓPÒ ©ØÖ® ÷Põ¨¦ 
|®£Pzußø©ø¯ ÂÍUSP 

20. List the input and output hardware devices. 

 EÒÏk ©ØÖ® öÁÎ±k Áßö£õ¸ÒPøÍ £mi¯¼kP. 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is WWW? 

 WWW GßÓõÀ GßÚ? 

2. What do you mean by URL? 

 URL GßÓõÀ GßÚ? 

3. What do you mean by netscape navigator? 

 ö|hì÷P¨ ÷|Â÷Pmhº GßÓõÀ GßÚ? 

4. What do you mean by modem? 

 ÷©õh® GßÓõÀ GßÚ? 

5. What is email? 

 ªßÚg\À GßÓõÀ GßÚ? 

6. What do you mean by on line services? 

 Bßø»ß ÷\øÁPÒ GßÓõÀ GßÚ? 
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7. What do you mean by software? 

 ö©ßö£õ¸Ò GßÓõÀ GßÚ? 

8. What is HTTP? 

 HTTP GßÓõÀ GßÚ? 

9. What do you mean by HTML? 

 HTML Gß£uß Aºzu® GßÚ? 

10. What is hyperlink? 

 øí¨£º¼[U GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) What is multimedia and how is it used on the web? 

  ©Ài«i¯õ GßÓõÀ GßÚ? Ax Cøn¯zvÀ 
GÆÁõÖ £¯ß£kzu¨£kQÓx? 

Or 

 (b) What is hypertext and CD-ROMs, and how are they 
related to online communications on the web? 

  øí£ºöhUìm ©ØÖ® CD- ROMs GßÓõÀ GßÚ? 
AøÁ Bßø»ß uPÁÀ öuõhº¦ ©ØÖ® 
Cøn¯zxhß GÆÁõÖ öuõhº¦øh¯x? 

12. (a) What are web browsers and how do they work, 
specifically Netscape Navigator? 

  Cøn¯ E»õÂPÒ GßÓõÀ GßÚ? AøÁ GÆÁõÖ 
÷Áø» ö\´QßÓÚ? SÔ¨£õP Netscape Navigator 
GÆÁõÖ ÷Áø» ö\´QÓx? 

Or 

 (b) What is web access and how do we connect to the 
internet? 

  Cøn¯ AqPÀ GßÓõÀ GßÚ? G¨£i 
Cøn¯uÍzxhß Cøu Cøn¨£x? 
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13. (a) How do we access and use electronic mail? 

  ªßÚq Ag\ø» GÆÁõÖ AqSÁx ©ØÖ® 
£¯ß£kzxÁx? 

Or 

 (b) What are mailing lists and how can they be used to 
find information on the internet? 

  Ag\À £mi¯ÀPÒ GßÓõÀ GßÚ? Cøn¯zvÀ 
uPÁÀPøÍU PshÔ¯ AÁØøÓ GÆÁõÖ 
£¯ß£kzu»õ®? 

14. (a) What is HTTPD and how can it be used to set up 
and manage a web server? 

  HTTPD  GßÓõÀ GßÚ? Cøn¯ ÷\øÁ¯Pzøu 
Aø©UPÄ® {ºÁQUPÄ® Aøu GÆÁõÖ 
£¯ß£kzu»õ®? 

Or 

 (b) What are some tips for managing a web server 
using Windows? 

  Âs÷hõøé¨ £¯ß£kzv Cøn¯ ÷\øÁ¯Pzøu 
{ºÁQ¨£uØPõÚ ]» SÔ¨¦PÒ ¯õøÁ? 

15.  (a) What are some common structural formatting 
elements in HTML? 

  HTML CÀ EÒÍ ]» ö£õxÁõÚ Pmhø©¨¦ 
ÁiÁø©¨¦ TÖPÒ ¯õøÁ? 

Or 

 (b) How can we use HTML to format hyperlinks and 
incorporate multimedia into our web pages? 

  øí¨£º¼[UPøÍ ÁiÁø©UP ©Ài«i¯õøÁ |©x 

Áø»¨£UP[PÎÀ CønUP HTML I GÆÁõÖ 
£¯ß£kzu»õ®?  
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What is hypertext and how has it revolutionized the way 
we navigate the internet? 

 Ax G¨£i |õ® Cøn¯zvÀ ÁÈ ö\¾zxÁvÀ ¦μm]ø¯ 
HØ£kzv²ÒÍx? 

17. What are the different web browsers available and how 
do they differ in terms of features and functionality? 

 öÁÆ÷ÁÖ Cøn¯ E»õÂPÒ GßöÚßÚ EÒÍÚ ©ØÖ® 
AøÁ A®\[PÒ ©ØÖ® ö\¯À£õmiß Ai¨£øh°À 
GÆÁõÖ ÷ÁÖ£kQßÓÚ? 

18. How can you access other parts of the Internet beyond 
just email and what are some common methods for doing 
so? 

 ªßÚg\ø»z uõsi Cøn¯zvß ¤Ó £SvPøÍ }[PÒ 
GÆÁõÖ AqP»õ®? AÆÁõÖ ö\´ÁuØPõÚ ]» 
ö£õxÁõÚ •øÓPÒ ¯õøÁ? 

19. What do you mean by web server software and how does 
web server software work? 

 Cøn¯ ÷\øÁ¯P ö©ßö£õ¸Ò GßÓõÀ GßÚ? Cøn¯ 
÷\øÁ¯P ö©ßö£õ¸Ò GÆÁõÖ ö\¯À£kQÓx? 

20. Discuss about Hypertext Markup Language and how is it 
used in web development? 

 øí¨£º öhUìm ©õºU A¨»õS÷Áä GßÓõÀ GßÚ? Ax 
Cøn¯ ÁÍºa]°À GÆÁõÖ £¯ß£kzu¨£kQÓx? 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define the term implicit cost. 

 ©øÓ•P ö\»Ä GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

2. What is fixed cost? 

 {ø»¯õÚ ö\»Ä GßÓõÀ GßÚ? 

3. What is a requisition for materials? 

 ö£õ¸mPÐUPõÚ ÷Põ›UøP GßÚ? 

4. What you mean by Last In Last Out? 

 »õìm Cß »õìm AÄm GßÖ }[PÒ Gøu ö\õÀQÕºPÒ? 

5. What are incentive schemes? 

 FUPz vmh[PÒ GßÓõÀ GßÚ? 

6. What do you mean by idle time? 

 ö\¯»ØÓ ÷|μ® GßÓõÀ GßÚ? 
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7. What is allocation? 
 JxURk GßÓõÀ GßÚ? 

8. What are administration overheads? 
 {ºÁõP ÷©À {ø»PÒ GßÓõÀ GßÚ? 

9. What is job costing? 
 ÷Áø» ö\»Ä GßÓõÀ GßÚ? 

10. What is process costing? 
 ö\¯À•øÓ ö\»Ä GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Find the Prime Cost, Works Cost, Cost of 
production, total Cost and profit from the following : 
Direct Materials Rs. 20,000; Direct Labour Rs. 
10,000; Factory Expenses Rs. 7,000; Administration 
Expenses Rs. 5,000; Selling Expenses Rs. 7,000 and 
Sales Rs. 60,000. 

  •ußø©a ö\»Ä, ÷Áø»a ö\»Ä, EØ£zva ö\»Ä, 
ö©õzua ö\»Ä ©ØÖ® ¤ßÁ¸ÁÚÁØÔ¼¸¢x »õ£® 
BQ¯ÁØøÓU PshÔ¯Ä®. ÷|μi¨ ö£õ¸mPÒ  
¹. 20,000, ÷|μi EøÇ¨¦ ¹. 10,000, öuõÈØ\õø» 
ö\»ÄPÒ ¹. 7,000, {ºÁõPa ö\»ÄPÒ ¹. 5,000, 
ÂØ£øÚa ö\»ÄPÒ ¹. 7,000 ©ØÖ® ÂØ£øÚ  
¹. 60,000. 

Or 

 (b) Calculate prime cost from the following information: 

  Opening stock of material Rs. 12,500 

  Purchase of raw material Rs. 75,000 

  Expenses incurred on raw material Rs. 5,000 

  Closing stock of raw material Rs. 22,500 

  Wages Rs. 47,600 and direct expenses Rs. 23,400. 
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  ¤ßÁ¸® uPÁ¼À C¸¢x •ußø© ö\»øÁU 

PnUQkP. 

  ö£õ¸Ò vÓ¨¦ C¸¨¦ ¹. 12,500 

  ‰»¨ö£õ¸Ò öPõÒ•uÀ ¹. 75,000 

  ‰»¨ö£õ¸ÐUPõÚ ö\»ÄPÒ ¹. 5,000 

  ‰»¨ö£õ¸Îß CÖv C¸¨¦ ¹. 22,500 

  T¼ ¹. 47,600 ©ØÖ® ÷|μi ö\»Ä ¹. 23,400. 

12. (a) From the following information you have to show 

the value of the inventory on hand on 30th April 

using the LIFO method : 

  April 01  Inventories on hand are 50 units at the 

rate of Rs. 2 and 100 units at the rate of 

Rs. 4.50 

  April 05  Purchased 100 units at Rs.1.80 

  April 06  10 units of inventories purchased on 

5th April at Rs. 1.80 are returned to 

supplier 

  April 10  80 units issued to factory 

  April 15 50 units issued to factory 

  April 20 20 units purchased at Rs. 1.50 

  April 25  70 units issued to factory 

  April 30  50 units purchased at Rs. 1.70 

  April 30  10 units returned to store out of units 

issued to factory on 25 April. 
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  ¤ßÁ¸® uPÁ¼¼¸¢x H¨μÀ 30 AßÖ LIFO 
•øÓø¯¨ £¯ß£kzv øP°À C¸US® \μUSPÎß 
©v¨ø£U Põmh ÷Ásk®. 

  H¨μÀ 01  øP°À C¸¨¦ C¸¨¦UPÒ ¹. 2 GßÓ 
ÂQuzvÀ 50 ³ÛmPÒ ©ØÖ® ¹. 4.50 
GßÓ ÂQuzvÀ 100 ³ÛmPÒ 

  H¨μÀ 05  ¹. 1.80&US 100 ³ÛmPÒ Áõ[P¨£mhx 
  H¨μÀ 06  H¨μÀ 5 B® ÷uv ¹. 1.80&US 

Áõ[P¨£mh 10 ³Ûm \μUSPÒ 
\¨øÍ¯¸USz v¸¨¤z uμ¨£mhÚ 

  H¨μÀ 10  öuõÈØ\õø»US 80 A»SPÒ 
ÁÇ[P¨£mhÚ 

  H¨μÀ 15 öuõÈØ\õø»US 50 A»SPÒ 
ÁÇ[P¨£mhÚ 

  H¨μÀ 20 20 ³ÛmPÒ ¹. 1.50&US Áõ[P¨£mhx 
  H¨μÀ 25  öuõÈØ\õø»US 70 A»SPÒ 

ÁÇ[P¨£mhÚ 
  H¨μÀ 30  50 ³ÛmPÒ ¹. 1.70&US Áõ[P¨£mhx 
  H¨μÀ 30  H¨μÀ 25 AßÖ öuõÈØ\õø»US 

ÁÇ[P¨£mh ³ÛmPÎÀ 10 ³ÛmPÒ 
«sk® ÷\ªUP¨£mhÚ. 

Or 

 (b) The following transactions took place in respect of 
material x during the month of January 2010 
1 Opening stock 50 tons at Rs. 1,000 per ton 

2 Issued 30 tons 

6 Received 60 tons at Rs. 1,100 per ton 

9 Issued 25 tons (Stock verification reveals loss of 
one ton) 

10 Received back from orders 10 tons (previously 
issued at Rs.990 per ton) 

11 Issued 40 tons 22 - Received 22 tons at  
Rs. 1,200 per ton 

31 Issued 33 tons  

   You are required to write up the stores ledger 
Account under the FIFO Method 
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  2010 áÚÁ› ©õuzvÀ ö£õ¸Ò x öuõhº£õP 
¤ßÁ¸® £›ÁºzuøÚPÒ |h¢uÚ 

1 öuõhUP C¸¨¦ 50 hß JßÖUS ¹. 1,000 

2 30 hß ÁÇ[P¨£mhx 

6 hß JßÖUS ¹. 1,100 GÚ 60 hß Qøhzux 

9 25 hßPÒ ÁÇ[P¨£mx (£[S \›£õº¨¦ J¸ 
hß CÇ¨ø£ öÁÎ¨£kzxQÓx) 

10 10 hß BºhºPÎÀ C¸¢x v¸®£¨ 
ö£Ó¨£mhx (•ß¦ hß JßÖUS ¹. 990 
ÁÇ[P¨£mhx) 

11 ÁÇ[P¨£mhx 40 hß 22 – hß JßÖUS 
¹. 1,200 GßÓ Âø»°À 22 hß Qøhzux 

31 33 hß ÁÇ[P¨£mhx 

   FIFO •øÓ°ß RÌ }[PÒ ì÷hõºì ö»máº 
PnUøP GÊu ÷Ásk®. 

13. (a) Explain the meaning and importance of job 
evaluation. 

  ÷Áø» ©v¨¥miß ö£õ¸Ò ©ØÖ® •UQ¯zxÁzøu 
ÂÍUSP.  

Or 

 (b) Explain the various incentive schemes. 

  £À÷ÁÖ FUPz vmh[PøÍ ÂÍUSP. 

14. (a) Explain about the allocation of fixed and variable 
overhead. 

  {ø»¯õÚ ©ØÖ® ©õÓUTi¯ ÷©À{ø» JxURk 
£ØÔ ÂÍUSP. 

Or 

 (b) Distinguish between work overhead and 
administration overhead. 

  £o ÷©À{ø» ©ØÖ® {ºÁõP ÷©À{ø» 
BQ¯ÁØÔUS Cøh÷¯ EÒÍ ÷ÁÖ£õmøh 
ÂÍUSP. 
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15. (a) From the following information, ascertain the work 
cost of Job No. 505. 

  The job was commenced on 10th January 2011 and 
completed on 1st Feb.2011. 

  Materials used were Rs. 2,400 and labour charges 
were Rs. 1,600. 

  Other details were as follows : 

  (i) Indirect labour cost in the factory amounted to 
Rs. 1,200 

  (ii) Machine X was used for 50 hours @ Rs. 20 per 
hour 

  (iii) Machine Z was used for 40 hours @ Rs. 22 per 
hour 

  ¤ßÁ¸® uPÁÀPÎÀ C¸¢x, ÷Áø» Gs. 505 Cß 
£oa ö\»øÁU PshÔ¯Ä®. 

  £o 10 áÚÁ› 2011 CÀ öuõh[P¨£mk 1 ¤¨μÁ› 
2011 AßÖ {øÓÁøh¢ux. £¯ß£kzv¯ 

ö£õ¸mPÒ ¹. 2,400 ©ØÖ® öuõÈ»õÍº Pmhn®  

¹. 1,600. 

  ©ØÓ ÂÁμ[PÒ ¤ßÁ¸©õÖ  : 

  (i) öuõÈØ\õø»°À ©øÓ•P öuõÈ»õÍº ö\»Ä 

¹. 1,200 

  (ii) ö©æß X 50 ©o÷|μ® @ J¸ ©o ÷|μzvØS 

¹. 20 £¯ß£kzu¨£mhx 

  (iii) ö©æß Z 40 ©o÷|μ® @ J¸ ©o ÷|μzvØS 

¹. 22 £¯ß£kzu¨£mhx. 

Or 
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 (b) Product X is obtained after it passes through  
three distinct processes. 2000 kg of materials at  
Rs. 5 per kg were issued to the first process. Direct 
wages amounted to Rs. 900 and production 
overhead incurred was Rs. 500. Normal loss is 
estimated at 10% of input. This wastage is sold at 
Rs. 3 per kg. The actual output is 1850 kg. Prepare 
process I A/c and Abnormal Gain / Abnormal loss 
A/c as the case may be. 

  u¯õ›¨¦ X BÚx ‰ßÖ öÁÆ÷ÁÖ 
ö\¯À•øÓPøÍ Ph¢x ö\ßÓ ¤ÓS ö£Ó¨£kQÓx. 
•uÀ ö\¯À•øÓUS J¸ Q÷»õ ¹. 5 GßÓ 
Âø»°À 2000 Q÷»õ ö£õ¸mPÒ ÁÇ[P¨£mhÚ. 
÷|μi Fv¯® ¹. 900 BPÄ®, EØ£zv ö\»Ä  
¹. 500 BPÄ® C¸¢ux. C¯À£õÚ CÇ¨¦ 
FÒÏmiÀ 10% GÚ ©v¨¤h¨£mkÒÍx. C¢u 
Âμ¯® Q÷»õ ¹. 3&US ÂØP¨£kQÓx. Esø©¯õÚ 
EØ£zv 1850 Q÷»õ. ö\¯À•øÓ I PnUS ©ØÖ® 
ÁÇUPzvØS ©õÓõP A\õuõμn Buõ¯® / A\õuõμn 
CÇ¨¦ PnUS BQ¯ÁØøÓz u¯õ›UPÄ®.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Define costing and explain its objectives and advantages. 

 ö\»øÁ Áøμ¯Özx Auß ÷|õUP[PÒ ©ØÖ® |ßø©PøÍ 
ÂÍUPÄ®. 

17. Calculate the minimum stock level, maximum stock level, 
re-ordering level and average stock level from the 
following information : 

 (a) Minimum consumption = 100 units per day 

 (b) Maximum consumption = 150 units per day 

 (c) Normal consumption = 120 units per day 

 (d) Re-order period = 10-15 days 

 (e) Re-order quantity = 1,500 units 

 (f) Normal re-order period is 12 days 
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 ¤ßÁ¸® uPÁÀPÎ¼¸¢x SøÓ¢u£m\ £[S {ø», 
AvP£m\ £[S {ø», ©Ö&Á›ø\¨£kzuÀ {ø» ©ØÖ® 
\μõ\› £[S {ø» BQ¯ÁØøÓU PnUQhÄ®. 

 (A) SøÓ¢u£m\ ~PºÄ = J¸ |õøÍUS 100 A»SPÒ 

 (B) AvP£m\ ~PºÄ = J¸ |õøÍUS 150 A»SPÒ 

 (C) \õuõμn ~PºÄ = J¸ |õøÍUS 120 A»SPÒ 

 (D) ©Ö Bºhº Põ»® = 10&15 |õmPÒ 

 (E) ©Ö Bºhº AÍÄ = 1,500 A»SPÒ 

 (F) \õuõμn ©Ö Bºhº Põ»® 12 |õmPÒ. 

18. Calculate the earnings of workers A and B under Straight 
Piece-rate System and Taylor’s Differential Piece-rate 
System form the following particulars. 

 Normal rate per hour = Rs. 1.80 

 Standard time per unit = 20 seconds 

 Differentials to be applied : 

 80 % of piece rate below standard 

 120% of piece rate at or above standard. 

 Worker A produces 1,300 units per day and worker B 
produces 1,500 units per day. 

 ìmøμm ¥ì&÷μm ]ìh® ©ØÖ® öh´»›ß iL£μßæ¯À 
¥ì&÷μm ]ìhzvß RÌ öuõÈ»õÍºPÎß A ©ØÖ® B 
Á¸Áõø¯U PnUQkÁx ¤ßÁ¸® ÂÁμ[PøÍ 
E¸ÁõUSQÓx. 

 J¸ ©o ÷|μzvØS \õuõμn Pmhn® = ¹. 1.80 

 J¸ ³ÛmkUPõÚ {ø»¯õÚ ÷|μ® = 20 ÂÚõiPÒ 

 £¯ß£kzu ÷Ási¯ ÷ÁÖ£õkPÒ : 

 xsk ÂQuzvÀ 80% uμzvØSU R÷Ç 

 120% xsk ÂQuzvÀ {ø»¯õÚ AÀ»x AuØS ÷©À 

 öuõÈ»õÎ A J¸ |õøÍUS 1,300 ³ÛmkPøÍ²®, 
öuõÈ»õÎ B J¸ |õøÍUS 1,500 ³ÛmPøÍ²® EØ£zv 
ö\´QÓõº. 



F–0982 

  

  9

19. What do you mean by accounting of overheads and 

explain the different basis of charging overheads. 

 ÷©À{ø»U PnUSPÒ Gß£uß ‰»® }[PÒ GøuU 

SÔ¨¤kQÕºPÒ ©ØÖ® ÷©À{ø»U Pmhn® 

Á`¼¨£uØPõÚ öÁÆ÷ÁÖ Ai¨£øhø¯ ÂÍUPÄ®. 

20. During January 2000 units were introduced into Process I 

the normal loss was estimated at 5% on input. At the end of 

the month, 1400 units had been produce and transferred to 

the next process, 460 units were uncompleted and 140 units 

had been scrapped. It was estimated that uncompleted 

units had reached a stage in production as follows : 

 Material 75% completed 

 Labout 50% completed 

 Overheads 50% completed 

 The cost of 20000 units was Rs. 5,800 Direct material 

introduced during the process Rs. 1,440 Direct  

wages Rs. 3,340 Production overheads incurred were  

Rs. 1,670 units and scrapped realized Re.1 each. Cost 

accounting page 88 units scrapped passed through the 

process, so were 100% completed as regards material, 

labour and overhead. Find out equivalent production, cost 

per unit and prepare the necessary accounts. 
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 áÚÁ› 2000 CÀ, ö\¯À•øÓ 1 CÀ A»SPÒ 

AÔ•P¨£kzu¨£mhÚ. C¯À£õÚ CÇ¨¦ EÒÏmiÀ 5% 

GÚ ©v¨£h¨£mhx. ©õu CÖv°À, 1,400 ³ÛmPÒ 

EØ£zv ö\´¯¨£mk, Akzu ö\¯À•øÓUS 

©õØÓ¨£mhÚ, 460 ³ÛmPÒ •iUP¨£hõ©À C¸¢uÚ 

©ØÖ® 140 ³ÛmPÒ APØÓ¨£mhÚ. •iUP¨£hõu 

A»SPÒ ¤ßÁ¸©õÖ EØ£zv°À J¸ Pmhzøu 

Gmi¯uõP ©v¨¤h¨£mhx: 

ö£õ¸Ò 75% •i¢ux 

 ÷Áø» 50% •i¢ux  

 ÷©À{ø»¨ £oPÒ 50% •i¢ux 

 20,000 ³ÛmPÎß Âø» ¹. 5,800 ö\¯À£õmiß ÷£õx 

AÔ•P¨£kzu¨£mh ÷|μi ö£õ¸Ò ¹. 1,440 ÷|μi 

Fv¯® ¹. 3,340 EØ£zv ö\»ÄPÒ ¹. 1,670 ³ÛmPÒ 

©ØÖ® ìQμõ¨ ö\´¯¨£mhøÁ JÆöÁõßÖ® ¹. 1 ö\»Ä 

PnUQ¯À £UP® 88 ìQμõ¨ ö\´¯¨£mh ³ÛmPÒ 

ö\¯À•øÓ ‰»® {øÓ÷ÁØÓ¨£mhÚ, GÚ÷Á ö£õ¸Ò, 

EøÇ¨¦ ©ØÖ® ÷©À{ø» GÚ 100% •iUP¨£mhx. 

\©©õÚ EØ£zv, J¸ ³Ûm ö\»Ä BQ¯ÁØøÓU 

PshÔ¢x ÷uøÁ¯õÚ PnUSPøÍz u¯õ›UPÄ®. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Distinguish between JDK and JVM. 

 ÷ái÷P ©ØÖ® ÷áÂG® Cøh÷¯ ÷ÁÖ£kzv £õºUPÄ®. 

2. List down the limitations of Java programming language. 

 áõÁõ {μ»õUP ö©õÈ°ß Áμ®¦PøÍ £mi¯¼hÄ®. 

3. State the use of static keyword. 

 static Áõºzøu°ß £¯ß£õmøhU SÔ¨¤hÄ®. 

4. List down relational operators in java. 

 áõÁõÂÀ öuõhº¦ SÔPøÍ £mi¯¼hÄ®. 

5. Write down the syntax to declare a class in Java. 

 áõÁõÂÀ J¸ CÚUSÊøÁ AÔÂUP öuõh›¯ø» 
GÊuÄ®. 

6. Define Constructor. 

 Constructor Áøμ¯ÖUPÄ®. 

Sub. Code 
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7. What are the stages in the life cycle of a thread? 

 J¸ threadß ÁõÌUøPa _ÇØ]°ß {ø»PÒ ¯õøÁ? 

8. List down some of the built in packages in java. 

 áõÁõÂÀ EÒÍ ö£õvPÎÀ ]»ÁØøÓ £mi¯¼kP. 

9. What are applets? 

 B¨ö»mkPÒ GßÓõÀ GßÚ? 

10. List any two methods and their syntax of graphic class. 

 QμõL¤U classß H÷uÝ® Cμsk •øÓPÒ ©ØÖ® 
öuõh›¯À BQ¯ÁØøÓ¨ £mi¯¼kP. 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) State the features of java. 

  áõÁõÂß A®\[PøÍU SÔ¨¤hÄ®. 

Or 

 (b) Write down the similarities between C++ and Java. 

  C++ ©ØÖ® áõÁõ Cøh÷¯ EÒÍ JØÖø©PøÍ 
GÊuÄ®. 

12. (a) State the primitive data types in java. 

  áõÁõÂÀ EÒÍ £Çø©¯õÚ uμÄ ÁøPPøÍU 
SÔ¨¤hÄ®. 

Or 

 (b) Write a program to implement the Fibonacci series 
using for loop control structure. 

  ¿¨ Pmk¨£õmk Pmhø©¨ø£¨ £¯ß£kzv 
Fibonacci öuõhøμ ö\¯À£kzu J¸ {μø» GÊuÄ®. 
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13. (a) Write a program to implement single level 
inheritance assuming suitable data. 

  ö£õ¸zu©õÚ uμøÁU P¸v JØøÓ {ø» 
£μ®£øμø¯a ö\¯À£kzu J¸ {μø» GÊuÄ®. 

Or 

 (b) Write down the differences between class and 
objects. 

  CÚUSÊ ©ØÖ® ö£õ¸ÒPÐUS Cøh÷¯ EÒÍ 
÷ÁÖ£õkPøÍ GÊxP. 

14. (a) Write a program to create two threads, one thread 
to print odd numbers and another to print even 
numbers. 

  Cμsk ¡ÀPøÍ E¸ÁõUP J¸ {μø» GÊuÄ®, 
JØøÓ¨£øh GsPøÍ Aa]h J¸ ¡À ©ØÖ® 
Cμmøh GsPøÍ Aa]h ©ØöÓõ¸ ¡À. 

Or 

 (b) How packages are created and accessed in java? 
Briefly explain the naming convention in packages. 

  áõÁõÂÀ öuõS¨¦PÒ GÆÁõÖ E¸ÁõUP¨£mk 
AqP¨£kQßÓÚ? öuõS¨¦PÎÀ ö£¯›k® 
ÁÇUPzøu _¸UP©õP ÂÍUPÄ®. 

15.  (a) Write a program to design an Applet showing three 
concentric circles filled with three different colors. 

  ‰ßÖ öÁÆ÷ÁÖ Ásn[PÍõÀ {μ¨£¨£mh ‰ßÖ 
SÂ Ámh[PøÍU Põmk® B¨ö»møh ÁiÁø©UP 
J¸ {μø» GÊuÄ®.  

Or 

 (b) How will you pass parameter to applet? Explain. 

  B¨ö»miØS AÍÄ¸øÁ GÆÁõÖ AÝ¨¦ÃºPÒ? 
ÂÍUPÄ®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Illustrate the architecture of JVM with a neat diagram. 

 JVM Cß Pmhø©¨ø£ ÷|ºzv¯õÚ Áøμ£hzxhß 
ÂÍUPÄ®. 

17. With example, write the use of switch statement. 

 Euõμnzxhß, _Âma ì÷hmö©sm E£÷¯õPzøu 
GÊxP. 

18. Explain the difference between method overriding and 
method overloading with the help of suitable example. 

 •øÓ KÁºøμi[QØS® •øÓ KÁº÷»õi[QØS® EÒÍ 
Âzv¯õ\zøu ö£õ¸zu©õÚ Euõμnzvß EuÂ²hß 
ÂÍUPÄ®. 

19. Explain the following terms with respect to exception 
handling. (a) try (b) catch (c) throw (d) finally. 

 ÂvÂ»US øP¯õÐuÀ öuõhº£õP ¤ßÁ¸® 
Âv•øÓPøÍ ÂÍUPÄ®. (A) •¯Ø] (B) ¤i (C) yUQ 
(D) CÖv¯õP. 

20. Write an applet program to set background with blue 
color and foreground with red color. 

 ¤ßÚoø¯ }» {Ózv¾®, •ß¦ÓzvÀ ]Á¨¦ {Ózv¾® 
Aø©UP B¨ö»m {μø» GÊuÄ®. 

 
 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are the different types of individuals that are 
subject to income tax in India? 

 C¢v¯õÂÀ Á¸©õÚ Á›US Em£mh £À÷ÁÖ ÁøP¯õÚ 
uÛ|£ºPÒ GßÚ? 

2. What is the tax treatment of income received by a Hindu 
Undivided Family from a property held jointly with other 
HUFs? 

 ¤Ó HUF PÐhß TmhõP øÁzv¸US® J¸ ö\õzv¼¸¢x 
C¢x ¤›UP¨£hõu Sk®£® ö£Ö® Á¸©õÚzvß Á› 
Âv¨¦ GßÚ? 

3. What is the role of the Commissioner of Income Tax in 
the process of tax assessment? 

 Á› ©v¨¥mk ö\¯À£õmiÀ Á¸©õÚ Á› Bøn¯›ß 
£[S GßÚ? 

Sub. Code 
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4. What is the Directorate of Inspection and what is its 
function in income tax administration? 

 B´Ä C¯USÚμP® GßÓõÀ GßÚ? ©ØÖ® Á¸©õÚ Á› 
{ºÁõPzvÀ Auß ö\¯À£õk GßÚ? 

5. What is the meaning of “set off and carry forward of 
losses” in income tax? 

 Á¸©õÚ Á›°À “ö\m BL¨ Asm ÷P› L£õºÁºk BL¨ 

|èh®” Gß£uß Aºzu® GßÚ? 

6. What is a Gross total income in income tax act? 

 Á¸©õÚ Á› \mhzvÀ ö©õzu Á¸©õÚ® GßÓõÀ GßÚ? 

7. What is self-assessment tax and when is it applicable? 

 _¯ ©v¨¥mk Á› GßÓõÀ GßÚ? Ax G¨÷£õx 
ö£õ¸¢x®? 

8. What is the procedure for rectification of mistakes in an 
income tax assessment order? 

 Á¸©õÚ Á› ©v¨¥mk EzuμÂÀ EÒÍ uÁÖPøÍz 
v¸zxÁuØPõÚ |øh•øÓ GßÚ? 

9. What is the penalty for failure to deduct tax at source as 
required by law? 

 \mhzvß£i ‰»zvÀ Á›ø¯U PÈUPz uÁÔÚõÀ GßÚ 
A£μõu®? 

10. What is the difference between advance tax and  
self-assessment tax, and when are they payable? 

 •ßTmi¯ Á›US® _¯ ©v¨¥mk Á›US® GßÚ 
Âzv¯õ\®, AøÁ G¨÷£õx ö\¾zu¨£k®? 
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 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) The total income of a HUF computed under the 
normal provisions of income tax act is  20,00,000. 
However the ‘adjusted total income’ of the HUF 
(computed as per section 115JC(2) amounted to  

 30,00,000. Calculate the final tax liability of the 
HUF for AY – 2023 – 2024. 

  Á¸©õÚ Á›a \mhzvß \õuõμn ÂvPÎß RÌ 
PnUQh¨£mh HUF Cß ö©õzu Á¸©õÚ®  

 20,00,000 BS®. GÆÁõÓõ°Ý®, ¤›Ä 115JC(2) Cß 
£i PnUQh¨£mh HUF Cß ‘\› ö\´¯¨£mh ö©õzu 

Á¸©õÚ®’  30,00,000 BS®. AY – 2023 – 2024 UPõÚ 
HUF Cß CÖv Á›¨ ö£õÖ¨ø£U PnUQhÄ®. 

Or 

 (b) Compute the total income of Mr. Ram from the 
particulars given below : 

  (i) Interest on Securities (Gross)  27,000 

  (ii) Rental value of a house  7,500 p.m. Self-
acquired but transferred to H.U.F. 

  (iii)  Income from this house (computed) is  25,200 

  (iv)  Share from firm in which he has 1/3rd share  
 45,000 

  (v) Commission received by his wife from such 
firm for acting as its selling agent :  25,000. 

  R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎÀ C¸¢x  
v¸. μõªß ö©õzu Á¸©õÚzøuU PnUQkP. 

  (i) £zvμ[PÒ «uõÚ Ámi (ö©õzu®) :  27,000 

  (ii) J¸ Ãmiß ÁõhøP ©v¨¦  7,500 p.m. 
_¯©õP Áõ[Q¯x BÚõÀ H.U.F. US 
©õØÓ¨£mhx 
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  (iii) C¢u Ãmiß Á¸©õÚ® (PnUQh¨£mhx)  

    25,200  

  (iv) AÁº 1/3 £[S øÁzv¸US® {ÖÁÚzvß 

£[S :  45,000 

  (v) Auß ÂØ£øÚ •PÁμõPa ö\¯À£mhuØPõP 
AzuøP¯ {ÖÁÚzvhª¸¢x AÁμx 

©øÚÂ¯õÀ ö£Ó¨£mh Bøn¯® :  25,000 

12. (a) Write a note on commissioner of income tax. 

  Á¸©õÚ Á› Bøn¯º SÔzx SÔ¨¦ GÊxP.  

Or 

 (b) Write a note on the powers of assessing officer. 

  ©v¨¥mk AvPõ›°ß AvPõμ[PÒ SÔzx SÔ¨¦ 
GÊxP. 

13. (a) Compute taxable income and loss to be C/F : 

  (i) Business profit for the previous year 2022-23: 
 20,000 

  (ii) B/F Business loss of 2020-21 :  10,000 

  (iii) Capital loss on shares :   60,000 

  (iv) Loss on self-occupied house (u/s 24)  5,000. 

  Á› ÂvUPzuUP Á¸©õÚ® ©ØÖ® CÇ¨ø£ C/F BP 
PnUQkP : 

  (i) •¢øu¯ Bsk 2022-23 À ÁoP »õ£® :  
    20,000 

  (ii) 2020-21 B® Bsiß ¤]Úì »õì :  10,000 

  (iii) £[SPÎÀ ‰»uÚ CÇ¨¦ :   60,000  

  (iv) _¯©õP Si°¸US® Ãk (u/s 24) CÇ¨¦  

    5,000. 

Or 
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 (b) Miss P was born on 6.8.2004. On her engagement on 
15.3.2022 she received gifts of   60,000 each from  
her father, father’s father, father’s mother, mother 
and mother’s father. The amount was deposited 
with a company in a fixed deposit scheme carrying 
15% interest. During 2022-23 she received interest 
for one year. What is the treatment of this interest 
under Income-tax Act? 

  ªì ¤ 6.8.2004 AßÖ ¤Ó¢uõº. 15.3.2022 AßÖ 
AÁμx {a\¯uõºzuzvß ÷£õx, AÁº uÚx u¢øu, 
u¢øu°ß u¢øu, u¢øu°ß uõ´, uõ´ ©ØÖ® uõ°ß 

u¢øu°hª¸¢x u»õ  60,000 £›_PøÍ¨ ö£ØÓõº. 
C¢uz öuõøP¯õÚx 15% Ámi²hß Ti¯ {ø»¯õÚ 
øÁ¨¦z vmhzvÀ J¸ {ÖÁÚzvh® öh£õ]m 

ö\´¯¨£mhx. 2022-23 B® BsiÀ AÁº J¸ 
Á¸hzvØS Ámi ö£ØÓõº. Á¸©õÚ Á›a \mhzvß 
RÌ C¢u ÁmiUS GßÚ ]Qaø\ AÎUP¨£kQÓx? 

14. (a) What is self-assessment? 

  _¯ ©v¨¥k GßÓõÀ GßÚ? 

Or 

 (b) What is best judgment assessment? 

  ]Ó¢u wº¨¦ ©v¨¥k GßÚ? 

15.  (a) Write a note on advance payment of tax. 

  Á›ø¯ •ßTmi÷¯ ö\¾zxÁx SÔzx J¸ 
SÔ¨ø£ GÊxP. 

Or 

 (b) What is tax credit certificates? 

  Á›U Phß \õßÔuÌPÒ GßÓõÀ GßÚ? 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. The following details of income have been supplied by 
Karta of H.U.F. You are required to compute the total 
income and tax of H.U.F. It has deposited 10,000 in PPF. 

 (a)  Profit from business  2,62,000 

 (b) Salary received by a member of H.U.F.  8,000 

 (c)  Director’s fee received by Karta  6,000 

 (d)  Rental value of the property let  12,000 

 (e) Municipal Taxes  600 

 (f)  Interest on a fixed deposit of Axis Bank  450 

 (g)  Long-term Capital gains from the transfer of 
building  9,500 

 (h) Long-term Capital gains from the transfer of 
investments  10,000 

 (i)  Donation to a college which is an approved 
institution  4,000 

 (j) Profit from an AOP (1/4th share)  10,000. 

 ¤ßÁ¸® Á¸©õÚ ÂÁμ[PÒ H.U.F. Cß PºuõÁõÀ 
ÁÇ[P¨£mkÒÍÚ. H.U.F. Cß ö©õzu Á¸©õÚ® ©ØÖ® 
Á›ø¯ }[PÒ PnUQh ÷Ásk®. 10,000 ¤¤G¨¤À 
öh£õ]m ö\´xÒÍx. 

 (A) ÁoPzvß »õ£®  2,62,000 

 (B) H.U.F. Cß EÖ¨¤Úº ö£ØÓ \®£Í®  8,000 

 (C) Pºzuõ  6,000 ö£ØÓ C¯USÚ›ß Pmhn® 

 (D) ö\õzvß ÁõhøP ©v¨¦  12,000 

 (E) |Pμõm] Á›PÒ  600 
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 (F) BU]ì Á[Q°ß {ø»¯õÚ øÁ¨¦z öuõøPUPõÚ 

Ámi  450 

 (G) Pmihzøu ©õØÖÁuß ‰»® }sh Põ» ‰»uÚ 

Buõ¯[PÒ  9,500 

 (H) •u½kPøÍ ©õØÖÁuß ‰»® }sh Põ» ‰»uÚ 

Buõ¯[PÒ  10,000 

 (I) A[RP›UP¨£mh {ÖÁÚ©õÚ PÀ¿›US |ßöPõøh 

 4,000 

 (J) AOP (1/4 Áx £[S)  10,000 ‰»® »õ£®. 

17. What are the authorities provided by the income tax act 
for the administration of tax? Discuss briefly the powers 
of income tax officer. 

 Á› {ºÁõPzvØPõP Á¸©õÚ Á›a \mhzuõÀ ÁÇ[P¨£mh 
AvPõ›PÒ GßÚ? Á¸©õÚ Á› AvPõ›°ß AvPõμ[PøÍ 
_¸UP©õP ÂÁõvUPÄ®. 

18. Shri. Anil earned gross total income of  5,00,000 in the 
previous year 2022-23 and made the following donations 
during the year : 

 (a)  10,000 to Chief Minister’s Earthquake Relief 
Fund. 

 (b)  15,000 to National foundation to communal 
harmony. 

 (c)  20,000 to Municipal corporation approved for 
promotion of family planning. 

 (d)  45,000 to approved Institutions 

 (e)  20,000 to Swatch Bharat Kosh. 

 Compute the amount of deduction admissible to him  
u/s 80G for the assessment year 2023-24. 
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 ÿ AÛÀ •¢øu¯ 2022-23 BsiÀ  5,00,000 ö©õzu 
Á¸Áõø¯¨ ö£ØÓõº. ÷©¾® A¢u BsiÀ ¤ßÁ¸® 
|ßöPõøhPøÍa ö\´uõº : 

 (A) •u»ø©a\›ß §P®£ {Áõμn {vUS  10,000  

 (B) ©u |À¼nUPzvØPõÚ ÷u]¯ AizuÍzvØS  

 15,000  

 (C) Sk®£U Pmk¨£õmøh FUSÂ¨£uØPõP A[RP›UP¨£mh 

©õ|Pμõm]US  20,000  

 (D) A[RP›UP¨£mh  {ÖÁÚÁ[PÐUS  45,000  

 (E) ìÁõma £õμz ÷PõèUS  20,000  

 2023-24 ©v¨¥mk BsiØPõÚ u/s 80G AÁ¸US 
AÝ©vUP¨£mh Â»US AÍøÁU PnUQkP. 

19. Explain the types of assessment in detail. 

 ©v¨¥miß ÁøPPøÍ Â›ÁõP ÂÍUPÄ®. 

20. Explain the provisions related to collection of tax. 

 Á› Á`À öuõhº£õÚ ÂvPøÍ ÂÍUSP. 

  
———————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2024 

Sixth Semester 

Commerce with Computer Applications 

SPECIAL ACCOUNTS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Non-Performing Assets? 

 ö\¯À£hõu ö\õzxPÒ GßÓõÀ GßÚ? 

2. How is interest on doubtful debts treated in Bank 
Accounts? 

 Á[QU PnUSPÎÀ \¢÷uPzvØQh©õÚ PhßPÐUPõÚ 
Ámi GÆÁõÖ øP¯õÍ¨£kQÓx? 

3. What do you understand by Life Assurance Fund?  

 ø»L¨ Aè³μßì L£sm ‰»® }[PÒ GßÚ 
¦›¢xöPõÒQÕºPÒ? 

4. State the meaning of Double Insurance. 

 CμmøhU Põ¨¥miß ö£õ¸øÍU SÔ¨¤hÄ®. 

5. Mention any two advantages of double accounting 
system. 

 CμmøhU PnUS •øÓ°ß H÷uÝ® Cμsk |ßø©PøÍU 
SÔ¨¤hÄ®. 

Sub. Code 
7BCC6C3 
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6. What is Capital Base? 

 ‰»uÚ Ai¨£øh GßÓõÀ GßÚ? 

7. What do you understand by pre-acquisition profits?  

 øP¯P¨£kzu¾US •¢øu¯ »õ£zvÀ }[PÒ GßÚ 
¦›¢xöPõÒQÕºPÒ? 

8. What is meant by minority interest? 

 ]Ö£õßø© |»ß GßÓõÀ GßÚ? 

9. Define Goodwill. 

 |Àö»snzøu Áøμ¯ÖUPÄ®. 

10. What is Super Profit? 

 ªøP »õ£® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) The Trial Balance of National Bank Limited as on 
31.03.2020 shows the following balances. 

Rs. 

  Interest and discounts  45,40,600 

  Rebate on bills discounted (1.4.2019) 4,750 

  Bills discounted and purchases 3,37,400 

  The amount on unexpired discount as  

  on 31.03.2020 is   5,560 

  Write necessary adjusting entries and calculate the 
amount of discount credited to Profit and Loss a/c. 
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  31.03.2020 AßÖ ÷|åÚÀ ÷£[U ¼ªöhmiß 
÷\õuøÚ C¸¨¦ ¤ßÁ¸® {¾øÁPøÍU PõmkQÓx. 

 ¹. 

  Ámi ©ØÖ® uÒÐ£iPÒ 45,40,600 

  Ámh® ö\´¯¨£mh Esi¯À «uõÚ  

  uÒÐ£i (1.4.2019)  4,750 

  Ámh® ö\´¯¨£mh Esi¯À uÒÐ£i  

   ©ØÖ® öPõÒ•uÀ   3,37,400 

  31.03.2020 AßÖ Põ»õÁv¯õPõu  

  uÒÍ£i°ß öuõøP  5,560 

  ÷uøÁ¯õÚ \›ö\´uÀ EÒÏkPøÍ GÊuÄ® ©ØÖ® 
»õ£ ©ØÖ® |mh PnUQÀ ÁμÄ øÁUP¨£mh 
uÒÐ£i°ß AÍøÁU PnUQhÄ®. 

Or 

 (b) On 31st March 2018, National Commercial Bank 
Ltd., finds its advances classified as follows. 

 Rs.

Standard Assets 14,91,300

Sub-standard Assets 92,800

Doubtful assets (secured) 

 : Doubtful for one year 25,660

 : Doubtful for one year to 3 years 15,640

 : Doubtful for more than 3 years 6,580

Loss Assets 10,350

  Calculate the amount of provision to be made by the 
bank against the above mentioned advances. 
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  31 ©õºa 2018 AßÖ, ÷|åÚÀ P©ºåÀ Á[Q 
¼ªöhm, Auß •ß÷ÚØÓ[PøÍ ¤ßÁ¸©õÖ 
ÁøP¨£kzxQÓx. 

 ¹.

{ø»¯õÚ ö\õzxUPÒ 14,91,300

xøn&uμ ö\õzxUPÒ 92,800

\¢÷uPzvØS›¯ ö\õzxUPÒ 
(£õxPõUP¨£mhøÁ) 

 : J¸ Á¸hzvØS \¢÷uP® 25,660

 : J¸ Á¸h® •uÀ 3 BskPÒ 
   Áøμ \¢÷uP® 

15,640

 :3 BskPÐUS ÷©»õP \¢÷uP® 6,580

CÇ¨¦ ö\õzxUPÒ 10,350

  ÷©ØTÔ¯ •ß£n[PÐUS GvμõP Á[Q ÁÇ[P 
÷Ási¯ öuõøPø¯U PnUQkP. 

12. (a) The Life Fund of a Life Insurance Company as on 
31.03.2006 showed a balance of Rs.54,00,000. 
However, the following items were not taken into 
account while preparing the Revenue account for 
2005-2006. Ascertain the correct life fund balance. 

   Rs.

(i) Interest and dividends accrued on 
Investments 

20,000

(ii) Income tax deducted at source on the 
above 

6,000

(iii) Reinsurance claims recoverable 7,000

(iv) Commission due on reinsurance premium 
paid 

10,000

(v) Bonus in reduction of premiums 3,000
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  31.03.2006 AßÖ B²Ò Põ¨¥mk {ÖÁÚzvß 
B²Ò {v ¹.54,00,000 C¸¨¤Ý®, 2005&2006 
UPõÚ Á¸Áõ´U PnUøPz u¯õ›US® ÷£õx 
¤ßÁ¸® E¸¨£iPÒ PnUQÀ 
GkzxUöPõÒÍ¨£hÂÀø» \›¯õÚ Lø»¨ L£sm 
C¸¨ø£U PshÔ¯Ä®. 

  ¹.

(i) •u½kPÒ «x vμmh¨£mh Ámi ©ØÖ® 
DÄzöuõøP 

20,000

(ii) ÷©÷» EÒÍ BuõμzvÀ Á¸©õÚ Á› 
PÈUP¨£mhx 

6,000

(iii) ©Ö Põ¨¥mkU ÷Põ›UøPPÒ 
v¸®£¨ö£Ó¨£mhx 

7,000

(iv) ©Ö Põ¨¥mk ¤Ÿª¯® ö\¾zv¯uØS 
öPõk£h÷Ási¯ Pªåß 

10,000

(v) ¤Ÿª¯[PÒ SøÓ¨¤À ÷£õÚì 3,000

Or 

 (b) Write short notes on ‘Valuation Balance Sheet’. 

  ‘©v¨¥mk C¸¨¦{ø»’ £ØÔ¯ ]Ö SÔ¨¦PøÍ 
GÊuÄ®. 

13. (a) Prepare Receipts and Expenditure on capital 
account of Electricity Company for the year ended 
31.03.2014. 

Particulars Rs. Rs. 

Land on 31.3.2013 1,20,000  

Land expending during 2013-14 4,000  

Machinery 31.3.2013 4,80,000  

Machinery expended during  4,000  
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Particulars Rs. Rs. 

2013-14 

Mains including cost of laying 1,60,000  

Mains expended during 2013-14 40,800  

Equity shares  4,39,200

Debentures  1,60,000

  31.03.2014 AßÖ •iÁøh¢u BsiØPõÚ ªß\õμ 
{ÖÁÚzvß ‰»uÚU PnUQÀ μ^xPÒ ©ØÖ® 
ö\»ÂÚ[PøÍz u¯õ›UPÄ®. 

ÂÁμ[PÒ ¹. ¹. 

31.3.2013 AßÖ {»® 1,20,000  

2013-14 À {»® ö\»ÁÈUP¨£mhx 4,000  

 C¯¢vμ[PÒ 31.3.2013 4,80,000  

2013-14 À ö\»ÁÈUP¨£mh 
C¯¢vμ[PÒ 

4,000  

CkÁuØPõÚ ö\»Ä Em£h 
ö©°ßPÒ 

1,60,000  

2013-14 À ö\»ÁÈUP¨£mh 
ö©°ßPÒ 

40,800  

DUÂmi £[SPÒ  4,39,200

Phß £zvμ[PÒ  1,60,000

Or 

 (b) Narrate the limitations of Double account system. 

  Cμmøh PnUS •øÓ°ß Áμ®¦PøÍ ÂÁ›UPÄ®. 
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14. (a) H Ltd. Purchased 75% of shares in S Ltd. On 
1.7.2021. On 31.12.2021 the Balance Sheet of S Ltd. 
Showed Reserve Fund balance on 1.1.2021 
Rs.40,000, profit earned during 2021 Rs.60,000 and 
preliminary expenses unwritten off Rs.20,000. 
Calculate capital profits and Revenue profits. 

  H Ltd. 1.7.2021 AßÖ S Ltd CÀ 75% £[SPøÍ 

Áõ[Q¯x. 31.12.2021 AßøÓ¯ S Ltd Cß 
C¸¨¦{ø»¨£i 1.1.2021 AßÖ ›\ºÆ L£sm 
C¸¨¦ ¹.40,000, 2021 CÀ Dmi¯ »õ£® ¹.60,000 
©ØÖ® GÊu¨£hõu •uÀ {ø» ö\»ÄPÒ ¹.20,000. 
‰»uÚ »õ£® ©ØÖ® Á¸Áõ´ »õ£zøu PnUQkP. 

Or 

 (b) On 1.7.2022, X Ltd. acquired 60% shares of Y Ltd. 
(with a total capital of Rs.5,00,000) for Rs.3,80,000. 
The balance sheet of Y Ltd., showed P & L A/c 
balance on 1.1.2022 Rs.1,20,000 and profit for the 
year 2022 Rs.1,00,000. Calculate the value of 
goodwill of Capital Reserve. 

  1.7.2022 AßÖ, X ¼m. Y ¼m Cß 60% £[SPøÍ 
(ö©õzu ‰»uÚ® ¹.5,00,000 Ehß) ¹.3,80,000 US 

Áõ[Q¯x. Y ¼m. Cß C¸¨¦{ø»U SÔ¨¤À, 
1.1.2022 AßÖ »õ£ ©ØÖ® |mh P/S C¸¨¦ 
¹.1,20,000 ©ØÖ® 2022 BskUPõÚ »õ£® 
¹.1,00,000. ‰»uÚ øP°¸¨¤ß |Àö»snzvß 
©v¨ø£U PnUQkP. 

15. (a) The net profits of a company after providing for 
taxation for the past five years are Rs.40,000; 
Rs.42,000; Rs.45,000 Rs.46,000 and Rs.47,000. 

  The capital employed in the business is Rs.4,00,000 
on which a reasonable rate of return of 10% is 
expected. Calculate the value of goodwill of the 
business. 
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  Ph¢u I¢x BskPÍõP Á›Âv¨¦US ÁÇ[Q¯ 
¤ÓS J¸ {ÖÁÚzvß {Pμ »õ£® ¹.40,000; 
¹.42,000; ¹.45,000 ¹.46,000 ©ØÖ® ¹.47,000. 

  ÁoPzvÀ £o¦›²® ‰»uÚ® ¹.4,00,000 BS®.  

CvÀ {¯õ¯©õÚ Á¸Áõ´ ÂQu® 10%  
Gvº£õºUP¨£mhx. ÁoPzvß |Àö»snzvß 
©v¨ø£U PnUQkP. 

Or 

 (b) State the nature of investment account. 

  •u½mkU PnUQß ußø©ø¯U SÔ¨¤hÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. The following are the balance of National Bank for the 
year ended 31.03.2016. 

Particulars Rs. Particulars Rs. 

Interest on Loans 5,18,000 Directors’ fees 6,000

Interest on Fixed 
deposits 

5,50,000 Auditors’ fees 2,000

Commission 
received 

16,000 Interest on Savings 
Bank Deposits 

1,36,000

Salaries and 
Allowances 

1,08,000 Postage and 
Telegrams 

3,000

Discount on Bills 
discounted 

2,92,000 Printing and 
Stationary 

6,000

Rebate on Bills 
discounted  

98,000 Locker Rent 2,000

Interest on Cash 
Credits 

4,46,000 Transfer Fees 1,000

Rent and rates 36,000 Depreciation on 
Banks Properties 

10,000

Interest on Over 
drafts 

3,08,000 Sundry Charges 4,000
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 Other information: 

 (a) Provisions of Bad debts Rs.80,000  

 (b) Provisions for income tax Rs.3,00,000  

 From the above information, prepare the Profit and Loss 
a/c of the bank for the year ended 31.03.2016. 

 31.03.2016 •iÁøh¢u BsiØPõÚ ÷u]¯ Á[Q°ß 
C¸¨¦z öuõøP ¤ßÁ¸©õÖ. 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 
PhßPÐUPõÚ Ámi 5,18,000 C¯US|ºPÒ 

Pmhn® 
6,000

{ø»¯õÚ øÁ¨¦z 
öuõøPUPõÚ Ámi 

5,50,000 BimhºPÎß 
Pmhn® 

2,000

Pªåß ö£ØÓx 16,000 ÷\ª¨¦ Á[Q 
øÁ¨¦«uõÚ Ámi

1,36,000

\®£Í® ©ØÖ® 
öPõk¨£ÚÄPÒ 

1,08,000 u£õÀ ©ØÖ® 
u¢vPÒ 

3,000

Ámh® ö\´¯¨£mh 
¤ÀPÎÀ uÒÐ£i 

2,92,000 ¤›si[ ©ØÖ® 
ì÷håÚ› 

6,000

uÒÐ£i 
ö\´¯¨£mh ¤ÀPÎÀ 
uÒÐ£i 

98,000 »õUPº ÁõhøP 2,000

öμõUPU 
PhßPÐUPõÚ Ámi 

4,46,000 £›©õØÓU 
Pmhn® 

1,000

ÁõhøP ©ØÖ® 
Pmhn[PÒ 

36,000 Á[QPÎß 
ö\õzxPÎÀ 
÷u´©õÚ® 

10,000

KÁº iμõL¨m «uõÚ 
Ámi 

3,08,000 \ßm› Pmhn[PÒ 4,000

 ¤Ó uPÁÀPÒ: 

 (A) ÁõμõU PhßPÒ ¹.80,000 

 (B) Á¸©õÚ Á› ¹.3,00,000 

 ÷©÷» EÒÍ uPÁÀPÎ¼¸¢x, 31.03.2016 •iÁøh¢u 
BsiØPõÚ Á[Q°ß »õ£® ©ØÖ® |èh® PnUS 
u¯õ›UPÄ®. 
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17. Prepare, in the proper statutory form, the revenue 
account of the Jai Hind Life Assurance Co. Ltd., for the 
year ended 31st March 2022 from the following figures. 

 Rs. (‘000)  Rs. (‘000) 

Claims 76,140 Expenses. of management  31,920

Clamis by 
maturity 

30,110 Commission 9,574

Premiums 7,05,690 Interest, dividend & Rent 97,840

Transfer fees 129 Income Tax thereon 35,710

Consideration for 
annuities 

82,127 Surrenders 13,140

Annuities paid 53,461 Bonus in reduction of 
premium 

980

Bonus paid in 
cash 

2,416 Dividend paid to share 
holders 

5,500

  Life assurance fund 
(1.4.2005) 

15,21,000

 Paid up share capital of the above life assurance company 
is Rs.5,00,000 thousand and net liability as per actuary’s 
valuation is Rs.11,05,000 Thousands as on 31.03.2022. 

 Prepare a Valuation Balance Sheet of the company as on 
that date. 

 ©õºa 31, 2022 CÀ •iÁøh¢u BsiØPõÚ ¤ßÁ¸® 
¦ÒÎÂÁμ[PÎ¼¸¢x öá´î¢z ø»L¨ Aè³μßì 
÷Põ. ¼ªöhmiß Á¸Áõ´U PnUøP \›¯õÚ \mh¨ 
£iÁzvÀ u¯õº ö\´¯Ä®. 

 ¹. (‘000)  ¹. (‘000) 

E›ø© ÷PõμÀPÒ 76,140 ÷©»õsø© ö\»ÄPÒ 31,920 

•vºÄ ‰»® 
E›ø©÷PõμÀPÒ 

30,110 Pªåß 9,574 

¤Ÿª¯[PÒ 7,05,690 Ámi, DÄzöuõøP ©ØÖ® 
ÁõhøP 

97,840 

£›©õØÓ Pmhn® 129 Á¸©õÚ Á› Auß «x 35,710 

ÁÇ[P¨£mh 
Á¸hõ¢vμ[PÐUP
õÚ £›^»øÚ 

82,127 \μnõPvPÒ 13,140 
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 ¹. (‘000)  ¹. (‘000) 

Á¸hõ¢vμ[PÒ 
ö\¾zvÚ 

53,461 ¤Ÿª¯® SøÓ¨£vÀ 
÷£õÚì 

980 

öμõUP©õP 
ÁÇ[P¨£k® 
÷£õÚì 

2,416 £[SuõμºPÐUS 
DÄzöuõøP 

5,500 

  B²Ò Põ¨¥mk {v 
(1.4.2005 

15,21,000 

 ÷©ØPsh B²Ò Põ¨¥mk {ÖÁÚzvß ö\¾zu¨£mh 
£[S ‰»uÚ® ¹.5,00,000 B°μ® ©ØÖ® 31.03.2022 Cß 
£i BU_Á›°ß ©v¨¥miß£i {Pμ ö£õÖ¨¦ 
¹.11,05,000 B°μ® BS®. A¢uz ÷uv°À {ÖÁÚzvß 
©v¨¥mk C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®. 

18. The following are the balances on 31.03.2014 in the books 
of the Ernakulam Power and Light Company Limited. 
 Debit  

Rs. 

Credit 

 Rs. 

Lands on 31 .03.2013 1,20,000

Lands expended during 2013–2014 4,000

Machinery on 31.03.2013 4,80,000

Machinery expended during  

2013–2014 4,000

Mains including cost of laying 1,60,000

Mains expended during 2013-14 40,800

Equity Shares 4,39,200

Debentures 1,60,000

Sundry Creditors 800

Depreciation Fund A/c 2,00,000

Sundry Debtors for  

Current supplied 32,000

Other debtors 400

Cash 4,000

Cost of generation of electricity 28,000

Cost of distribution of electricity 4,000
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 Debit  

Rs. 

Credit 

 Rs. 

Rent, rates and taxes 4,000

Management expenses 9,600

Depreciation 16,000

Sale of current 1,04,000

Rent of Metres 4,000

Interest on Debentures 8,000

Interim dividend 16,000

Net Revenue A/c on 31.03.2013 22,800

 9,30,800 9,30,800

 From the above Trial Balance, Prepare Revenue A/c, Net 
Revenue A/c, Capital A/c and General Balance Sheet. 

 GºnõSÍ® £Áº Asm ø»¨ P®ö£Û ¼ªöhm. 
¦zuPzvÀ 31.03.2014 AßÖ {¾øÁz öuõøPPÒ 
¤ßÁ¸©õÖ: 
 £ØÖ 

¹. 
£ØÖ  
¹. 

31.03.2013 AßÖ {»[PÒ 1,20,000

2013–2014 CÀ {»[PÒ \»Âh¨£mhÚ 4,000

31.03.2013 AßÖ C¯¢vμ[PÒ 4,80,000

C¯¢vμ[PÒ 2013–2014 CÀ  

ö\»ÁÈUP¨£mhÚ 

4,000

ö©°ßPÒ ÷£õkÁuØPõÚ ö\»Ä Em£h 1,60,000

2013&-14 Áøμ ö\»ÁÈUP¨£mh ö©°ßPÒ 40,800

DUÂmi £[SPÒ 4,39,200

Phß £zvμ[PÒ 1,60,000

\ßm› Qöμimhºì 800

÷u´©õÚ {v P/S 2,00,000

uØ÷£õøuUS \si› PhÚõÎPÒ ÁÇ[QÚº 32,000

©ØÓ PhÚõÎPÒ 400

öμõUP® 4,000
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ªß\õμ EØ£zv ö\»Ä 28,000

ªß\õμ Â{÷¯õP ö\»Ä 4,000

ÁõhøP, Pmhn[PÒ ©ØÖ® Á›PÒ 4,000

÷©»õsø© ö\»ÄPÒ 9,600

÷u´©õÚ® 16,000  

uØ÷£õøu¯ ÂØ£øÚ 1,04,000

«mhº ÁõhøP 4,000

Phß £zvμ[PÒ «uõÚ Ámi 8,000

CøhUPõ» DÄzöuõøP 16,000

31.3.2013 AßÖ {Pμ Á¸Áõ´ P/S 22,800

 9,30,800 9,30,800
 ÷©÷» EÒÍ ÷\õuøÚ C¸¨¤À C¸¢x, Á¸Áõ´ P/S, 

{Pμ Á¸Áõ´ P/S, ‰»õuÚ P/S ©ØÖ® ö£õx C¸¨¦ 
uõÒ BQ¯ÁØøÓz u¯õº ö\´¯Ä®. 

19. From the following Balance Sheets of H Ltd., and S.Ltd., 
Prepare a consolidated Balance Sheet of H Ltd. and  
S. Ltd. 

Balance Sheets as on 31.12.2022 

Liabilities H.Ltd. 
Rs. 

 S.Ltd. 
Rs. 

 Assets H.Ltd.
Rs. 

S.Ltd.
Rs. 

Share capital :      
(Shares of Re.1 
each) 

12,000  5,000  Sundry Assets 20,000 8,000

Reserve 5,000  1,000  Investment in 
5,000 

Profit & Loss 
A/c 

2,000  1,000  Shares of S.Ltd. 6,500 – 

Sundry 
Creditors 

7,500  1,000   

 26,500  8,000   26,500 8,000

 Shares were acquired by H Ltd. in S. Ltd., on 30.06.2022. 
S. Ltd., transferred Rs.500 from profits to reserve on 
31.12.2022. 
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H Ltd. ©ØÖ® S.Ltd Cß ¤ßÁ¸® C¸¨¦{ø»U 
SÔ¨¤¼¸¢x, J¸ J¸[Qøn¢u C¸¨¦{ø»z uõøÍz 
u¯õ›UPÄ®. 

31.12.2022 {»Áμ¨£i C¸¨¦{ø»PÒ 

ö£õÖ¨¦PÒ H.Ltd. 
¹. 

 S.Ltd. 
¹. 

 ö\õzxUPÒ H.Ltd.
¹. 

S.Ltd.
¹. 

£[S ‰»uÚ® :      

(£[SPÒ ¹. 1 
Ãu®) 

12,000  5,000  £Ø£» 
ö\õzxPÒ 

20,000 8,000

›\ºÆ 5,000  1,000  •u½k S. Ltd. 
À 5,000 

»õ£® ©ØÖ® 
CÇ¨¦ P/S 

2,000  1,000  £[SPÒ 6,500 – 

£Ø£» 
PhÜ¢÷uõº 

7,500  1,000   

 26,500  8,000   26,500 8,000

  30.6.2022 AßÖ S Ltd. CÀ H Ltd. £[SPøÍ 
Áõ[Q¯x 31.12.2022 AßÖ S.Ltd. ¹.500 »õ£zvÀ 
C¸¢x Põ¨¦US ©õØÔ¯x. 

20. The Balance sheet of Saraswathi Co.Ltd. disclosed the 
following position as on 31st Dec 2022 

Liabilities Rs. Assets Rs. 

Share capital :   

6,000 equity shares of 
Rs.100 each 

6,00,000 Good will 1,65,000

Profit and Loss Account 75,000 Investments 5,25,000

General Reserve 2,25,000 Stock 6,60,000

6% debentures 4,50,000 Sundry 
debtors 

3,90,000
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Liabilities Rs. Assets Rs. 

Sundry creditors  1,50,000 Cash at Bank 60,000

Workmen’s savings bank 

Account 

3,00,000  

 18,00,000 18,00,000

 (a) The profits for the past five years were: 

  2018-Rs.30,000; 2019 – Rs.70,000: 2020 – Rs.50,000; 

2021– Rs.55,000 and 2022 – Rs.95,000. 

 (b) The market value of investment was Rs.3,30,000. 

 (c) Goodwill is to be valued at three years purchase of 

the average annual profits for last five years. Find 

the intrinsic value of each share. 
 \μìÁv ÷Põ. ¼ªöhmiß C¸¨¦{ø» 31 i\®£º 2022 

AßÖ ¤ßÁ¸® {ø»ø¯ öÁÎ¨£kzv¯x. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£[S ‰»uÚ® :   

6,000 DUÂmi £[SPÒ 

u»õ ¹.100 Ãu® 
6,00,000 |Àö»sn® 1,65,000

»õ£® ©ØÖ® CÇ¨¦ 

PnUS 
75,000 •u½kPÒ 5,25,000

ö£õx C¸¨¦ 2,25,000 £[S 6,60,000

6% Phß £zvμ[PÒ 4,50,000 £Ø£» 

PhÚõÎPÒ 
3,90,000

£Ø£» Phß 

ÁÇ[S£ÁºPÒ 
1,50,000 Á[Q öμõUP® 60,000

öuõÈ»õÍº ÷\ª¨¦ Á[Q 

PnUS 
3,00,000  

 18,00,000 18,00,000
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 (A) Ph¢u I¢x Á¸h[PÎß »õ£®: 

  2018-¹.30,000; 2019 – ¹.70,000: 2020 – ¹.50,000; 

2021– ¹.55,000 ©ØÖ® 2022 – ¹.95,000. 

 (B) •u½miß \¢øu ©v¨¦ ¹.3,30,000. 
 (C) Ph¢u I¢uõskPÐUPõÚ \μõ\› Bsk »õ£zøu 

‰ßÓõskPÒ Áõ[SÁvÀ |Àö»sn® 

©v¨¤h¨£kQÓx. 

  JÆöÁõ¸ £[Qß EÒÍõº¢u ©v¨ø£U PshÔ¯Ä®. 

 
———————— 
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Commerce with Computer Application  

MANAGEMENT ACCOUNTANCY  

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Management Accounting? 

 ÷©»õsø© PnUQ¯À GßÓõÀ GßÚ? 

2. What are Financial Statements? 

 {v°¯À AÔUøP Gß£øÁ ¯õøÁ? 

3. State any four intangible assets. 

 PsqUS ¦»¨£hõu ö\õzxUPÒ H÷uÝ® |õßøP TÖP. 

4. What is Current Ratio? 

 |h¨¦ ÂQu® GßÓõÀ GßÚ? 

5. What do you understand by Debt Equity Ratio? 

 Phß ö\õ¢u •uÀ ÂQu® £ØÔ }Âº AÔ¢ux GßÚ? 

6. What are Turnover Ratios? 

 _ÇØ] ÂQu® Gß£x ¯õx? 
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7. What is Cash Flow Statements? 

 öμõUP Kmh AÔUøP GßÓõÀ GßÚ? 

8. State any four applications of funds. 

 {vPÒ £¯ß£õk H÷uÝ® |õßøP TÖP. 

9. Define – Budgeting. 

 vmh £mi¯À – Áøμ¯Ö. 

10. Define “Marginal Costing”. 

 “CÖv{ø» PnUQ¯À” C»UPn® TÖP. 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What are the limitations of Management 
Accounting? 

  ÷©»õsø© PnUQ¯¼ß Áμ®¦PÒ GßÚ? 

Or 

 (b) Highlight the scope of Management Accounting. 

  ÷©»õsø© PnUQ¯¼ß £μö£Àø»ø¯ 
•ßÛø»£kzxP. 

12. (a) Calculate the trend percentages from the following 
data taking 2013 as the base year.  

Particulars 2013 
(Rs.) 

2014 
(Rs.) 

2015 
(Rs.) 

2016 
(Rs.) 

2017 
(Rs.) 

2018 
(Rs.) 

Sales 3,00,000 3,40,000 4,20,000 4,80,000 5,20,000 6,00,000 

Cost of 
goods sold 

1,80,000 2,04,000 2,56,000 2,87,000 3,00,000 3,30,000 

Office 
Expenses 

40,000 42,000 45,000 50,000 55,000 60,000 

Selling 
Expenses 

20,000 25,000 30,000 40,000 50,000 60,000 

Net 
Profit/Loss 

60,000 69,000 89,000 1,03,000 1,15,000 1,50,000 
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  RÌUPõq® uPÁÀPÎ¼¸¢x 2013 B® Bsøh 
Ai¨£øh¯õP öPõsk ÷£õUSPÎß ÂQuzøu 
PnUQkP.     

Â£μ[PÒ 2013 
(¹.) 

2014 
(¹.) 

2015 
(¹.) 

2016 
(¹.) 

2017 
(¹.) 

2018 
(¹.) 

ÂØ£øÚ  3,00,000 3,40,000 4,20,000 4,80,000 5,20,000 6,00,000 

\μUS ÂØÓuß       

AhUPÂø» 1,80,000 2,04,000 2,56,000 2,87,000 3,00,000 3,30,000 

A¾Á»P 
ö\»ÄPÒ 

40,000 42,000 45,000 50,000 55,000 60,000 

ÂØ£øÚ 
ö\»ÄPÒ 

20,000 25,000 30,000 40,000 50,000 60,000 

{Pμ 
»õ£®/CÇ¨¦ 

60,000 69,000 89,000 1,03,000 1,15,000 1,50,000 

Or 
 (b) Calculate Debt-equity ratio from the following data. 

                        Rs. 

  Equity share capital  10,00,000 

  10% Preference share capital 5,00,000 

  Reserves    5,00,000 

  Loan from IDBI   10,00,000 

  Current Liabilities   4,00,000 

  6% Debentures   15,00,000 
  ¤ßÁ¸® uμÄPÎ¼¸¢x Phß&£[S ÂQuzøuU 

PnUQkP. 

                         ¹. 

  £[S ‰»uÚ®   10,00,000 

  10% •ßÝ›ø© £[S ‰»uÚ® 5,00,000 

  JxUSQÓx   5,00,000 

  Ii¤I C¸¢x Phß  10,00,000 

  |h¨¦ ö£õÖ¨¦PÒ   4,00,000 

  6% Phß £zvμ[PÒ  15,00,000 



F–0986 

  

  4

13. (a) From the following, Prepare Fund Flow Statement. 

Balance Sheet 

Liabilities 2017 2018 Assets 2017 2018 

 Rs. Rs.  Rs. Rs. 

Bills   Cash 1,06,000 62,000 

Payable 4,52,000 6,28,000 Investment 1,74,000 – 

Creditors 8,26,000 12,54,000 Debtors 6,92,000 10,56,000 

Loan from 
Bank 

2,00,000 4,70,000 Stock 8,64,000 13,66,000 

Reserves  13,84,000 17,28,000 Net fixed   

and Surplus   assets  22,26,000 27,96,000 

Share 
capital 

12,00,000 12,00,000    

 40,62,000 52,80,000  40,62,000 52,80,000 

  Depreciation of Rs.3,78,000 was written off for the 
year 2018 on fixed assets. 

  RÌUPshÁØÔÀ C¸¢x, {v £õ´a\À AÔUøPø¯z 
u¯õº ö\´P. 

ö£õÖ¨¦PÒ 2017 2018 ö\õzxUPÒ 2017 2018 
 ¹. ¹.  ¹. ¹. 

ö\¾zxuØS›¯    öμõUP® 1,06,000 62,000 
Esi¯À 4,52,000 6,28,000 •u½k 1,74,000 – 
PhÚõÍºPÒ 8,26,000 12,54,000 PhÚõÎPÒ 6,92,000 10,56,000
Á[Q°À C¸¢x    £[S  8,64,000 13,66,000
Phß 2,00,000 4,70,000 {Pμ   
Põ¨¦PÒ ©ØÖ®   {ø»¯õÚ   
E£› 13,84,000 17,28,000 ö\õzxUPÒ 22,26,000 27,96,000
£[S ‰»uÚ® 12,00,000 12,00,000    

 40,62,000 52,80,000  40,62,000 52,80,000

  2018 B® BsiÀ {ø»¯õÚ ö\õzxUPÒ «x 
¹.3,78,000 ÷£õUS GÊu¨£mhx. 

Or 
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 (b) What are the causes for change in Working Capital? 
  £o ‰»uÚzvÀ ©õØÓzvØPõÚ Põμn[PÒ GßÚ? 

14. (a) The expenses budgeted for production of 5,000 units 
in a factory are furnished below : 

       Per Unit (Rs.) 

  Materials    40 

  Labour    30 

  Direct Expenses   20 

  Factory Expenses (30% fixed) 30 

  Selling and Distribution Expenses (15% fixed) 20 

  Administration Expenses (100% fixed) 5 

  Prepare a flexible budget for production of  

  (i)  4,000 units and  

  (ii)  7,000 units and also  

  Calculate the cost per unit at those levels of 
production. 

  J¸ öuõÈØ\õø»°À 5,000 A»SPÒ  EØ£zvUPõP 
ö\»Ä ö\´¯¨£k® ö\»ÄPÒ ¤ßÁ¸©õÖ : 

                                   A»S (¹.) 

 ‰»¨ö£õ¸mPÒ    40 

 öuõÈ»õÍº     30 

 ÷|μi ö\»ÄPÒ    20 

 öuõÈØ\õø» ö\»ÄPÒ (30% {ø»¯õÚx) 30 

 ÂØ£øÚ ©ØÖ® Â{÷¯õP® ö\»ÄPÒ (15% {ø»¯õÚx) 20 

 {ºÁõP ö\»ÄPÒ (100% {ø»¯õÚx) 5 

  (i)  4,000 A»SPÒ ©ØÖ® 

  (ii)  7,000 A»SPÒ – EØ£zvUPõÚ ö|QÌÄ ÁμÄ 
ö\»Äz vmhzøu u¯õ›UPÄ® ÷©¾® EØ£zv 
AÍÄPÎÀ J¸ A»SUPõÚ ö\»ÂÚzøu 
PnUQkP. 

Or 
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 (b) What are the advantages of budget? 

  ÁμÄ ö\»Ä vmhzvß |ßø©PÒ GßÚ? 

15.  (a) From the following data, you are required to 
calculate the Break-Even Point and sales value. 

                                       Rs. 

  Selling price per unit   25 

  Direct material cost per unit  8 

  Direct labour cost per unit  5 

  Fixed overheads                                24,000 

  Variable overheads @ 60% on direct labour 

  Trade discount 4% 

  If sales are 15% and 20% above the Break-even 
Volume, determine the Net Profit. 

  ¤ßÁ¸® uμÂ¼¸¢x, }[PÒ \›\© ¦ÒÎ ©ØÖ® 
ÂØ£øÚ ©v¨¦ PnUQkP. 

                                                                                             ¹. 

  J¸ A»SUPõÚ ÂØ£øÚ Âø»      25 

  J¸ A»SUPõÚ ÷|μi ö£õ¸Ò ö\»Ä   8 

  J¸ A»SUPõÚ ÷|μi öuõÈ»õÍº ö\»Ä   5 

  {ø»¯õÚ ÷©Øö\»ÄPÒ                               24,000 

  ÷|μi¯õP EøÇ¨¦ «x ©õÖ£k® ÷©Øö\»ÄPÒ  60% 

  ÁºzuP uÒÐ£i    4% 

  \›\© AÍøÁ Âh ÂØ£øÚ¯õÚx 15% ©ØÖ® 20% 
CøhöÁÎUS ÷©À C¸¢uõÀ, {Pμ C»õ£zøu 
wº©õÛUPÄ®. 

Or 



F–0986 

  

  7

 (b) From the following details find out : 

  (i) Profit Volume Ratio  

  (ii)  Break Even Point  

  (iii)  Margin of Safety  

                Rs. 

   Sales   1,00,000 

   Total costs  80,000 

   Fixed costs  20,000 

   Net Profit  20,000 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x Psk¤iUPÄ® : 

  (i) »õ£® AÍÄ ÂQu® 

  (ii)  \›\© ¦ÒÎ 

  (iii)  £õxPõ¨¦ ÂÎ®¦  

                   ¹. 

   ÂØ£øÚ  1,00,000 

   ö©õzu ö\»Ä 80,000 

   {ø»¯õÚ ö\»Ä 20,000 

   {Pμ »õ£®  20,000 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the functions of Management Accounting. 

 ÷©»õsø© PnUQ¯¼ß £oPøÍ ÂÁ›. 

17. Prepare the balance sheet from the following ratios : 

  Current ratio – 2.5 

  Total assets / Net worth – 3.5 

  Sales / Fixed assets – 6 
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  Sales / Current assets – 8 

  Sales / Inventory – 15 

  Sales / Debtors – 18 

  Annual sales – Rs.25,00,000 

 ¤ßÁ¸® ÂQu[PÎÀ C¸¢x C¸¨¦{ø» ÂÁμ[PøÍ 
u¯õº ö\´¯Ä®. 

  uØ÷£õøu¯ ÂQu® – 2.5 

  ö©õzu ö\õzxUPÒ / {Pμ ©v¨¦ – 3.5 

  ÂØ£øÚ / {ø»¯õÚ ö\õzxUPÒ – 6 

  ÂØ£øÚ / uØ÷£õøu¯ ö\õzxUPÒ – 8 

  ÂØ£øÚ / \μUS – 15 

  ÂØ£øÚ / Phß – 18 

  Á¸hõ¢uμ ÂØ£øÚ – ¹. 25,00,000 

18. Prepare Cash Flow Statement from the following balance 
sheet. 

Liabilities 2017 
Rs. 

2018 
Rs. 

Assets 2017 
Rs. 

2018 
Rs. 

Eq.share capital 20,000 20,000 Goodwill 2,400 2,400

General reserve 2,800 3,600 Land 8,000 7,200

Profit & Loss A/c 3,200 2,600 Building 7,400 7,200

Sundry Creditors 1,600 1,080 Investments 2,000 2,200

Outstanding    Inventories 6,000 4680

expenses 240 160 A/Cs 

Provision for tax 3,200 3,600 receivable 4,000 4,440

Provision for   Bank balance 1,320 3,040

bad debts 80 120  

 31,120 31,160  31,120 31,160
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 Additional Information : 

 (a) A piece of land has also been sold for Rs.800. 

 (b) Depreciation amounting to Rs.1,400 has been 
charged on building. 

 (c)  Provision for taxation has been made for Rs.3,800 
during the year.  

 RÌUPsh C¸¨¦{ø»U SÔ¨¦PÎ¼¸¢x £n¨¦ÇUP 
AÔUøPø¯z u¯õº ö\´P. 

ö£õÖ¨¦PÒ 2017 
¹. 

2018 
¹. 

ö\õzxUPÒ 2017 
¹. 

2018 
¹. 

÷|ºø© £[S •uÀ 20,000 20,000 |Øö£¯º 2,400 2,400

ö£õx C¸¨¦ 2,800 3,600 {»® 8,000 7,200

»õ£® ©ØÖ®    Pmih® 7,400 7,200

CÇ¨¦ P/S 3,200 2,600 •u½kPÒ 2,000 2,200

£Ø£» ö\»ÄPÒ 1,600 1,080 \μUQ¸¨¦PÒ 6,000 4680

{¾øÁ ö\»ÄPÒ 240 160 P/S 

Á›UPõÚ JxUQk 3,200 3,600 ö£Ó¨£mhøÁ 4,000 4,440

ÁμõUPhßPÐUPõÚ    Á[Q C¸¨¦ 1,320 3,040

JxURk 80 120  

 31,120 31,160  31,120 31,160

 TkuÀ uPÁÀ : 

 (A) J¸ xsk {»® ¹.800 US ÂØP¨£mkÒÍx 

 (B) Pmi® «uõÚ ÷u´©õÚ® ¹.1,400 ÂvUP¨£mhx 

 (C) BsiÀ JxUQ¯ Á›UPõÚ Põ¨¦ ¹.3,800 BS®. 
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19. From the following data forecast the cash position at the 
end of April, May and June 2019.  

Months 
2019 

Sales 
Rs. 

Purchases 
Rs. 

Wages
Rs. 

Sundry expenses 
Rs. 

  February 1,20,000 80,000 10,000  7,000 

  March 1,30,000 98,000 12,000  9,000 

  April 70,000 1,00,000 8,000  5,000 

  May 1,16,000 1,03,000 10,000  10,000 

  June 85,000 80,000 8,000  6,000 

 Additional Information : 

 (a) Sales at 10% realised in the month of sales. Balance 
equally realized in two subsequent months. 

 (b) Purchases : Creditors are paid in the month 
following the month of supply. 

 (c) Wages : 20% paid in arrears in the following 
month. 

 (d) Sundry expenses paid in the month itself. 

 (e) Income tax Rs.20,000 payable in June. 

 (f) Dividend Rs.12,000 payable in June. 

 (g) Income from investments Rs.2,000 received half-
yearly in March and September. 

 (h) Cash balance on hand as on 1.4.2019 Rs.40, 000. 
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 ¤ßÁ¸® uμÄPÎ¼¸¢x H¨μÀ, ÷© ©ØÖ® áüß 2019 ® 
Bsk ©õuzvß CÖv°À £n¨ ¦ÒÎ ÂÁμ[PÒ 
GÆÁõÖ PoUP¨£kQßÓÚ? 

©õu[PÒ 
2019 

ÂØ£øÚ 
¹. 

öPõÒ•uÀ 
¹. 

Fv¯[PÒ
¹. 

£Ø£» ö\»ÄPÒ 
¹. 

¤¨μÁ› 1,20,000 80,000 10,000  7,000 

©õºa 1,30,000 98,000 12,000  9,000 

H¨μÀ 70,000 1,00,000 8,000  5,000 

÷© 1,16,000 1,03,000 10,000  10,000 

áüß 85,000 80,000 8,000  6,000 

 TkuÀ uPÁÀPÒ : 

 (A) ÂØ£øÚ BÚ ©õuzvÀ 10% ÂØ£øÚ 
ÂkÂUP¨£mhx. «v Cμsk Akzukzu 
©õu[PÎÀ \©©õP ÂkÂUP¨£mhx. 

 (B) öPõÒ•uÀ : ÁÇ[P¨£mh ©õuzvß Akzx EÒÍ 
©õuzvÀ PhÜ¢÷uõºUS ö\¾zu¨£k®. 

 (C) Fv¯[PÒ : CÊøÁ \®£ÍzvÀ 20% Akzx 
©õuzvÀ ÁÇ[P¨£k®  

 (D) £Ø£» ö\»ÄPÒ A¢u ©õu÷© ö\¾zu¨£mhx. 

 (E) áüß ©õuzvÀ Á¸©õÚ Á› ¹.20,000 ö\¾zu¨£mhx. 

 (F) áüß ©õu® £[Põuõ¯® ¹.12,000 ö\¾zu ÷Ásk®. 

 (G) AøÓ¯õsk ©õºa ©ØÖ® ö\¨h®£º ©õu[PÎÀ 
¹.2,000 •u½mi¼¸¢x Á¸Áõ´ Qøhzux. 

 (H) 1.4.2019&À øP°À EÒÍ öμõUP® ¹.40,000. 

20. The following are obtained from the records of a factory : 

 Sales (4,000 units @ Rs. 25 each)  Rs.1,00,000 

 Variable cost  Rs, 72,000 

 Fixed cost   Rs. 16,800 
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 Calculate :  

 (a)  PN Ratio 

 (b) Break – even sales 

 (c) Margin of Safety 

 (d) What additional units should be sold to obtain the 
same amount of profit if the selling price is reduced 
to Rs.20. 

 J¸ öuõÈØ\õø» £vÂ¼¸¢x ¤ßÁ¸ÁÚ ö£Ó¨£kQÓx: 

 ÂØ£øÚ (4,000 A»SPÒ @ ¹. 25 Ãu®)  ¹. 1,00,000 

 ©õÖ£k® ö\»Ä   ¹. 72,000 

 {ø»¯õÚ ö\»Ä   ¹. 16,800 

 PnUQhÄ® : 

 (A) »õ£ AÍÄ ÂQu® 

 (B) \›\© ÂØ£øÚ 

 (C) £õxPõ¨¦ ÂÎ®¦ 

 (D) ÂØ£øÚ Âø» ¹.20 SøÓUS® £m\zvÀ, A÷u 
AÍÄ »õ£® ö£Ó Tku»õP GÆÁÍÄ A»SPÒ 
ÂØP¨£h ÷Ásk®. 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Common Language Routine. 

 ö£õx ö©õÈ ÁÇUPzøu Áøμ¯ÖUPÄ®. 

2. List down the disadvantages of JIT compiler? 

 JIT P®ø£»›ß wø©PøÍ £mi¯¼hÄ®? 

3. What are variables? 

 ©õÔPÒ GßÓõÀ GßÚ? 

4. Define function. 

 ö\¯À£õmøh Áøμ¯ÖUPÄ®. 

5. What is a scroll bar control? 

 E¸Ò £møh Pmk¨£õk GßÓõÀ GßÚ? 

6. Define Splitters. 

 ¤›¨£õßPøÍ Áøμ¯ÖUPÄ®. 
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7. What do you mean by Validation controls? Give example. 

 \›£õº¨¦U Pmk¨£õkPÒ GßÓõÀ GßÚ? Euõμn® öPõk. 

8. Define state management. 

 {ø» ÷©»õsø© Áøμ¯ÖUPÄ®. 

9. Write down the constructors of Data Table. 

 uμÄ AmhÁøn°ß Pmhø©¨ø£ GÊuÄ®. 

10. List down the properties of dataset in ADO.net? 

 ADO.net CÀ uμÄzöuõS¨¤ß £s¦PøÍ £mi¯¼k? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write short notes on assemblies.  

  ö£õÔPøÍ £ØÔ ]Ö SÔ¨¦PøÍ GÊx. 

Or 

 (b) List down the advantages of dot net technologies. 

  hõm ö|m öuõÈÀ~m£[PÎß |ßø©PøÍ 
£mi¯¼k. 

12. (a) Discuss the types of loops in VB.net with suitable 
examples. 

  ö£õ¸zu©õÚ GkzxUPõmkPÐhß VB.net CÀ 
¿¨PÎß ÁøPPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) How will you create an MDI application? Explain. 

  MDI £¯ß£õmøh GÆÁõÖ E¸ÁõUSÃºPÒ? 
ÂÍUPÄ®. 
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13. (a) Explain the combo box and list box used in VB.net. 

  VB.net CÀ £¯ß£kzu¨£k® ÷\ºUøP ö£mi ©ØÖ® 
£mi¯À ö£miø¯ ÂÍUPÄ®. 

Or 

 (b) Write short notes on progress bars. 

  •ß÷ÚØÓ¨ £miPÎß ]Ö SÔ¨¦PøÍ GÊuÄ®. 

14. (a) Outline the characteristics of ASP.net. 

  ASP.net Cß £s¦PøÍ ÷PõimkU Põmk. 

Or 

 (b) State the use of HTML text area, HTML anchor and 
HTML image controls. 

  HTML  Eøμ¨£Sv, HTML B[Pº ©ØÖ® HTML 
£hU Pmk¨£õkPÎß £¯ß£õmøhU SÔ¨¤hÄ®. 

15.  (a) Write short notes on data binding in windows 
forms. 

  Âs÷hõì £iÁ[PÎÀ uμÄ ¤øn¨¦ £ØÔ¯ ]Ö 
SÔ¨¦PøÍ GÊxÄ®. 

Or 

 (b) Discuss in brief about the basic objects of ADO.net 
used to access the database. 

  uμÄzuÍzøu AqSÁuØS¨ £¯ß£kzu¨£k® 
ADO.net Cß Ai¨£øh ö£õ¸mPøÍ¨ £ØÔ 
_¸UP©õP ÂÁõvUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Illustrate the architecture of .net framework in detail. 

 .net Pmhø©¨¤ß Pmhø©¨ø£ Â›ÁõP ÂÍUPÄ®. 
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17. What are conditional statements? Write a visual basic.net 
program that illustrates the conditional statement. 

 {£¢uøÚ AÔUøPPÒ GßÓõÀ GßÚ? {£¢uøÚ 
AÔUøPø¯ ÂÍUS® visual basic.net {μø» GÊuÄ®. 

18. Discuss in detail about creation of menus with suitable 
examples. 

 ö£õ¸zu©õÚ GkzxUPõmkPÐhß ö©ÝUPøÍ 
E¸ÁõUSÁx £ØÔ Â›ÁõP ÂÁõvUPÄ®. 

19. Specify the steps involved in inserting ASP.net code into 
web pages. Write a code to create a bio data form using 
HTML. 

 Áø»¨£UP[PÎÀ ASP.net SÔ±møha ö\¸SÁvÀ EÒÍ 
£iPøÍU SÔ¨¤hÄ®. HTMLI¨ £¯ß£kzv £÷¯õ 
÷hmhõ £iÁzøu E¸ÁõUP SÔ±møh GÊuÄ®. 

20. How will you create a database application using 
ADO.net? Explain. 

 ADO.net I¨ £¯ß£kzv uμÄzuÍ £¯ß£õmøh GÆÁõÖ 
E¸ÁõUSÃºPÒ? ÂÍUPÄ®. 

  
 
 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is working hours of adults? 

 ö£›¯ÁºPÎß ÷Áø» ÷|μ® GßÚ? 

2. Define inspection staff. 

 B´Ä £o¯õÍºPøÍ Áøμ¯ÖUPÄ® 

3. What is book and returns? 

 ¦zuP® ©ØÖ® Á¸©õÚ® GßÓõÀ GßÚ? 

4. What are the different approaches to interpretation? 

 ÂÍUPzvØPõÚ öÁÆ÷ÁÖ AqS•øÓPÒ ¯õøÁ? 

5. What is an industrial dispute? 

 öuõÈÀ uPμõÖ GßÓõÀ GßÚ? 

6. Define authorities. 

 AvPõ›PøÍ Áøμ¯ÖUPÄ®. 
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7. What is meant by compensation? 

 CÇ¨¥k GßÓõÀ GßÚ? 

8. What is temporary disablement? 

 uØPõ¼P FÚ® GßÓõÀ GßÚ? 

9. Write a short note on employee’s provident fund scheme. 

 £o¯õÍ›ß Á¸[Põ» øÁ¨¦ {v vmh® £ØÔ J¸ ]Ö 
SÔ¨ø£ GÊuÄ® 

10. What is ESI? 

 ESI GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, Choosing either (a) or (b). 

11. (a) Describe the rules regarding annual leave with 
wages. 

  Fv¯zxhß Ti¯ Á¸hõ¢vμ Âk¨¦ öuõhº£õÚ 
ÂvPøÍ ÂÁ›UPÄ® 

Or 

 (b) Discuss the provisions of the factories act 1948, 
relating to welfare. 

  |»ß öuõhº£õÚ öuõÈØ\õø»PÒ \mh® 1948 Cß 
ÂvPøÍU £ØÔ ÂÁõvUPÄ®  

12. (a) What are the types of trade union funds? 

  öuõÈØ\[P {vPÎß ÁøPPÒ ¯õøÁ? 

Or 

 (b) Briefly explain about the amalgamation of trade 
union 

  öuõÈØ\[P[PÎß J¸[Qøn¨¦ £ØÔ _¸UP©õP 
ÂÍUPÄ® 
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13. (a) Distinguish between strike and lockout. 

  ÷Áø»{Özu® ©ØÖ® PuÁøh¨¦ BQ¯ÁØøÓ 
÷ÁÖ£kzxP 

Or 

 (b) Discuss in brief the provision relating to illegal 
strikes and lockouts. 

  \mhÂ÷μõu ÷Áø»{Özu[PÒ ©ØÖ® PuÁøh¨¦ 
öuõhº£õÚ Âvø¯ _¸UP©õP ÂÁõvUPÄ® 

14. (a) Give an explanation about partial and temporary 
disablement. 

  £Sv ©ØÖ® u¢Põ¼P FÚ® £ØÔ ÂÍUP® 
AÎUPÄ® 

Or 

 (b) What are the provisions related to the  
‘Half–monthly Payments’? 

  'Aøμ©õu öPõk¨£ÚÄPÒ' öuõhº£õÚ ÂvPÒ 
GßÚ? 

15.  (a) Discuss the provision regarding contribution to the 
fund. 

  {vUPõÚ £[PÎ¨¦ öuõhº£õÚ Âv•øÓPøÍ¨ 
£ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Explain disputes and claims under the employee’s 
provident fund act, 1952. 

  FÈ¯º Á¸[Põ» øÁ¨¦ {va \mh®, 1952 Cß RÌ 
\ºaø\PÒ ©ØÖ® E›ø©÷PõμÀPøÍ ÂÍUPÄ®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the provisions relating to health, safety and 
welfare of workers under Factories Act. 

 öuõÈØ\õø»PÒ \mhzvß RÌ öuõÈ»õÍºPÎß EhÀ|»®, 
£õxPõ¨¦ ©ØÖ® |»ß öuõhº£õÚ HØ£õkPøÍ 
ÂÍUPÄ®. 

17. Briefly explain the rights and privileges of a registered 
trade union under the trade union Act 1926. 

 öuõÈØ\[Pa \mh® 1926ß RÌ £vÄ ö\´¯¨£mh 
öuõÈØ\[Pzvß E›ø©PÒ ©ØÖ® \¾øPPøÍ _¸UP©õP 
ÂÍUSP. 

18. What authorities have been set under the industrial 
disputes act 1947 for the settlement of industrial 
disputes? Write any two adjudication machineries. 

 öuõÈÀ uPμõÖPÒ \mh® 1947ß RÌ öuõÈÀ uPμõÖPøÍz 
wº¨£uØS GßÚ AvPõμ[PÒ Aø©UP¨£mkÒÍÚ? 
H÷uÝ® Cμsk wº¨¦ C¯¢vμ[PøÍ GÊuÄ® 

19. State the rules as to the distribution of compensation 
under the workmen’s compensation Act 1923. 

 öuõÈ»õÍº CÇ¨¥mka \mh® 1923ß RÌ CÇ¨¥k 
Â{÷¯õP® ö\´ÁuØPõÍ ÂvPøÍU SÔ¨¤hÄ®. 

20. What is contribution and briefly explain the benefits and 
elaborate its types? 

 £[PÎ¨¦ GßÓõÀ GßÚ ©ØÖ® Auß £»ßPøÍ 
_¸UP©õP ÂÍUQ Auß ÁøPPøÍ ÂÁ›UPÄ®. 

 
———————— 


